GOVERNMENT OF WEST BENGAL, OFFICE OF THE EXECUTIVE ENGINEER, EAST MIDNAPORE DIVISION, (I & W. DTE.) RATNALI, TAMLUK, PURBA-MEDINIPUR

Notice Inviting Tender No- 13/EMD OF 2017-18

- Sealed and Separate tenders in specified tender forms are invited by the Executive Engineer, East Midnapore Division, I & W .Dte., Tamluk Purba Medinipur for the works mentioned in the annexed list, from the eligible Contractors of as mentioned in the said Annexure. The Contract Documents can be seen /collected at the office of the Executive Engineer, East Midnapore Division, I & W Dte Tamluk, purba Medinipur between the office hours on all working days as well as can be downloaded from http://wbiwd.gov.in/tender_notice.php.
- 2) (A) Each applicant for tender form is to be accompanied by attested copies of the following:
 - i) Pan Card, Proof of deposition of Professional tax, Income Tax Return from appropriate authority valid beyond the scheduled date of opening of tender.
 - ii) Credentials (Xerox duly attested)
 - iii) No objection certificate from A.R.C.S., in case of Engineers Co-operative societies.
 - iv) Trade licence.
 - v) Certificate of registration (in the case of firms and Registered co-operative societies)
 - vi) Partnership Deed (in the case of partnership firm).
 - vii) Statement showing present works in hand.

viii) Valid15-digit Goods and Services Taxpayer identification Number (GSTIN) under GSTAct,2017

- ix) Originals of all the above documents together with Bye-laws & Eligibility Certificate are to be produced at the time of interview, if any.
- The "Additional Perfrmance Security shall be obtained from the successful L1 bider if the accepted bid value is below 20% of the estimated amount put to tender. This Additional Performance Security shall be equal to 10% of the tender amount i.e the L1 bid price.
- 4 Failure to attend the interview, if any, either in person or through a duly authorized person will debar the applicant from accepting the tender form.
- 5 Each tenderer will have to deposit an earnest money of the amount specified against each work in any of the following forms.
- 6 (A) Mode of Payment :- Cost towards Earnest Money Deposit (EMD) must be submitted in the form of Bank Draft (BD) / Bankers Cheque (BC) / Deposit Call Receipt (DCR) of any scheduled Commercial Bank in India approved by RBI & having a branch in West Bengal which is to be drawn in favour of the Executive Engineer, I & W Dte., East Midnapore Division, payable at Tamluk.
 - (B) Payment in any other forms viz. NSC,KVP etc. will not be accepted.
 - 1 Dropping of Tenders:

Tenders in sealed covers as mentioned here in below are to be dropped in the office of the ExecutiveEngineer, I & W Dte., East Midnapore Division , Tamluk.

The documents for each work will be prepared in two sealed covers. In one cover there will be documents as mentioned earlier and earnest money draft. This first sealed cover should be lebelled as "Aplication for SI No----- of NIT No-----". The second cover should contain NIT documents, 2911 (ii and the schedule of work containing signature of applicant in each page as a token of acceptance alongwith quoted rate at specified place and leveled as Tender documents of SI No----of of NIT No-----. Both the cover should be sealed in a big cover and leveled distinctly & correctly

C) Opening of Tenders:-

Tender will be opened as the manner stated herein below at the scheduled time as mentioned in annexure, by the Executive Engineer, I & W Dte., East Midnapore Division, Tamluk in his office, in the presence of tenderers or their duly authuorised representatives. No Subsequent objections whatsoever, raised by any participant, not present during the opening of tenders will be entertained.

Big outer sealed cover will be opened and cover leveled "Application for SL NO----of NIT NO----" will be opened first for evaluation otherwise it will not be opened "Tender Documents of SI No-----of NIT No- will be opened and evaluated otherwise it will not be opened at all and EMD will be released.

- (D) i) Contravention to any of the provisions regarding submsission of EM shall render the tender informal.
 - ii) No cash money will be accepted as Earnest Money.
 - iii) Adjustment of E.M. with previous deposit, if any, cannot be entertained and admissible in any case, if such case arises the "Tender' will be declared informal.
 - iv) Enlisted contractors of I & W, Dte. who hold the fixed security for respective class is exempted from payment of E.M. in case of group tender only. In such cases he will have to submit the attested copies of the documents with the tender.
 - v) In respect of successful tenderer an additional amount of Earnest Money, in addition to that deposited earlier, will have to be deposited before executing agreement so as to make 5% of the tendered amount of the work. Entire Earnest Money so deposited will become part of security Deposit. Additional amount will be deducted from the progressive bills so as to make 10% of the bill value as Security Deposit. In respect of tenderer who holds fixed Security Deposit and who are exempted from depositing E.M., deduction @ 10 % from the progressive bills will be made towards Security Deposit.
- 7 i) Date of submission (dropping) of tender:...........16/10/2017......(Upto 14.00 hrs.)
 - ii) Date of opening of tender......16/10/2017.....(After 14.15 hrs.)

A) Office of the Superintending Engineer, Western

B) Office of the Executive Engineer, East Midnapore Division,

(I & W. Dte.) Tamluk

ii) Place from where tender forms are to be obtained :-

Office of the Executive Engineer,
East Midnapore Division, (I & W. Dte.)
Tamluk also may be downloaded from
the website –www.wbiwd.gov.in
portal of Irrigation & Waterways Department.)

- iii) Place where tender forms are to be submitted and opened :- Office of the Executive Engineer, East Midnapore Division, (I & W. Dte.) Tamluk
- The tenderer should sign in each page of the tender documents and should write his name and full address in the blank space of last page of the tender forms, mentioning class (Enlisted group) of contractor therein.
- All the working tools and plants are to be arranged and supplied by the contractor entrusted with the work.
- The tenderer should quote his rates both in figures as well as in words in terms of overall percentage

 ABOVE / BELOW / AT PAR the Schedule of Rates shown in the schedule of items of works.
- Tenders will always be placed in SEALED COVER and the name of contractor / Agency, Sl. No. of work with N.I.T. No. must be written on the sealed cover.
- 13 Consumption of material will be calculated on the basis of schedule of rate of Western Circle (II), I & W. Dte. This notice, additional terms and conditions and general specification of works with mode of measurement as per printed schedule of rate of Western Circle, II, I & W. Dte., now in force will part of the contract.
- No claim will be entertained for any increase in railway freight cost of P.O.L and market price of the materials and labour rates.
- In the event of (I) tender paper issued but not purchased or (II) tender paper purchased but not dropped i.e. not participated, will be taken into account seriously in issuing tender forms in future
- 16 Tenders with over writing or illegible writing are liable to rejection. Any correction should invariably be signed by the tenderer.
- When tenderer signs his tender in any Indian Language the total amount tendered for should also be written in the same language. In case of illiterate tendered the rates of tenderers are to be attested by a witness. In the event of a tender submitted by a partnership firm, it must be signed by each of the partner of the firm or a person holding power of attorney as stipulated in the Indian Partnership Act.
- Tender will be opened at the above scheduled place and time in presence of such of the tenders of their duly authorized agents who may be present at the time of opening of the tenders.
- Acceptance of any tender will rest with the Executive Engineer, East Midnapore Division who does not bind himself of accepting the lowest tender and reserves the right to reject any or all of the tenders received, without assigning any reason thereof.
- 20 All tenders, in which any of the prescribed conditions is not fulfilled ,will be rejected.
- Authority to issue tender forms for works other than once applied for is reserved by the Executive Engineer, East Midnapore Division.
- Payment will be made as per availability of fund in supersession to CI-7, CI-8, CI-9 & CI-9(a) of WBF 29II / 29II (i) / 29II (ii), 2908 since letter of credit system has been introduced by Government.
- Necessary deductions will be made from the bills as per Government rules inforce.
- 24 The tenderer should have own modes of communication.

Burren

Executive Engineer,

East Midnapore Division,

Irrigation & Waterways Directorate,

Tamluk, Purba-Medinipur

Memo No.1778 (9) Date 22.09.2017

Copy for information and necessary action to:

- 1 Chief Engineer(South West), (I&W.D), Government of West Bengal, Khas Jungle, Abas Bari, Midnapore, Pachim Medinipur.
- 2 Superintending Engineer, Western Circle-II, I & W.Dte. Midnapore.
- 3 Sabhadhipati, Purba Medinipur Zilla Parishad.
- 4 District Magistrate, Purba Medinipur, Tamluk,
- ${f 5}$ Executive Engineer, Contai Irrigation Division, Contai, Purba Medinipur.
- $_{\mathbf{6}}$ Executive Engineer,West Midnapore Division, I & W. Dte. Paschim Medinipur.
- 7 Kaliaghai-Kapaleswari-Baghai Project Division , I & W. Dte. Temathani (Sabong) Paschim Medinipur.
- 8 Investigation Sub Division no.-I/Panskura Irrigation Sub Division no.-I /II, /Tamluk Irrigation Sub Division /Notice Board/Estimating Branch/Accounts Branch/Head Clerk.
- 9 Sr Divisional Accountant Officer, East Midnapore Division, I& WDte, Tamluk

Executive Engineer,
East Midnapore Division,
Irrigation & Waterways Directorate,
Tamluk, Purba-Medinipur

Government of West Bengal, Office of the Executive Engineer, East Midnapore Division, (I & W. Dte.) Ratnali, Tamluk, Purba-medinipur

22.09.2017

Memo No. 1778(9) Date

Notice Inviting Tender No.13/EMD/2017-18

i) Date of dropping of tenders:ii) Date of opening of tenders:16.10.2017 upto 14.00 hrs
16.10.2017 after 14.15 hrs

Additional terms and conditions are as follows:- LIST OF WORKS

NAME OF WORK

	Additional terms and conditions are as follows :-		LIST OF WC	KNS			<u> </u>	-
SL NO	NAME OF WORK	AMOUNT PUT TO TENDER (RS)	EARNEST MONEY (RS)	TIME ALLOWED FOR COMPLETI ON	ELIGIBLE CONTRACT ORS FOR PARTICIPAT ION IN TENDER	COST OF TENDER FORMS AND SCHEDULES (RS)	MODE OF RATE QUOTES	TENDER FORM
1	2	3	4	5	6	7	8	9
1	Urgent repair of Pipe structure of Nunan near house of Sk.Habib G.PKakarda,Block-Sahid Matangini,under Tamluk (I) Sub-Division of East Midnapur Division		1179.00	30 days	Bona fide contractors having credential of execution of any type of Civil work preferbly similar nature of work of value30% of the amount put to tender within the last 5 years	Nil	Rate to be quoted AT PAR/ABOVE/BELOW than the schedule of rates of S.E./ W.C-II,	2911(ii)
2	Urgent repairs to the Denan Banglow RoomNo-III and attached Bath Room and Toilet in Denan (I) section under Panskura (I) Sub Division noI of East Midnapore Division.		7116.00	45 days	DO	DO	DO	DO
3	Emergent repairs of Wooden Pile Bridge over Bojberia Khal near house of Madan Maity, G.P- 3 no Dakshin Narikeldah Block - Nandakumar under Tamluk (I) Sub-Division of East Midnapur Division	213472.00	4269.00	30 days	DO	DO	DO	DO
4	Emergent protection work slip of Bansda RCC Bridge and Banpur Prymary School over Banpur Mechada Khal (left embankment) damaged due to successive heavy rainfall in last two Month under Sahid Matangini Block in Denan Section under Panskura (I) Sub-division I of East Midnapur Division	215903.00	4318.00	30 days	DO	DO	DO	DO
5	Emergent clearence of water hyacinth due to successive heavy rainfall in last two Month at Salkia dhanichak of upper Dewankhali khal under Dobandy Section of Panskura(I) Subdivision NoII of East Midnapore Division.	191920 00	3637.00	15 Days	DO	DO	DO	DO
6	Emergent restoration of slip due to succesive heavy rainfall in last two Month at Mauza - Naskardighi near Gopal manna shop on Cossye Left Embankment under Cossye (I) section under Panskura(I) Sub-division NoII of East Midnapore Division, Tamluk.	87339.00	1747.00	15 Days	DO	DO	DO	DO
7	Emergent restoration of slips due to succesive heavy rainfall in last two Month at Mauza - Harirampur near Arabinda Pattanayak House on Kherai New Left Embankment under Cossye (I) section under Panskura(I) Subdivision NoII of East Midnapore Division, Tamluk.	252835.00	5057.00	21 Days	DO	DO	DO	DO
8	Emergent repair of Slip of Ex-Zamindary Bundh of Hoogly river near land of Nivhas Das, Sailen Halder, Satyen Roy at mouza-Aerakhali,Block-Sutahata,G.PKukrahati, due to heavy rainfall in last two Month under Geonkhali (I) Section under Tamluk (I) Sub-Division of East Midnapur Division	325802.00	6516.00	30 Days	DO	DO	DO	DO
9	Emergent protection of severe vertical slip at right bank of Pratapkhali khal near house of Gour Adak at G.PDakhin narikelda,Block-Nandakumar, under Sitalpur(I) section under Tamluk (I) Sub-Division of East Midnapur Division	95276.00	1906.00	21 Days	DO	DO	DO	DO

10	Emergent repairs to severely damaged left bank of Gopalpur Khal including repairing of Ghoges near Madrasha G.PAmritberia ,Block-Mahisadal under Tamluk (I) Sub-Division of East Midnapur Division	125466.00	2509.00	21 Days	DO	DO	DO	DO
11	Urgent repair of Wooden pile bridge due to Succesive heavy rainfall in last two Month over Topa Khal near Hatisal School at Mouza Hatisal in P.S- Panskura under Khaniady (I) Section of Panskura (I) Sub-Division no -II of East Midnapur Division	280983.00	5620.00	21 Days	DO	DO	DO	DO
12	Jungle clerence inside of Pankura (I) Section office compound ,Revenue office compound ,Panskura Sub Division Office Compound of Panskura (I) Section under Panskura (I) Sub-Division no - I under East Midnapore Division	139852.00	2797.00	21 Days	DO	DO	DO	DO
13	Emergent Repair of wooden bridge over Kharichak Khal at Arror Handa Para under Jassar(I) Section of Panskura (I) Sub-Division no - I under East Midnapore Division "	203248.00	4065.00	30 Days	DO	DO	DO	DO
14	Emergent Repair of wooden bridge over Kharichak Khal at Manua Mondal para under Jassar(I) Section of Panskura (I) Sub-Division no - I under East Midnapore Division "	168332.00	3367.00	30 Days	DO	DO	DO	DO
15	Emergent Repair of wooden bridge over Kharichak Khal at Kurkalas Jelepara under Jassar(I) Section of Panskura (I) Sub-Division no - I under East Midnapore Division	182302.00	3646.00	30 Days	DO	DO	DO	DO
16	Emergent Repair of slip ,ghogs, spot holes and raincut at Maraberia Bathanberia,Rain etcunder Jassar(I) Section of Panskura (I) Sub-Division no - I under East Midnapore Division "	295422.00	5908.00	30 Days	DO	DO	DO	DO
17	Emergent restoration to Damaged slip of Right Embankment of Durbachatti River near Brindabanchak Exjamindari Bandh (Das Para) Caused due to succesive heavy rainfall in last two Month at Block- Kolaghat under Khaniady (I) section under Panskura(I) Sub-division NoII of East Midnapore Division.		9279.00	30 Days	DO	DO	DO	DO
18	Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on Right bank of Topa Khal from Keshapat Pirtala to Markandapur in G.P- Brindabanchak in P.S-Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.	405943.00	8119.00	30 Days	DO	DO	DO	DO
19	Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on left bank of Topa Drainage Cut from Bardabar to Pulsita in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.	461339.00	9227.00	30 Days	DO	DO	DO	DO
20	Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on left bank of Topa Drainage Cut from Jugidaha to Paramanandapur in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.	434129.00	8683.00	30 Days	DO	DO	DO	DO
21	Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on left bank of Topa Drainage Cut from Pulsita to Paramanandapur in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.	465712.00	9314.00	30 Days	DO	DO	DO	DO
22	Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on Right bank of Topa Khal from Markandapur to Jodupur R.C.C. Bridge in G.P- Brindabanchak in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.	433284.00	8666.00	30 days	DO	DO	DO	DO

23	Emergent restoration of slips on r/s and c/s damaged due to succesive heavy rainfall in last two Month Mauza - srikantha of left embankment of New cosyee near ex zamindary bundh(BHOUMIK PARA) ,Block and p.sMoyna under Dobandy (I) section under Panskura(I) Sub-division NoII of East Midnapore Division,Tamluk.	92639.00	1853.00	15 days	DO	DO	DO	DO
24	Emergent repair of Inspection Path from ch 12.50 KM (near battala) to ch 13.40 KM Left embankment of buxi khal Caused due to heavy rainfall in last two Month at mouza Murallchak for a length of 900 Mts in Block & PS Panskura ,District Purba Medinipur.under Dobandy (I) Section of Pasnskura irrigation sub division no II of East Midnapur Division .	246881.00	4938.00	30 days	DO	DO	DO	DO
25	Emergent repair of top of embankment on Left bank of cosyee in bewteen CH 25.70 Km to 27.20 Km succesive heavy rainfall in last two Month at mouza Srirampur I in Block & P.STamluk under DOBANDY (I) SECTION of Panskura Sub Division no - II of East Midnapur Division .	426766.00	8535.00	30 Days	DO	DO	DO	DO
26	Emergent repair of Inspection Path on Right bank of cosyee in bewteen CH 26.00 Km to 27.50 Km Caused due to heavy rainfall in last two Month at mouza PURBA DOBANDY in P.S Moyna under DOBANDY (I) SECTION of Panskura Sub Division no - II of East Midnapur Division.	444172.00	8883.00	30 Days	DO	DO	DO	DO
27	Emergent restoration of slips on r/s and c/s damaged due to succesive heavy rainfall in last two Month at Mauza - kaloi ,basantachak of Right embankment of Kheri Buxi,Block and p.sMoyna under Dobandy (I) section under Panskura(I) Sub-division NoII of East Midnapore Division.	93658.00	1873.00	15 Days	DO	DO	DO	DO
28	Emergent Repair of slip caused due to succesive heavy rain fall during last two months near Manojit Civil work shop Over left bank river chandia in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,	365447.00	7309.00	21 Days	DO	DO	DO	DO
29	Emergent protection of severe vertical slip at right bank of Pratapkhali khal near house of Manik Mondal at G.PDakhin narikelda,Block-Nandakumar, under Sitalpur(I) section under Tamluk (I) Sub-Division of East Midnapur Division	186676.00	3734.00	21 Days	DO	DO	DO	DO
30	Emergent repairs to severely damaged Wooden Pile Bridge over Pratapkhali Khal near house of Gouranga Charan in P.S. +BlockNandakumar ,Mouza-Thekuachak under Sitalpur (I) Sub-Section of East Midnapur Division	211882.00	4238.00	30days	DO	DO	DO	DO
	Emergent restoration of slips on r/s and c/s damaged due to succesive heavy rainfall in last two Month at Mauza - Purba chilka of Left embankment of new cosyee, Block and p.sPanskura under Dobandy (I) section under Panskura(I) Sub-division NoII of East Midnapore Division, Tamluk.	93948.00	1879.00	15 Days	DO	DO	DO	DO
32	Emergent Repair of slip caused due to succesive heavy rain fall at Kachi chak near Pankaj jana Cycle store over river chandia L/B at Paramanandapur G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,	261061.00	5221.00	21 Days	DO	DO	DO	DO

33	Emergent Repair of slip caused due to succesive heavy rain fall at Jigirchak near Sahadev gharai house over river chandia L/B at Paramanandapur G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division	369121.00	7382.00	30 Days	DO	DO	DO	DO
	Emergent Repair of slip caused due to succesive heavy rain fall at Chadebenia near Dukhoshyam Mondal house over river chandia L/B at Backcha G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division	134903.00	2698.00	21 Days	DO	DO	DO	DO
35	Urgent Re-Construction of wooden pile bridge over Moyna new cut channel at Kishore chak in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division	323054.00	6461.00	15 Days	DO	DO	DO	DO
36	Urgent Re-Construction of wooden pile bridge over Moyna new cut channel at Lalugeria in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division	322873.00	6457.00	15 Days	DO	DO	DO	DO
37	Urgent Re-Construction of wooden pile bridge over River chandia at Naratha in P.S. Pingla of Dist-Paschim Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division	468239.00	9365.00	21 Days	DO	DO	DO	DO
38	Emergent repair of slip caused due to succesive heavy rain fall at Sudampur over river chandia L/B at Ramchak G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division	172173.00	3443.00	21 Days	DO	DO	DO	DO
39	Emergent repair of slip caused due to succesive heavy rain fall at Arongkiarana Over river chandia R/B at Backcha G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,	276776.00	5536.00	30 Days	DO	DO	DO	DO
40	Emergent Repair of slip caused caused due to to succesive heavy rain fall at Naratha over river chandia R/B, C/S at Baghnabar G.P in P.S. Pingla of Dist-Paschim Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,		7710.00	30 Days	DO	DO	DO	DO
41	Emergent Repair of slip caused due to succesive heavy rain fall at Jigirchak near Tarapada Santra Over river chandia L/B at Gukulnagar G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,	426539.00	8531.00	40 Days	DO	DO	DO	DO
42	Emergent Repair of slip caused due to succesive heavy rain fall at Bhemuya near Mantu das house Over river chandia R/B, R/S at Bhemuya G.P in P.S. Sabang of Dist-Paschim Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East midnapur division,	440043.00	8801.00	40 Days	DO	DO	DO	DO
43	Emergent Restoration of top depression of Right embankment of Denan Khal damaged due to successive heavy rain fall in last two Month including repairs of Inspection Path from Denan to Mohisgote RCC bridge under Denan Section of Panskura (I) Sub-Division no - I of East Midnapore Division "	383305.00	7666.00	45 Days	DO	DO	DO	DO
44	Emergent Restoration of to depression of Left embankment of Denan khal damaged due to sussive heavy rain fall in last two Month including repair of Inspection path from Faridbahala to Bagur under Denan Section of Panskura (I) sub division no-1 of East Midnapur Division	260409.00	5208.00	30 days	DO	DO	DO	DO

45	Emergent Restoration of top depression of Left embankment Denan Khal damaged due to successive heavy rain fallin last two Month Including repairs of inspection path from Manthergachia Jalapara to Football ground in Denan Section of Panskura (I) Sub-Division no - I under East Midnapore Division "	307312.00	6146.00	30 days	DO	DO	DO	DO
46	Urgent Restoration to top depression with repairs of Inspection Path of Left embankment Denan Khal from Manthergachia RCC bridge to Football ground damaged due to successive heavy rain fall in last two Month in Denan Section of Panskura (I) Sub-Division no - I under East Midnapore Division "	310905.00	6218.00	30 days	DO	DO	DO	DO
47	Urgent renovation of Wooden Pile Bridge at Faridbahala ,Sagarbar G.P. over Denan Khal damaged due to successive heavy rainfall in last two Month in Denan Section under Panskura (I) Sub-division I of East Midnapur Divisionin	327970.00	6559.00	30 days	DO	DO	DO	DO
48	Urgent renovation of Wooden Pile Bridge at Rakshachak west Amalhanda- G.P. over Denan Khal damaged due to succeeive of heavy rain fall in last two Month in Denan Section under Panskura (I) Sub-Division No- I of East Midnapore Division".	364536.00	7291.00	30 days	DO	DO	DO	DO
49	Urgent renovation of Wooden Pile Bridge at Sagarbar Jala para ,Sagarbar G.P. over Denan Khal damaged due to successive heavy rainfall in last two Month in Denan Section under Panskura (I) Sub-division I of East Midnapur Division".	341261.00	6825.00	30 days	DO	DO	DO	DO
50	Urgent renovation of Wooden Pile Bridge at Uttar Sagarbar & Ghari para ,Sagarbar G.P. over Denan Khal damaged due to successive heavy rainfall in last two Month in Denan Section under Panskura (I) Sub-division I of East Midnapur Division".	367451.00	7349.00	30 days	DO	DO	DO	DO



Executive Engineer,
East Midnapore Division,
Tamluk Purba Medinipore.

Government of West Bengal Office of the Executive Engineer, East Midnapore Division,

Irrigation & Waterways Directorate,

<u>Tamluk :: Purba-Medinipur</u>

NIT - No. 13/EMD/2017-18
Schedule of items, quantities and rates for the work:-

Urgent repair of Pipe structure of Nunan near house of Sk.Habib G.P.-Kakarda,Block-Sahid Matangini,under Tamluk (I) Sub-Division of East Midnapur Division

1) Amount put to Tender:- Rs 58927.00
2) Earnest Money:- Rs 1179.00
3) Time allowed for completion: 30 days

<u> 3) Time</u>	allowed for completion:	30 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
	Cement concrete with or without reinforcement in foundation (below pavement level or designed bed level of canal) with 20 mm down well graded coarse aggregate including shuttering ,curing, supply and carriage of all materials to site.(excluding cost of reinrocement)					
	(i) Stone metal-Pakur/ Nalhati/ Pachami trap variety.					
	(a) Mix 1:2:4.	6.50	Cum	Cum	5909.10	38409.00
	Brick work in foundation masonary (below pavement level or designed bed level of canal) with 1st class bricks in cement mortar including scaffolding, racking out joints, dewatering, where necessary, curing, supply and carriage of all materials complete to site.					
	(b) Mortar Mix 1:4.	2.25	Cum	Cum	5927.90	13338.00
	19 mm thick cement and sand plastering including racking out joints and necessary scaffolding with supply and carriage of all materials to site and finishing surface including curing complete.					
	(b) Mix 1:4.					
		19.50	Sqm	Sqm	156.90	3060.00
	Neat cement finishing over cement plastered surface (thickness not less than 1.5 mm), including curing, scaffolding etc. complete.	19.50	Sqm	sqm	69.70	1359.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	36	Cum	Cum	76.70	2761.00
					TOTAL=	58927.0

RUPEES FIFTY EIGHT THOUSAND NINE HUNDRED TWENTY SEVEN ONLY

Executive Engineer

SL No.01

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Government of West Bengal Office of the Executive Engineer, East Midnapore Division,

Irrigation & Waterways Directorate,

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Urgent repairs to the Denan Banglow RoomNo-III and attached Bath Room and Toilet in Denan (I) section under Panskura (I) Sub Division no.-I of East Midnapore Division.

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs

355781.00 7116.00

3) Time allowed for completion: 45 days

3) 11me a	allowed for completion:	45 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
_	Dismantling R.C. floor, roof, beams etc. including cutting rods and removing rubbish as directed within a lead of 75 m. including stacking of steel bars.					
	(a) In ground floor including roof	4.559	Cum	Cum	1975.00	9004.00
_	Dismantling all types of masonry excepting cement concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m.					
	a) In ground floor including roof.	9.615	Cum	Cum	451.00	4336.00
_	Dismantling carefully terraced floor only (including floor finish if any) or lime terracing in ground floor roof and removing rubbish as directed within a lead of 75 m.					
	(a) In Ground Floor including roof.	2.542	Cum	Cum	747.00	1899.00
	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.		Sqm	Sqm	19.00	1638.00
	Removal of rubbish,earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of Engineer in charge	7.00	Cum	Cum	168.00	1210.00
	Labour for taking out door and window frame noluding shutter for repair or replacement of different parts of the frame & refixing the same including mending good all damaes complete. (Concrete and brick work for					
	mending damaged will be paid separatly as upto over 2.5 sqm	6.37	Sqm	Sqm	121.00	771.00
_	Brick work with 1st class bricks in cement mortar (1:4)					
	(b) In superstructure, ground floor	6.48	Cum	Cum	6136.00	39761.00
8	125 mm. thick brick work with 1st class bricks in cement mortar (1:4) in ground floor	28.93	Sqm	Sqm	765.00	22131.00
	Hire and labour charges for shuttering with centering and necessary staging upto 4 m using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams and columns, lintels curved or straight including fitting, fixing and striking out after completion of works (upto roof of ground floor)					
	(c) 25 to 30 mm thick wooden shuttering as per decision & direction of Engineer-In- Charge.	35.88	Sqm	Sqm	347.00	12450.00

SL No- 02

10	Reinforced cement concrete work 1: 1.5: 3 with 20 mm. down well graded stone chips (minimum ultimate crushing strength of 200 Kg./sq.cm. in 28 days) in superstructure including kerbs, decks, foot ways, arches, beams, aqueduct trough, friction blocks, rail posts etc. excluding staging, shuttering and reinforcement but including curing supply and carriage of all materials to site complete. (i) Stone metal-Pakur/ Nalhati/ Pachami trap variety.	7.203	Cum	Cum	6714.70	48366.00
11	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and direction. (a) For works in foundation, basement and upto					
	roof of ground floor/upto 4 m					
	i) Tor steel/Mild Steel/Othet than Sail/ TATA/RINL	0.565	MT	MT	62487.00	35305.00
12	40 mm thick damp proof course with cement concrete (1:1.5:3) (with graded stonechipes 20mm nominal size) with water proofing compund of approved brand @ 0.2% weight of cement including cost of materials over two coats of non toxic acrylic polymer modified ementitious water proofing slurry coat complite (cost of water proofing compund and non toxice paint to be paid seperately) for under ground water retainine structure (water proofing as per item no 60 and non toxice paint as per item no 59(b) of section "c")	35.88	Sqm	Sqm	317.00	11374.00

(a) 20 mm thick plaster (b) 20 mm thick plaster (c) (a) 20 mm thick plaster (d) 20 mm thick plaster (e) 20 mm thick plaster (e) 31 mm thick plaster (e) 41 Mode which in door and window frame fitted and fixed in position complete including a protective coal of painting at the contract surface of the frame excluding cost of concrete. Inon But Integer and MS distings, If the quantum would be concrete upto innerdecensis) (f) Sishu, Gamar, Champ, Badam, Bhola, Myogn, Intellal (g) Sishu, Gamar, Champ, Badam, Bhola, Myogn, Intellal (h) Sishu, Gamar, Gama	13	Plaster (to wall, floor, ceiling etc.) with sandand cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over concrete surface] (ii) With 1:4 cement mortar					
(a) 20 mm thick plaster 162.11 Sqm Sqm 195.00 3181.100 Wood work in door and window frame fitted and fixed in poston complete including a protective cost of painting at the contact surface of the contact		(C) 10 mm thick plaster	25.42	Cam	Cam	124.00	2406.00
Wood work in door and window fame fitted and food in position complete including a protective cost of patifing at the contact surface of the frame exhalling cost of concrete, iron Butl Hinges and M.S clamps. (The quantum should be corrected upbe threedecimals) (1) Sishu, Gamar, Champ, Badam, Bhda, Mogra, Hallak (3) Supplying fitting and fixing door frame with M.S. angle as per crawing & direction of required section. In choice for counter sunk machine screw & nuts will be such as to fit 8 to 10 mm Inem screw. The counter sunk nut to be welded. The nuts are to be welded after careful, checking with screw All vesting spots should be properly fitted or nounced smooth including cost of welding jinges for Investing spots should be properly fitted or nounced smooth including cost of welding jinges for Investing spots should be properly fitted or nounced smooth including cost of welding jinges for Investing spots should be properly fitted or nounced smooth including cost of welding jinges for Investing spots should be properly fitted or nounced smooth including cost of welding jinges for Investing spots should be properly fitted or nounced smooth fitted in pastion excluding opes to concrete. Clamps of 25 mm x 6 mm flat 225 mm Long 5.00 Kg Kg 91.00 455.00		<u> </u>		Sqm			3406.00
fixed in position complete including a protective coat of painting at the contact surface of the frame extuding cost of concrete, Iron Butt Hinges and MS clamps, Ci five quantum should be corrected upto threedecimals) (1) Sishu, Gamar, Champ, Badam, Bhola, Mogra, Hallak 15 (A) Supplying fitting and fising dear frame with MS. angle as per drawing 8 direction of required section. The holes for counter sunk machine screw 8 rules will be such as to fit 8 to 10 mm Iron screw. The counter sunk nachine screw 8 rules will be such as to fit 8 to 10 mm Iron screw. A rule will be such as to fit 8 to 10 mm Iron screw. A rule will be such as to fit 8 to 10 mm Iron screw. A rule will be such as to fit 8 to 10 mm Iron screw. A rule will be such as to fit 9 to 10 mm Iron screw. A rule will be such as to fit 9 to 10 mm Iron screw. A rule will only only only only only only only on		` ′	162.11	Sqm	Sqm	195.00	31611.00
Mogra, Hallak (A) Supplying fitting and fixing door frame with MS, angle as per drawing & direction of required section The holes for counters and the country of the coun	14	fixed in position complete including a protective coat of painting at the contact surface of the frame exluding cost of concrete, Iron Butt Hinges and M.S clamps. (The quantum should					
M.S. angle as per drawing & direction of required section. The holes for counter sunk machine screw & nuts will be such as to fit 8 to 10 mm inton screw. The counter sunk nut to be welded. The nuts are to be welded after careful checking with screws. Welding spots should be properly filed or rounded smooth including cost of welding hinges for hinge cleats i, jugs for hasp bott, socket bott etc. and necessary M.S. clamps of 25mm x 6mm fat 255mm long as per direction welded to fine frame fitted and fixed in position excluding cost of concrete. Clamps of 25 mm x 6 mm flat 255mm Long 16 Wooden sash bar 50mm. X 35mm. Upto 1200 mm length with coach screw and flat iron clamps (40mm. X 6mm.) fitted and fixed complete in any position. (d) Sal : Malayasian 2 00 Each Each 217.00 434.00 217.00 434.00 217.00 434.00 217.00 217.00 434.00 217.00		1	0.17	Cum	Cum	81778.00	13984.00
Solid Kg Sq 91.00 455.00 Mg Kg 91.00 456.00 Mg Mg 91.00 456.00 Mg Mg Mg 91.00 456.00 Mg Mg Mg 91.00 456.00 Mg Mg Mg Mg Mg Mg Mg	15	M.S. angle as per drawing & direction of required section. The holes for counter sunk machine screw & nuts will be such as to fit 8 to 10 mm Iron screw. The counter sunk nut to be welded. The nuts are to be welded after careful checking with screw. All welding spots should be properly filed or rounded smooth including cost of welding hinges for hinge cleats, lugs for hasp bolt, socket bolt etc. and necessary M.S. clamps of 25mm x 6mm flat 225mm long as per direction welded to the frame fitted and fixed in					
mm length with coach screw and flat iron clamps (40mm. X 6mm.) fitted and fixed complete in any position. (d) Sal : Malayasian 2.00 Each Each 217.00 434.00 17 Supplying , fitting and fixing hinge cleat in position excluding the cost hinge and other fiffitngs. a) with 50mm iron Butt-hinge ii) Sal : Malayasian 4.00 Each Each 31.00 124.00 18 Supplying, fitting and fixing M.S. clamps for door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement concrete(1:2:4) as per direction. (Cost of concrete will be paid separately) (a) 40mm X 6mm, 250mm Length 6.00 Each Each 33.00 198.00 19 Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm, X 75mm, X 3.50mm. 3.00 Each Each 75.00 225.00 (iii) 75mm X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 20 Iron socket both of approved quality fitted and fixed complete. (e) 300mm long x 10mm dia bott. 1.00 Each Each 109.00 109.00 (b) 100mm long x 10mm dia bott. 4.00 Each Each 193.00 579.00 21 I) Iron hasp both of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre both and round fitting. 2 (A) Iron door ring of approved quality fitted and fixed with nut and washer 1900mm dia 8.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer 1900mm dia 8.00 Each Each 193.00 579.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality.		Clamps of 25 mm x 6 mm flat 225 mm Long	5.00	Kg	Kg	91.00	455.00
17 Supplying , fitting and fixing hinge cleat in position excluding the cost hinge and other fiffithgs. a) with 50mm iron Butt-hinge ii) Sal : Malayasian 4.00 Each Each 31.00 124.00 18 Supplying, fitting and fixing M.S. clamps for door and window frame made of flat bent barr, end bifurcated with necessary screws etc. by cement concrete(1:2:4) as per direction. (Cost of concrete will be paid separately) (a) 40mm X 6mm, 250mm Length 6.00 Each Each 33.00 198.00 19 Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm. X 75mm. X 3.50mm. 3.00 Each Each 31.00 372.00 (iii) 75mm. X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 10 Iron socket bolt of approved quality fitted and andfixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00 (b) 100mm long x 10mm dia bolt. 4.00 Each Each 45.00 180.00 21 I) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 6.00 Each Each 32.00 192.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed with nut and chound fixed with nut and condition of the condition o	16	mm length with coach screw and flat iron clamps (40mm. X 6mm.) fitted and fixed complete in any position.					
position excluding the cost hinge and other fiffitings. a) with 50mm iron Butt-hinge ii) Sal : Malayasian 4.00 Each Each 31.00 124.00 18 Supplying, fitting and fixing M.S. clamps for door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement concrete(1:2:4) as per direction. (Cost of concrete will be paid separately) (a) 40mm X 6mm, 250mm Length 6.00 Each Each 33.00 198.00 19 Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm. X 75mm. X 3.50mm. 3.00 Each Each 75.00 225.00 (iii) 75mm. X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 20 Iron socket bolt of approved quality fitted and fixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00 (b) 100mm long x 10mm dia bolt. 4.00 Each Each 45.00 180.00 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 2 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 8.00 Each Each 32.00 192.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		(d) Sal : Malayasian	2.00	Each	Each	217.00	434.00
ii) Sal : Malayasian 4.00 Each Each 31.00 124.00 18 Supplying, fitting and fixing M.S. clamps for door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement concrete(1:2:4) as per direction. (Cost of concrete will be paid separately) (a) 40mm X 6mm, 250mm Length 6.00 Each Each 33.00 198.00 19 Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm. X 75mm. X 3.50mm. 3.00 Each Each 75.00 225.00 (iii) 75mm. X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 20 Iron socket bolt of approved quality fitted and fixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00 (b) 100mm long x 10mm dia bolt. 4.00 Each Each 45.00 180.00 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long c) 300mm long 3.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 3.00 Each Each 19.00 152.00 3.00 Each Each 19.00 152.00 4.00 Each Each 19.00 152.00 579.00 Each Each 19.00 152.00 6.00 Each Each 19.00 152.00	17	position excluding the cost hinge and other fiffitngs.					
18 Supplying, fitting and fixing M.S. clamps for door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement concrete(1:2:4) as per direction. (Cost of concrete will be paid separately) (a) 40mm X 6mm, 250mm Length (a) 40mm X 6mm, 250mm Length Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm. X 75mm. X 3.50mm. 3.00 Each Each 75.00 225.00 (iii) 75mm. X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 20 Iron socket bolt of approved quality fitted and fixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00 (b) 100mm long x 10mm dia bolt. 4.00 Each Each 45.00 180.00 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 8.00 Each Each 32.00 192.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		a) with 50mm iron Butt-hinge					
door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement concrete(1:2:4) as per direction. (Cost of concrete will be paid separately) (a) 40mm X 6mm, 250mm Length 6.00 Each Each 33.00 198.00 19 Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm. X 75mm. X 3.50mm. 3.00 Each Each 75.00 225.00 (iii) 75mm. X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 20 Iron socket bolt of approved quality fitted and andfixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00 (b) 100mm long x 10mm dia bolt. 4.00 Each Each 45.00 180.00 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 6.00 Each Each 32.00 192.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		ii) Sal : Malayasian	4.00	Each	Each	31.00	124.00
Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm. X 75mm. X 3.50mm. (viii) 75mm. X 40mm. X 1.12mm. Iz.00 Each Each 31.00 372.00 Iron socket bolt of approved quality fitted and fixed complete. (e) 300mm long x 10mm dia bolt. (b) 100mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00 Each Each 45.00 180.00 I) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long C) 300mm long (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:	18	door and window frame made of flat bent bar, end bifurcated with necessary screws etc. by cement concrete(1:2:4) as per direction. (Cost					
IPON butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. (viii) 100mm. X 75mm. X 3.50mm. (viii) 75mm. X 40mm. X 1.12mm. IDON Each Each 31.00 372.00 20 Iron socket bolt of approved quality fitted and fixed complete. (e) 300mm long x 10mm dia bolt. (b) 100mm long x 10mm dia bolt. 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. 2) 300mm long (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 10 152.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		(a) 40mm X 6mm, 250mm Length	6 NN	Each	Each	33 UU	102 00
(iii) 75mm. X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 20 Iron socket bolt of approved quality fitted andfixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each Each 109.00 109.00 109.00 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 3.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 193.00 152.00 152.00 323 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:	19	Iron butt hinges of approved quality fitted and	0.00	Lauli	Lauli	33.00	190.00
(iii) 75mm. X 40mm. X 1.12mm. 12.00 Each Each 31.00 372.00 20 Iron socket bolt of approved quality fitted andfixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00 (b) 100mm long x 10mm dia bolt. 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. 21 c) 300mm long 3.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 ii) 75 mm dia 6.00 Each Each 32.00 192.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		(viii) 100mm. X 75mm. X 3.50mm	3 00	Fach	Fach	75 NN	225 00
20 Iron socket bolt of approved quality fitted andfixed complete. (e) 300mm long x 10mm dia bolt. 1.00 Each Each 109.00 109.00		<u> </u> `					
(b) 100mm long x 10mm dia bolt. 4.00 Each Each 45.00 180.00 180.00 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 3.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:	20	Iron socket bolt of approved quality fitted	12.00	Luoii	Lacii	01.00	072.00
(b) 100mm long x 10mm dia bolt. 4.00 Each Each 45.00 180.00 21 i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 3.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		(e) 300mm long x 10mm dia bolt.	1.00	Each	Each	109.00	109.00
i) Iron hasp bolt of approved quality fitted and fixed complete (oxidised) with 16mm dia rod with centre bolt and round fitting. c) 300mm long 3.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 3.00 Each Each 19.00 152.00 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		4``					
c) 300mm long 3.00 Each Each 193.00 579.00 22 (A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:	21	fixed complete (oxidised) with 16mm dia rod	T.UU	Lacii	Laui	70.00	100.00
(A) Iron door ring of approved quality fitted and fixed with nut and washer i)50 mm dia 8.00 Each Each 19.00 152.00 23 Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		1	3.00	Each	Each	193.00	579.00
ii) 75 mm dia Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:	22	(A) Iron door ring of approved quality fitted and	2.00				0.0.00
ii) 75 mm dia Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality: 6.00 Each Each 32.00 192.00		i)50 mm dia	8.00	Each	Each	19.00	152.00
Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat complete of best quality:		ii) 75 mm dia					
	23	Supplying anodised aluminium catch hook with eye fitted and fixed to shutter and chowkat	-	5.4			
<u>[[i] 100 Each 42.00 252.00 Each 42.00 252.00 </u>		(i) 150mm long	6.00	Each	Each	42.00	252.00

			1	T	1	
24	Anodised aluminium barrel / tower / socket bolt (full covered) of approved manufactured from extruded section conforming to I.S. 204/74 fitted and fixed with cadmium plated					
	(v) 200mm long v 12mm dia Polt	0.00			470.00	504.00
25	(x) 300mm long x 12mm dia. Bolt Panel shutters of door and window, as per	3.00	Each	Each	178.00	534.00
25	design (each panel consisting of single plank without joint), including fitting and fixing the same in position but excluding the cost of hinge and other fittings.					
	In ground floor. (In case of non-supply of single plank, penal rate of					
	reduction of 20% will be made) (iii) 35mm thick shutters with 19mm thick panel of size 30 to 45 cm.					
	(a) Ordinary Teak Wood.	3.24	Sqm	Sqm	4639.00	15030.00
26	Neatcementpunningabout1.5mmthickin wall,dado,window sill,floor etc. NOTE:Cement 0.152 cu.m per100 sq.m.	25.60	Sqm	Sqm	38.00	973.00
27	Supplying, fitting & fixing1stquality Ceramic tile sin wall sand floor stomat hwiththe existing work & 4nos. of key stones (10mm) fixed with araldite atthe back of each tile & finishing the joints with whit ecementmixed withc olouring oxide if required to match the colour of tiles including roughening of concrete surface ,if necessary or by synthetic adhesive & grout materials etc. (A) Floor With Sand Cement Mortar (1:4) 20mm thick & 2mm thick cement slurry at backside of tilesusing cement @2.91Kg/Sq.m & joint filling using white cements lurry @ 0.20kg/Sq.m. (a) Area of each tile upto 0.09 Sq.m (ii)Other than Coloured decorative including white (B) Wall With Sand Cement Mortar (1:3) 15mm thick & 2mm thick cement slurry at backside of tile susing cement @2.91 Kg/Sq.m & join filling using white cement slurry @ 0.20kg/Sq.m. (a) Area of each tile upto 0.09 Sq.m	25.42	Sqm	Sqm	780.00	19828.00
	(ii)Other than Coloured decorative including white	24.72	Sqm	Sqm	791.00	19554.00
28	Acrylic Distempertointeriorwall, ceilingwith a coat of solvent base dinterior grade acrylic primer (as permanufacturer's specification) including cleaning and smoothning of surface. Two Coats	63.53	Sqm	Sqm	76.00	4828.00
29	Applying In teriorgrade Acrylic Primer of approved quality and brand on plastere dor cencrete surface old or new surface to receive Distemper /Acrylic emulsion paint including scraping and preparing the surface throughly, comple teaspermanu facturer's specificationandasperdirectionoftheEIC. (In Ground Floor)					
	(b) Two Coats					
	ii)Solvent based interior grade Acrylic Prime	63.53	Sqm	Sqm	5303.00	3369.00

20	Applying Exteriorgrade Acrylic primaref approved		 		<u> </u>	1
30	ApplyingExteriorgradeAcrylicprimerof approved quality and brand on plastere dor cencrete					
	surface old ornew surface to received ecorativ					
	textured (mattfinish) or smooth finish acrylic					
	exterior emulsion paint including scraping and preparing the surface throughly, complete as					
	per manufacturer's specification and as per					
	direction of the EIC.					
	In Ground Floor:	22.25		0	4000.00	0.440.00
31	(b) Two Coats (a)Priming one coat on timber or plastered	69.65	Sqm	Sqm	4899.00	3412.00
31	surface with synthetic oil boundprimer of					
	approved quality including smoothening	16.20	Sqm	Sqm	41.00	664.00
	surfaces by sand papering etc.					
32	(A)Painting with best quality synthetic					
	enamelpaint of approved make and brand including smoothening surface by sand					
	papering etc. including using of approved putty					
	etc. on the surface, if necessary:					
	(a) On timber or plastered surface :					
	With super gloss (hi-gloss) -					
	(iv) Two coats (with any shade except white)	16.20	Sqm	Sqm	89.00	1442.00
•	Cupplying fitting and fixing O.L. nings of TATA	10.20	J GYIII	<u> </u>	55.00	1772.00
33	Supplying, fitting and fixing G.I. pipes of TATA make with all necessary					
	accessories, specials viz. socket, bend, tee,					
	union, cross, elbo, nipple,					
	longscrew, reducing socket, reducing tee, short					
	piece etc. fitted with holder bats clamps, including cutting pipes,					
	making threads, fitting, fixing					
	etc. complete in all respect including cost of all					
	necessary fittings as					
	required, jointing materials and two coats of					
	painting with approved paint					
	in any position above ground. (Payment will be					
	made on the centre line					
	measurements of total pipe line including all specials. No separate					
	payment will be made for accesories, specials. Payment for painting will					
	be made seperately)					
	A) For Exposed Work					
	(ii) 15 mm dia. medium quality	8.50	M	M	220.00	1870.00
	(ii) 25 mm dia. medium quality	15.00	M	M	354.00	5310.00
34	approved quality with closed top with lid (Black) -					
	Multilayer					
	d) 1000 litter capacity	1.00	each	each	6110.00	6110.00
35	Labour for hoisting plastic water storage tank.					
	(ii) Above 1500 litre upto 5000 litre capacity.					
		4.00			27.55	0
	(a) Upto 1st story from G.L.	1.00	each	each	97.00	97.00
36	Supplying, fitting and fixing 10 litre porcelain low-down cistern of approved make with either side					
	or bottom inlet, side overflow, brackets					
	complete with all internnal PVC fittings.					
	NAZI :					
	White	1.00	each	each	2567.00	2567.00
37	Supplying, fitting and fixing white vitreous china					
	best quality approved make wash basin with					
	C.I. brackets on 75 mm X 75 mm wooden blocks, C.P. waste fittings of 32 mm dia., one					
	approved quality brass C.P. pillar cock of 15					
	mm dia., C.P. chain with rubber plug of 30 mm					
	dia., approvedquality P.V.C. waste pipe with C.P. nut 32 mm dia., 900 mm long approved					
	quality P.V.C. connection pipe with heavy brass					
	C.P. nut including mending good all damages					
	and painting the brackets with two coats of approved paint.					
	(iii) 630 mm X 450 mm size	1.00	each	each	3873.00	3873.00
•			L.			

	Supplying, fitting and fixing Flat back urinal (half stall urinal) in white vitreous chinaware of approved make in position with brass screws on 75 mm X 75 mm X 75 mm wooden blocks complete.					
	(ii) 465 mm X 355 mm X 265 mm	1.00	each	each	820.00	820.00
	Washing and developing tube well with air compressor pump and engine for 8 (eight) hours continuous pumping per day with necessary arrangements for testing the yield in gallons per hour with 'V' notch including hire and labour charges for all tools and plants and scaffolding as required.	1.00	per day	per day	7613.00	7613.00
	Earthing with 50 mm dia GI pipe 3.64 mm thick x 3.04 Mts.long and 1 x 4 SWG GI (Hot Dip) wire (4 Mts. long), 13 mm dia x 80 mm long GI bolts, double nuts, double washers incl. S & F 15 mm dia GI pipe protection (1 Mts. long) to be filled with bitumen partly under the ground level and partly above ground level driven to an average depth of 3.65 Mts. below the ground level as below:					
	By TATA-Medium GI pipe	1.00	Set	Set	1675.00	1675.00
	Supplying and fixing Sheet steel Main Switches on flat iron frame on wall					
	30/32A 240 VDP with fuse on L&N Havells	2.00	each	each	1425.00	2850.00
42	Wiring in 1.1 KV grade single core stranded 'FR' PVC insulated & unsheathed copper wire (Brand approved by EIC) of following sizes in 25mm PVC casing-capping (Precision make) incl. necy. PVC clips, fittings etc.	2.00	Cacii	Cacii	1420.00	2030.00
43	(b) 2 x 22/0.3 (1.5 sqmm) + 1 x 22/0.3 (1.5 sqmm) Distribution wiring in 1.1 KV grade 2x22/0.3 (1.5 sqmm) sing lecore stranded 'FR' PVC insulated & unsheathed copper wire (Brand approved by EIC) in suitable size PVC casing-capping (Precision make) with 1x22/0.3 (1.5 sqmm) single core stranded 'FR' PVC insulated & unsheathed copper wire for ECC, incl. necy. PVC clips, fittings etc. to light/fan/call bellpoint with piano key type switch (Anchor make) fixed on sheet steel fabricated switch board with Perspex/bakelite top co ver on wall incl. necy. connections and making earthing attachment and mending good damages to building works.[PVC casing-capping and Switch board both on surfac	2.00	Mt	Mt	98.00	3528.00
	Supplying & Fixing GI Modular Switch Board of the following sizes complete with three no. suitable size Copper bar with holes (for Ph, N & E) fixed on bakelite/Hard Rubber insulator over the MS welded chairs incl. top cover flushed in wall for housing the board after cutting the brick wall incl. making earthing attachment, painting and mending good damages to building works					
45	c) 8 Module Supplying and fixing 240/415 V MCB of Breaking capacity 10kA & C characteristics on din rail of existing DBs and necessary connection	3.00	set	set	466.00	1398.00
	Havells 6-32 A	3.00	each	each	198.00	594.00
	Supply & Fixing 240 V 6 A Piano key type switch (Brand approved by EIC) on existing sheet metal switch board having bakelite /perspex top cover by screws after making	12.00	each	each	29.00	348.00

47	PVC inspection box of 175x100x65mm	3.00	each	each	220.00	660.00
48	(a) M.S.or W.I. Ornamental grill of approved design joints					
	continuously welded with M.S, W.I. Flats and bars of windows,					
	railing etc. fitted and fixed with necessary screws and lugs in ground floor					
	(Add extra @ 1% for each addl. floor upto 4th floor and @ 1.25%					
	for each addl. floor above 4th floor)					
	(ii) Grill weighing above 16 Kg./sq.mtr and above	0.60	Qtl	Qtl	8053.00	4832.00
					TOTAL=	355781.00

RUPEES THREE LAKH FIFTY FIVE THOUSAND SEVEN HUNDRED EIGHTY ONE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent repairs of Wooden Pile Bridge over Bojberia Khal near house of Madan Maity, G.P-3 no Dakshin Narikeldah Block - Nandakumar under Tamluk (I) Sub-Division of East Midnapur Division

SL No- 03

1) Amount put to Tender:- Rs

213472.00

2) Earnest Money :- Rs

4269.00

3)	Time	allowed	for	completion	:	
"	111110	anowca	101	compicuon	•	

30 days

Sl.No.	Description of items	Quantity		Unit	Rate	Amount
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					(Rs)
	(v) 20.00 cm. Av. Diametre. (iv) 15.00 cm. Av. Diametre.	96.00 48.00	Metre Metre	Metre Metre	Rs284.30 Rs185.60	Rs27,293.00 Rs8,909.00
2	Extra rate over item no.1 above for length above 6 metre.	60.00	Metre	Metre	Rs122.20	Rs7,332.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(b) 17.50cm to 20 cm Av. Diametre.	48.00	Metre	Metre	Rs82.40	Rs3,955.00
	(a) 10cm to 15 cm Av. Diametre.	24.00	Metre	Metre	Rs65.90	Rs1,582.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				27.0	
5	(a) Above 15 cm. Wood works in beams, burghas,deck posts,	88.00	Metre	Metre	97.8	Rs8,606.00
	rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).					
	Local hard wood of approved variety.	3.08400	Cum	Cum	36969.1	Rs114,013.00
6	Extra rate for planking 5 cm in thickness or below in item no. 5	1.7441	Cum	Cum	1172.4	Rs2,045.00
7	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	20.30	Kg	Kg	78.2	Rs1,587.00
8	Coal tarring with 5% pitch including cost of all materials complete.					
	(b) Two coats.	265.69	Sqm	Sqm	Rs26.80	Rs7,120.00
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length	189.00	Metre	Metre	Rs23.60	Rs4,460.00
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	108.00	Metre	Metre	Rs6.30	Rs680.00
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	30.00	Metre	Metre	Rs19.30	Rs579.00
12	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).		Each	Each	Rs5.00	Rs1,205.00

13	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	241.00	Each	Each	Rs6.30	Rs1,518.00
14	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.		Cum	Cum	76.70	18811.00
15	Extra rate for earthwork in Item no. 1 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre. NB:- This item is applicable only where the Track/ Tractor are not accessible at site				2x 7.7	
	Two Extra Lead	245.25	Cum	Cum	15.40	3777.00
					TOTAL=	213472.00

RUPEES TWO LAKH THIRTEEN THOUSAND FOUR HUNDRED SEVENTY TWO ONLY



Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Government of West Bengal Office of the Executive Engineer, East Midnapore Division,

Irrigation & Waterways Directorate,

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent protection work slip of Bansda RCC Bridge and Banpur Prymary School over Banpur Mechada Khal (left embankment) damaged due to successive heavy rainfall in last two Month under Sahid Matangini Block in Denan Section under Panskura (I) Sub-division I of East Midnapur Division

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
3) Time allowed for completion :
30 days

3) 11me a	allowed for completion:	30 days				
Sl.No.	Description of items	Quantit	у	Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					(/
	(iv) 15.00 cm. Av. Diametre.	503.00	Metre	Metre	185.60	93357.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.	100.50	D. 4		05.00	07000 00
	(a) 10cm to 15 cm Av. Diametre. Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.		Metre	Metre	65.90	27909.00
_	(a) Above 12.50 cm. upto 15.00cm	124.00	Metre	Metre	78.80	9771.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	22429.00
	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	72.00	Metre	Metre	19.30	1390.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary		Metre	Metre	6.30	3266.00
7	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).		Each	Each	5.00	7810.00
8	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1562.00	Each	Each	6.30	9841.00
	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	211.176	Cum	Cum	138.90	29332.00

4

SL No.

Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge. Cum Cum 76.70 10798
--

RUPEES TWO LAKH FIFTEEN THOUSAND NINE HUNDRED THREE ONLY

(Sm)

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent clearence of water hyacinth due to successive heavy rainfall in last two Month at Salkia dhanichak of upper Dewankhali khal under Dobandy Section of Panskura(I) Sub-division No.-II of East Midnapore Division.

1) Amount put to Tender :- Rs

181830.00

2) Earnest Money :- Rs

3637.00

3) Time allowed for completion:

15 days

Sl.No.	Description of items	Quantit	у	Unit	Rate	Amount (Rs)
	Clearing and removing weeds and water hyacinth including all leads and lifts and burning them to ashes after drying.		Sqm	Sqm	5.8	181830
					TOTAL	181830.00

RUPEES ONE LAKH EIGHTY ONE THOUSAND EIGHT HUNDRED THIRTY ONLY

Executive Engineer

SL No.

5

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent restoration of slip due to succesive heavy rainfall in last two Month at Mauza -Naskardighi near Gopal manna shop on Cossye Left Embankment under Cossye (I) section under Panskura(I) Sub-division No.-II of East Midnapore Division, Tamluk.

1) Amount put to Tender :- Rs 2) Earnest Money :- Rs

87339.00

3) Time allowed for completion:

1747.00 15 days

	Description of items				1	
Sl.No.	Description of items	Quantit	у	Unit	Rate	Amount (Rs)
1	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	192.00	Cum	Cum	138.90	26669.00
2	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	48.00	Cum	Cum	76.70	3682.00
3	Extra rate in Item no. 1.08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.				2 x 20.7	
	Two Extra Lead	48.00	Cum	Cum	41.40	1987.00
4	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	945.00	Metre	Metre	23.60	22302.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	693.00	Metre	Metre	6.30	4366.00
6	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	120.00	Metre	Metre	19.30	2316.00
7	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1971	Each	Each	0.00	0.00
8	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1971.00	Each	Each	Rs6.30	Rs12,417.00
9	Extra rate in item no. 4.02 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.				3x 2.3	
	Three Extra Lead	1971.00	Each	Each	6.90	13600.00
					TOTAL=	87339.00



SL No.

6

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent restoration of slips due to succesive heavy rainfall in last two Month at Mauza -Harirampur near Arabinda Pattanayak House on Kherai New Left Embankment under Cossye (I) section under Panskura(I) Sub-division No.-II of East Midnapore Division, Tamluk.

SL No.

7

1) Amount put to Tender :- Rs

252835.00 5057.00

2) Earnest Money :- Rs3) Time allowed for completion :

21 days

·	anowed for completion :	J. 1. J. 1.				
Sl.No.	Description of items	Quantit	ту	Unit	Rate	Amount (Rs)
1	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	535.5	Cum	Cum	76.70	41073.00
2	Extra rate for earthwork in Item no. 1 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				2x 7.7	
	Two Extra Lead	267.75	Cum	Cum	15.4	4123.00
3	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(iv) 15.00 cm. Av. Diametre.	425.00	Metre	Metre	Rs185.60	Rs78,880.00
4	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	340.00	Metre	Metre	Rs65.90	Rs22,406.00
5	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.		IVICUE	IVICUE	1500.70	18522,400.00
	(b) Above 12.50 cm & up to 15.00 cm.	84.00	Metre	Metre	Rs78.80	Rs6,619.00
6	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1293.60	Metre	Metre	23.60	30529.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
0	(i) Where boats are not necessary Supplying to site 2nd hand cement polly bags in	819.00	Metre	Metre	6.30	5160.00
8	good condition delivered and stacked (capacity 50 kg).		Each	Each	5.00	20140.00

Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.		Each	Each	6.30	25376.00
 Extra rate in item no.8 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.				2 x 2.3	
Two Extra Lead	4028.00	Each	Each	4.60	18529.00
				TOTAL=	252835.00

RUPEES TWO LAKH FIFTY TWO THOUSAND EIGHT HUNDRED THIRTY FIVE ONLY

(Salver)

Executive Engineer
East Midnapore Division (I & W.D.)
Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent repair of Slip of Ex-Zamindary Bundh of Hoogly river near land of Nivhas Das, Sailen Halder, Satyen Roy at mouza-Aerakhali, Block-Sutahata, G.P.-Kukrahati, due to heavy rainfall in last two Month under Geonkhali (I) Section under Tamluk (I) Sub-Division of East Midnapur Division

1) Amount put to Tender:- Rs
2) Earnest Money:- Rs
6516.00
3) Time allowed for completion:
30 days

_	1	30 days				
Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(b) 15 cm. Av. Diametre.	780.00	Metre	Metre	185.60	144768.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	650.00	Metre	Metre	65.90	42835.00
_	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 12.50 cm. & up to 15.00	150.00	Metre	Metre	78.80	11820.00
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2491.00	Each	Each	5.00	12455.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2491.00	Each	Each	6.30	15693.00
	Extra rate in item no 5 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.				6 x 2.3	
	6(six) noExtra Lead	2491.00	Cum	Cum	13.80	34376.00
	Earthwork in all kinds of soil by transporting the earth by boat within a total lead of 1 km and all lifts both ways for closing breaches and constructing embankments, as per profile including loading, transporting, unloading and laying the same, rough dressing, inclusive of head load where necessary as per direction of the Engineer-in-charge. N.B:- Measurement to be taken on the basis of stack measurements/ pre-post work sections after deduction of voids. No extra payment will be made for stack.	483.75	Cum	Cum	132.00	63855.00
					TOTAL=	325802.00

RUPEES THREE LAKH TWENTY FIVE THOUSAND EIGHT HUNDRED TWO ONLY



SL No.

8

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No. 9

Emergent protection of severe vertical slip at right bank of Pratapkhali khal near house of Gour Adak at G.P.-Dakhin narikelda,Block-Nandakumar, under Sitalpur(I) section under Tamluk (I) Sub-Division of East Midnapur Division

95276.00

1906.00

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs

3) Time allowed for completion: 21 days

<i>5)</i> Time	anowed for completion:	=1 days				
Sl.No.	Description of items	Quantit	у	Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(iv) 15.00 cm. Av. Diametre.	219.00	Metre	Metre	Rs185.60	Rs40,646.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	180.15	Metre	Metre	Rs65.90	Rs11,872.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above12.50 cm & upto 15 cm.	81.50	Metre	Metre	78.8	Rs6,422.00
4	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length	132.00	Metre	Metre	Rs23.60	Rs3,115.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	78.00	Metre	Metre	Rs6.30	Rs491.00
6	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	30.00	Metre	Metre	Rs19.30	Rs579.00
7	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1180.00	Each	Each	Rs5.00	Rs5,900.00
8	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1180.00	Each	Each	Rs6.30	Rs7,434.00
9	Extra rate in item no.7 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.				2x 2.3	
	Two Extra Lead	1180.00	Cum	Cum	4.60	5428.00

10	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	57.96	Cum	Cum	138.90	8051.00
11	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	57.96	Cum	Cum	76.70	4446.00
12	Extra rate for earthwork in Item no. 10 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre. NB:- This item is applicable only where the Track/ Tractor are not accessible at site				2x 7.7	
	Two Extra Lead	57.96	Cum	Cum	15.40	892.00
					TOTAL=	95276.00

RUPEES NINETY FIVE THOUSAND TWO HUNDRED SEVENTY SIX ONLY

Bar Jan

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No. Schedule of items, quantities and rates for the work:-

10

Emergent repairs to severely damaged left bank of Gopalpur Khal including repairing of Ghoges near Madrasha G.P.-Amritberia ,Block-Mahisadal under Tamluk (I) Sub-Division of East Midnapur Division

1) Amount put to Tender :- Rs 2) Earnest Money :- Rs

125466.00 2509.00

3) Time allowed for completion:

21 days

) I lille	allowed for completion:	21 days						
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)		
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length		Metre	Metre	Rs23.60	Rs23,270.00		
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)							
	(i) Where boats are not necessary	484.20	Metre	Metre	Rs6.30	Rs3,050.00		
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	224.10	Metre	Metre	Rs19.30	Rs4,325.00		
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2655.00	Each	Each	Rs5.00	Rs13,275.00		
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2655.00	Each	Each	Rs6.30	Rs16,727.00		
6	Extra rate in item no.5 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.				2x 2.3			
	Two Extra Lead	2655.00	Cum	Cum	4.60	12213.00		
7	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	79.10	Cum	Cum	138.90	10987.00		
8	Earthwork in closing ghoges in embankments including cutting, filling, puddling with water and ramming (earth necessary for closing ghoges should be procured by the agency from any source(s) at his own cost and arrangement) including all leads and lifts as necessary.	440 000	Cum	Cum	97.10	11635.00		
9	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.							
	(g) Moorum	20.000	Cum	Cum	540.000	10800.000		
10	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75		Cum	Cum	86.100	1292.000		

boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (g) Moorum 30 Km Extra (a) For a distance above 20 km and up to 50 km (per km). 50 Km Extra (b) For a distance above 50 km and up to 100 km (per km). 20.000 Cum Cum Cum Cum 420.00 8400.000 24 x7.9						TOTAL=	125466.00
boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (g) Moorum 30 Km Extra (a) For a distance above 20 km and up to 50 km (per km). 50 Km Extra (b) For a distance above 50 km and up to 100 km (per km). 20.000 Cum Cum Cum 285.00 5700.000 20.000 Cum Cum 24 Km Extra		c) For a distance above 100 km (per km).	20.000	Cum	Cum	189.60	3792.000
boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (g) Moorum 30 Km Extra (a) For a distance above 20 km and up to 50 km (per km). 50 Km Extra (b) For a distance above 50 km and up to 100		24 Km Extra				24 x7.9	
boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (g) Moorum 30 Km Extra (a) For a distance above 20 km and up to 50 km (per km). 50 Km Extra 20.000 Cum Cum Cum 5700.000		1` '		Cum	Cum	420.00	8400.000
boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (g) Moorum 30 Km Extra (a) For a distance above 20 km and up to 50		, ,	20.000	Cum	Cum		3700.000
boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (g) Moorum 30 Km Extra		(a) For a distance above 20 km and up to 50	20 000	Cum	Cum	285.00	5700 000
boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials		30 Km Extra				30 x 9.5	
boulder, stone metal, stone chips, gravel, slag		(g) Moorum					
		metal, shingle and similar materials					
	11	, , ,					

RUPEES ONE LAKH TWENTY FIVE THOUSAND FOUR HUNDRED SIXTY SIX ONL'

Executive Engineer
East Midnapore Division (I & W.D.)
Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

SL No. 11

Schedule of items, quantities and rates for the work:-

Urgent repair of Wooden pile bridge due to Succesive heavy rainfall in last two Month over Topa Khal near Hatisal School at Mouza Hatisal in P.S- Panskura under Khaniady (I) Section of Panskura (I) Sub-Division no -II of East Midnapur Division

1) Amount put to Tender :- Rs 2) Earnest Money :- Rs 280983.00 5620.00

3) Time allowed for completion:

21 days

CLAT	D : .: C:					I
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(e) 20.00 cm. Av. Diametre.	407.00	NA - (Mate	004.00	D 20 040 00
	(c) 15.00 cm. Av. Diametre.	137.00 50.00	Metre Metre	Metre Metre	284.30 185.60	Rs38,949.00 Rs9,280.00
2	Extra rate over item no. 1 above for length	30.00	IVICTIC	IVICTIC	100.00	K37,200.00
	above 6 metre.	75.00	Metre	Metre	122.20	Rs9,165.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(ii) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	35.00	Metre	Metre	65.90	Rs2,307.00
	(b) 17.50cm to 20 cm Av. Diametre.	82.20	Metre	Metre	82.40	Rs6,773.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 12.50 cm up to 15.00cm	122.00	Metre	Metre	78.80	Rs9,614.00
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).					
	Local hard wood of approved variety.	4.488	Cum	Cum	36969.10	Rs165,917.00
6	Extra rate for planking 5 cm in thickness or below in item no. 5	2.76	Cum	Cum	1172.40	Rs3,236.00
7	Coal tarring with 5% pitch including cost of all materials complete.					
	(b) Two coats.	283.99	Sqm	Sqm	26.80	Rs7,611.00
8	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	431.20	Metre	Metre	23.60	Rs10,176.00
9	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	294.00	Metre	Metre	6.30	Rs1,852.00
10	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	56.00	Metre	Metre	Rs19.30	Rs1,081.00
11	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	630.00	Each	Each	Rs5.00	Rs3,150.00

 						
14	M.S. works in joists, channels, angles, tees, flats, etc. for shutters, hoists, bridges, ladders etc. including cutting, drilling, fabrication erection, hoisting, forging, welding, riveting, tightening, with bolts and nuts with necessary washers, cleats, gusset plates etc. (including supply and carriage of all materials to site). Payment to be made on the basis of calculated weight of structural members only in finished work; including weight for bracket, gussets, cleats, rivets, bolts, nuts, etc.	0.2937	QtI	Qtl	8235.20	2419.00
13	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	71.50	Cum	Cum	76.70	5484.00
12	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	630.00	Each	Each	Rs6.30	3969.00

RUPEES TWO LAKH EIGHTY THOUSAND NINE HUNDRED EIGHTY THREE ONLY



Executive Engineer
East Midnapore Division (I & W.D.)
Tamluk Purba Medinipore.

Government of West Bengal
Office of the Executive Engineer, East Midnapore Division,

Irrigation & Waterways Directorate,
Tamluk:: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No.

Schedule of items, quantities and rates for the work:-

Jungle clerence inside of Pankura (I) Section office compound ,Revenue office compound ,Panskura Sub Division Office Compound of Panskura (I) Section under Panskura (I) Sub-Division no - I under East Midnapore Division

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
2797.00
3) Time allowed for completion :
21 days

Sl.No.	Description of items	Quantity Unit		Rate	Amount (Rs)	
	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.		Sqm	Sqm	7.70	139852.000
			-		Total	139852.00

RUPEES ONE LAKH THIRTY NINE THOUSAND EIGHT HUNDRED FIFTY TWO ONLY

Executive Engineer
East Midnapore Division (I & W.D.)
Tamluk Purba Medinipore.

12

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent Repair of wooden bridge over Kharichak Khal at Arror Handa Para under Jassar(I) Section of Panskura (I) Sub-Division no - I under

13

East Midnapore Division "

1) Amount put to Tender:- Rs
203248.00
2) Earnest Money:- Rs
4065.00
3) Time allowed for completion:
30 days

3) Time	allowed for completion:	30 days						
Sl.No.	Description of items	Quantity Unit			Rate	Amount (Rs)		
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.							
	(v) 20.00 cm. Av. Diametre.	100.00	Metre	Metre	Rs284.30	Rs28,430.00		
	(iv) 15.00 cm. Av. Diametre.	30.00	Metre	Metre	Rs185.60	Rs5,568.00		
2	Extra rate over item no.1 above for length above 6 metre.	64.00	Metre	Metre	Rs122.20	Rs7,821.00		
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.							
	(i) Where boats are not necessary.							
	(b) 17.50cm to 20 cm Av. Diametre. (a) 10cm to 15 cm Av. Diametre.	64.40 21.00	Metre Metre	Metre Metre	Rs82.40 Rs65.90	Rs5,307.00 Rs1,384.00		
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.							
	(a) Above 12.50 cm & up to 15.00 cm.	89.00	Metre	Metre	78.8	Rs7,013.00		
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).							
	Local hard wood of approved variety.	3.41	Cum	Cum	36969.1	Rs126,065.00		
6	Extra rate for planking 5 cm in thickness or below in item no. 5	1.95	Cum	Cum	1172.4	Rs2,286.00		
7	Coal tarring with 5% pitch including cost of all materials complete.							
	(b) Two coats.	215.30	Sqm	Sqm	Rs26.80	Rs5,770.00		
8	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	28.17	Kg	Kg	78.20	Rs2,203.00		
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	238.00	Metre	Metre	Rs23.60	Rs5,617.00		
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)							
1.1	(i) Where boats are not necessary	119.00	Metre	Metre	Rs6.30	Rs750.00		
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	34.00	Metre	Metre	Rs19.30	Rs656.00		

					Total	203248.00
15	Taking out and carriage of old unserviceble wood collect from old wooden bridge into departmental godown etc.	3.41	Cum	Cum	425.40	1451.00
14	Taking out bullah wailing pieces after removing bolts, nuts and iron nails etc. and stacking the same within 60 metres from the site of work as per direction of the Engineer-in-charge.	44.50	Metre	Metre	Rs8.50	Rs378.00
13	Cutting bullah piles of any size above bed level and stacking the same within 60 m from the site of work as per direction of Engineer-in-charge.	22.00	Each	Each	Rs9.20	Rs202.00
12	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	30.60	Cum	Cum	76.70	2347.00

RUPEES TWO LAKH THREE THOUSAND TWO HUNDRED FORTY EIGHT ONLY

Executive Engineer

(Sm)

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

<u>Tamluk :: Purba-Medinipur</u>

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

14

Emergent Repair of wooden bridge over Kharichak Khal at Manua Mondal para under Jassar(I) Section of Panskura (I) Sub-Division no - I under East Midnapore Division "

1) Amount put to Tender:- Rs
2) Earnest Money:- Rs
3367.00
3) Time allowed for completion:
30 days

) Time	allowed for completion:	30 days						
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)		
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.							
	(v) 20.00 cm. Av. Diametre.	84.00	Metre	Metre	284.30	23881.00		
	(iv) 15.00 cm. Av. Diametre.	20.00	Metre	Metre	185.60	3712.00		
2	Extra rate over item no.1 above for length	48.00	Metre	Metre	122.20	5866.00		
	above 6 metre.		IVIOLIO	Wiotro	122.20			
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.							
	(i) Where boats are not necessary.							
	(b) 17.50cm to 20 cm Av. Diametre. (a) 10cm to 15 cm Av. Diametre.	54.80 14.00	Metre Metre	Metre Metre	82.40 65.90	4516.00 923.00		
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.		Wette	Wieuc	00.00	020.00		
	(a) Above 12.50 cm & up to 15.00 cm.	89.00	Metre	Metre	78.80	7013.00		
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).							
	Local hard wood of approved variety.	2.78	Cum	Cum	36969.10	102774.00		
6	Extra rate for planking 5 cm in thickness or below in item no. 5	1.54	Cum	Cum	1172.40	1805.00		
7	Coal tarring with 5% pitch including cost of all materials complete.			_				
8	(b) Two coats. Supplying, fitting & fixing at site MS bolts and	179.75	Sqm	Sqm	26.80	4817.00		
0	nuts with necessary washers.	24.65	Kg	Kg	78.20	1928.00		
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	5617.00		
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)							
4.4	(i) Where boats are not necessary	119.00	Metre	Metre	6.30	750.00		
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	34.00	Metre	Metre	19.30	656.00		

					Total	168332.00
15	Taking out and carriage of old unserviceble wood collect from old wooden bridge into departmental godown etc.	2.78	Cum	Cum	425.40	1183.00
14	Taking out bullah wailing pieces after removing bolts, nuts and iron nails etc. and stacking the same within 60 metres from the site of work as per direction of the Engineer-in-charge.	44.50	Metre	Metre	8.50	378.00
13	Cutting bullah piles of any size above bed level and stacking the same within 60 m from the site of work as per direction of Engineer-in-charge.	18.00	Each	Each	9.20	166.00
12	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	30.60	Cum	Cum	76.70	2347.00

RUPEES ONE LAKH SIXTY EIGHT THOUSAND THREE HUNDRED THIRTY TWO ONLY

Burn

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent Repair of wooden bridge over Kharichak Khal at Kurkalas Jelepara under Jassar(I) Section of Panskura (I) Sub-Division no - I under East Midnapore Division

SL No.

15

1) Amount put to Tender:- Rs
2) Earnest Money:- Rs
3646.00
3) Time allowed for completion:
30 days

3) Time :	allowed for completion:	30 days							
Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount (Rs)			
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.								
	(d) 20.00 cm. Av. Diametre.	84.00	Metre	Metre	284.30	23881.00			
	(c) 15.00 cm. Av. Diametre.	30.00	Metre	Metre	185.60	5568.00			
2	Extra rate over item no.1 above for length above 6 metre.	48.00	Metre	Metre	122.20	5866.00			
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.								
	(i) Where boats are not necessary.								
	(b) 17.50cm to 20 cm Av. Diametre.	54.80	Metre	Metre	82.40	4516.00			
	(a) 10cm to 15 cm Av. Diametre.	21.00	Metre	Metre	65.90	1384.00			
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.								
	(a) Above 12.50 cm & up to 15.00 cm.	89.00	Metre	Metre	78.80	7013.00			
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).								
	Local hard wood of approved variety.	3.08	Cum	Cum	36969.10	113865.00			
6	Extra rate for planking 5 cm in thickness or below in item no. 5	1.75	Cum	Cum	1172.40	2052.00			
7	Coal tarring with 5% pitch including cost of all materials complete.								
	(b) Two coats.	186.08	Sqm	Sqm	26.80	4987.00			
8	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	24.65	Kg	Kg	78.20	1928.00			
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	5617.00			
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)								
	(i) Where boats are not necessary	119.00	Metre	Metre	6.30	750.00			
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	34.00	Metre	Metre	19.30	656.00			

					TOTAL=	182302.00
15	Taking out and carriage of old unserviceble wood collect from old wooden bridge into departmental godown etc.	3.08	Cum	Cum	425.40	1310.00
14	Taking out bullah wailing pieces after removing bolts, nuts and iron nails etc. and stacking the same within 60 metres from the site of work as per direction of the Engineer-in-charge.	44.50	Metre	Metre	8.50	378.00
13	Cutting bullah piles of any size above bed level and stacking the same within 60 m from the site of work as per direction of Engineer-in-charge.	20.00	Each	Each	9.20	184.00
12	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	30.60	Cum	Cum	76.70	2347.00

RUPEES ONE LAKH EIGHTY TWO THOUSAND THREE HUNDRED TWO ONLY

(Zu)

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent Repair of slip ,ghogs, spot holes and raincut at Maraberia Bathanberia,Rain etcunder Jassar(I) Section of Panskura (I) Sub-Division no - I under East Midnapore Division "

SL No.

16

1) Amount put to Tender:- Rs
295422.00
2) Earnest Money:- Rs
5908.00
3) Time allowed for completion:

Para Cara Cara Cara Cara Cara Cara Cara	30 days				
Description of items	Quantit	ty	Unit	Rate	Amount (Rs)
Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1339.80	Metre	Metre	23.60	31619.00
Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
(i) Where boats are not necessary	803.88	Metre	Metre	6.30	5064.00
	174.00	Metre	Metre	19.30	3358.00
Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	104.24	Cum	Cum	138.90	14479.00
Extra rate in Item no. 1.08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.	104.24	Cum	Cum	20.70	2158.00
Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1294.00	Each	Each	5.00	6470.00
Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1294.00	Each	Each	6.30	8152.00
Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	1000.00	Cum	Cum	7.30	7300.00
Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
(c) Brick bat (1st class)	113.56	Cum	Cum	1160.00	131730.00
(g) Moorum	58.45	Cum	Cum	540.00	31563.00
Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	76.08	Cum	Cum	131.70	10020.00
	Description of items Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre. Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length) Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge. Extra rate in Item no. 1.08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag. Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge. Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Enginee	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre. Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary Supplying, fitting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length) Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm grith, all cost of exavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge. Extra rate in Item no. 1.08 above for each additional lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge. C) Brick bat (1st class) (g) Moorum Labour for spreading and consolidating jhama metal/1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal/1st class Brick bats / laterite chelly and hire charg	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre. Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary 803.88 Metre Supplying, fitting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length) Earthwork, transporting the earth by manually operated theia/ van/ nicksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge. Extra rate in Item no. 1.08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. Supplying to site 2nd hand cement polly bags in accessible at site. Supplying to site 2nd hand cement polly bags in goad condition delivered and stacked (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg) cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling cost of thread included), as done in case of cement bags, (tying with a knot after filling cost of thread included), as done in case of cement bags, (tying with a knot after filling cost of thread included), as done in case of cement bags, (tying with a knot after filling cost of thread included), as done in case of cement bags, with all knots of earth with a minimal lead of 150 metres including cost of the Engineer-in-charge. Uprooting, clearing and cleaning all types of thick and thorny jungles, including present of the Engineer-in-charge. (b) Brick bat (1st class) Uprooting, clearing and cenaning all types of thord and thorny jungles, including present of the Engineer-in-charge. (c) Brick b	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.5 cm diametre. Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary Supplying, fiting, fixing with iron nails, half split bamboo on less than 5 cm, to be measured at mid length) Earthwork, transporting the earth by manually operated thela/ van/ noksaw etc. beyond the length of metres and upto 500 metre including removal of jungle and trees upto 30 metre including removal of jungle and trees upto 30 metre including removal of jungle and trees upto 30 metre including removal of jungle and trees upto 30 metre including removal of jungle and trees upto 30 metre including removal of jungle and trees upto 30 metre including removal of jungle and trees upto 30 metre and jungle means the stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge. Extra rate in Item no. 1.08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB- This lem is applicable only where the track tractors are not accessible at site. Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling polly bags in good condition delivered and stacked (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour charge for filling polly bags (capacity 50 kg). Labour that a capetal and palcing in position within an initial lead of 150 metres including cost of cost of a capetal and palcing in position within an initial lead of 150 metres including cost of loading, carriage upto 20 km, unloading and cost of coading, carriage upto 20 km	Supplying, dressing and stacking at site bandoo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre (exyment will be made for driven length only) (ii) Where boats are not necessary Supplying, filing, fixing with iron nails, half split bandoo pins (diametre to be measured at mid length only) (ii) Where boats are not necessary Supplying, filing, fixing with iron nails, half split bandoo willing plecas, (Olametre of bamboo relegit) (iii) Where boats are not necessary Supplying, filing, fixing with iron nails, half split bandoo willing plecas, (Olametre of bamboo relegit) Earthwork, transporting the earth by manually operated the lav van' nicksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of execvation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embaniments, orugh dressing accurating, unloading, stacking, placing the same or making embaniments, orugh dressing accurating, unloading, stacking, placing the same or making embaniments, orugh dressing accuration, and the same of the sa

11	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	43.84	Cum	Cum	86.10	3775.00
12	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials					
	(a) For a distance above 20 km and up to 50 km (per km).	58.45	Cum	Cum	285.00	16658.00
	(b) For a distance above 50 km and up to 100 km (per km).	58.45	Cum	Cum	394.80	23076.00
					TOTAL=	295422.00

RUPEES TWO LAKH NINETY FIVE THOUSAND FOUR HUNDRED TWENTY TWO ONLY

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent restoration to Damaged slip of Right Embankment of Durbachatti River near Brindabanchak Exjamindari Bandh (Das Para) Caused due to succesive heavy rainfall in last two Month at Block- Kolaghat under Khaniady (I) section under Panskura(I) Sub-division No.-II of East Midnapore Division.

SL No.

17

1) Amount put to Tender:- Rs
2) Earnest Money:- Rs
9279.00
3) Time allowed for completion:
30 days

Sl.No.	K TO K	30 days			Amount	
		Quanti	ty	Unit	Rate	(Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(c) 15.00 cm. Av. Diametre.	1380.00	Metre	Metre	Rs185.60	Rs256,128.0
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	1104.00	Metre	Metre	Rs65.90	Rs72,754.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
4	(a) Above 12.50 cm & up to 15.00 cm. Labour charge for filling polly bags (capacity 50)	304.00	Metre	Metre	78.80	23955.00
	kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	4886.00	Each	Each	6.30	30782.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	4886.00	Each	Each	5.00	24430.00
6	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	109.44	Cum	Cum	76.70	8394.00
7	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	164.16	Cum	Cum	138.90	22802.00

8	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	912.00	Metre	Metre	23.60	21523.00
9	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	501.60	Metre	Metre	6.30	3160.00
		_		_	Total	463928.00

RUPEES FOUR LAKH SIXTY THREE THOUSAND NINE HUNDRED TWENTY EIGHT ONLY

(Zin)

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on Right bank of Topa Khal from Keshapat Pirtala to Markandapur in G.P- Brindabanchak in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.

1) Amount put to Tender :- Rs

405943.00

2) Earnest Money :- Rs

8119.00

3) Time allowed for completion:

30 days

3) Time	allowed for completion:	30 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
_	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	42.28	Cum	Cum	1160.00	49045.00
2	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	28.33	Cum	Cum	131.70	3731.00
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	318.75	Cum	Cum	540.00	172125.00
4	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials				30 x 9.50	
	(a) For a distance above 20 km and up to 50 km (per km).	318.75	Cum	Cum	285.00 26 x 8.4	90844.00
	(b) For a distance above 50 km and up to 100 km (per km).	318.75	Cum	Cum	20 X 6.4 218.40	69615.00
5	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	239.06	Cum	Cum	86.10	20583.00
					TOTAL=	405943.00
			ONIV	<u> </u>	TOTAL-	

RUPEES FOUR LAKH FIVE THOUSAND NINE HUNDRED FORTY THREE ONLY

Executive Engineer East Midnapore Division (I & W.D.)

SL No.18

Tamluk Purba Medinipore.

Government of West Bengal Office of the Executive Engineer, East Midnapore Division,

<u>Irrigation & Waterways Directorate,</u>
<u>Tamluk :: Purba-Medinipur</u>

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on left bank of Topa Drainage Cut from Bardabar to Pulsita in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.

1) Amount put to Tender :- Rs

2) Earnest Money :- Rs

461339.00

9227.00

30 days

3) Time	allowed for completion:	30 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	45.20	Cum	Cum	1160.00	52432.00
2	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	30.28	Cum	Cum	131.70	3988.00
3	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	360.00	Cum	Cum	540.00	194400.00
4	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials				30 x 9.50	
	(a) For a distance above 20 km and up to 50 km (per km).	360.00	Cum	Cum	285.00 28 x 8.4	102600.00
	(b) For a distance above 50 km and up to 100 km (per km).	360.00	Cum	Cum	235.20	84672.00
5	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	270.00	Cum	Cum	86.10	23247.00
					TOTAL=	461339.00

RUPEES FOUR LAKH SIXTY ONE THOUSAND THREE HUNDRED THIRTY NINE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

SL No- 19

Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on left bank of Topa Drainage Cut from Jugidaha to Paramanandapur in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.

1) Amount put to Tender :- Rs 434129.00 2) Earnest Money :- Rs 8683.00

3) Time allowed for completion: 30 days

Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	51.48	Cum	Cum	1160.00	59717.00
2	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	34.49	Cum	Cum	131.70	4542.00
3	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	324.00	Cum	Cum	540.00	174960.00
4	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials				30 x 9.50	
	(a) For a distance above 20 km and up to 50 km (per km).	324.00	Cum	Cum	285.00 30 x 8.4	92340.00
	(b) For a distance above 50 km and up to 100 km (per km).	324.00	Cum	Cum	252.00	81648.00
5	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	243.00	Cum	Cum	86.10	20922.00
						434129.00

RUPEES FOUR LAKH THIRTY FOUR THOUSAND ONE HUNDRED TWENTY NINE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Barrer

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on left bank of Topa Drainage Cut from Pulsita to Paramanandapur in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.

1) Amount put to Tender :- Rs

465712.00 2) Earnest Money :- Rs 9314.00 30 days 3) Time allowed for completion:

Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	46.28	Cum	Cum	1160.00	53685.00
2	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	31.01	Cum	Cum	131.70	4084.00
3	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	360.00	Cum	Cum	540.00	194400.00
4	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials				30 x 9.50	
	(a) For a distance above 20 km and up to 50 km (per km).	360.00	Cum	Cum	285.00	102600.00
	(b) For a distance above 50 km and up to 100 km (per km).	360.00	Cum	Cum	29 x 8.4 243.60	87696.00
5	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	270.00	Cum	Cum	86.10	23247.00
					TOTAL	465712.00

RUPEES FOUR LAKH SIXTY FIVE THOUSAND SEVEN HUNDRED TWELVE ONLY

Executive Engineer East Midnapore Division (I & W.D.) Tamluk Purba Medinipore.

SL No.

21

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No.

22

Urgent repair of inspection Path caused due to succesive heavy rainfall in last two Month on Right bank of Topa Khal from Markandapur to Jodupur R.C.C. Bridge in G.P- Brindabanchak in P.S- Kolaghat under khaniady (I) Section of Panskura (I) Sub-Division No-II of E.M.D.

1) Amount put to Tender :- Rs

2) Earnest Money :- Rs

433284.00 8666.00

3) Time allowed for completion:

30 DAYS

<i>5)</i> Time (allowed for completion:			T	1	
Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount (Rs)
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	45.27	Cum	Cum	1160.00	52513.00
2	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	30.33	Cum	Cum	131.70	3994.00
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	337.50	Cum	Cum	540.00	182250.00
4	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials				30 x 9.50	
	(a) For a distance above 20 km and up to 50 km (per km).	337.50	Cum	Cum	285.00	96188.00
	(b) For a distance above 50 km and up to 100 km (per km).	337.50	Cum	Cum	27 x 8.4 226.80	76545.00
5	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75		Cum	Cum	86.10	21794.00
					TOTAL	433284.00

(Rupees Four LakhThirty Three Thousand Two Hundred Eighty Four only)

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Mauza - srikantha of left embankment

23

SL No.

Emergent restoration of slips on r/s and c/s damaged due to succesive heavy rainfall in last two Month Mauza - srikantha of left embankment of New cosyee near ex zamindary bundh(BHOUMIK PARA), Block and p.s.- Moyna under Dobandy (I) section under Panskura(I) Sub-division No.-II of East Midnapore Division, Tamluk.

1) Amount put to Tender:- Rs
2) Earnest Money:- Rs
1853.00
3) Time allowed for completion:
15 days

Time	anowed for completion.	15 days		1	1	
Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount (Rs)
1	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2829.00	Each	Each	6.30	17823.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1755.00	Metre	Metre	23.60	41418.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
4	(i) Where boats are not necessary	864.00	Metre	Metre	6.30	5443.00
5	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	185.00	Metre	Metre	Rs19.30	Rs3,571.00
6	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	72.00	Cum	Cum	76.70	5522.00
7	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	72.00	Cum	Cum	138.90	10001.00
8	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2829.00	Each	Each	5.00	14145.00
			1			97923

(Sm)

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent repair of Inspection Path from ch 12.50 KM (near battala) to ch 13.40 KM Left embankment of buxi khal Caused due to heavy rainfall in last two Month at mouza Murallchak for a length of 900 Mts in Block & PS Panskura, District Purba Medinipur.under Dobandy (I) Section of Pasnskura irrigation sub division no II of East Midnapur Division.

1) Amount put to Tender :- Rs

246881.00

2) Earnest Money :- Rs

4938.00

•		30 days				
Sl.No.	Description of items	Quantit	у	Unit	Rate	Amount (Rs)
1	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (f) Laterite boulder					
	(i) Each weighing 25 kg to 40 kg.	56.00	Cum	Cum	781.60	43770.00
2	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	168.75	Cum	Cum	540.00	91125.00
3	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	126.56	Cum	Cum	86.10	10897.00
4	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials					
	(a) For a distance above 20 km and up to 50 km (per km).	224.75	Cum	Cum	285.00	64054.00
	(b) For a distance above 50 km and up to 100 km (per km).	224.75	Cum	Cum	142.80	32094.00
5	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	37.52	Cum	Cum	131.70	4941.00
						040004.00
					TOTAL=	246881.00

RUPEES TWO LAKH FORTY SIX THOUSAND EIGHT HUNDRED EIGHTY ONE ONLY

(Sm)

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

SL No.

24

rrigation & Waterways Directors

<u>Tamluk :: Purba-Medinipur</u>

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent repair of top of embankment on Left bank of cosyee in bewteen CH 25.70 Km to 27.20 Km succesive heavy rainfall in last two Month at mouza Srirampur I in Block & P.S.-Tamluk under DOBANDY (I) SECTION of Panskura Sub Division no - II of East Midnapur Division.

SL No.

25

1) Amount put to Tender:- Rs
2) Earnest Money:- Rs
8535.00
3) Time allowed for completion:
30 days

	and we for completion t	30 days						
Sl.No.	Description of items	Quantit		Unit	Rate	Amount (Rs)		
1	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.							
	(g) Moorum	315.00	Cum	Cum	540.00	170100.00		
2	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75		Cum	Cum	86.10	20341.00		
3	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (f) Laterite boulder							
	(i) Each weighing 25 kg to 40 kg.	42.00	Cum	Cum	781.60	32827.00		
4	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials							
	(a) For a distance above 20 km and up to 50 km (per km).	357.00	Cum	Cum	285.00	101745.00		
	(b) For a distance above 50 km and up to 100 km (per km).	357.00	Cum	Cum	235.20	83966.00		
5	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	28.14	Cum	Cum	131.70	3706.00		
6	Dressing, levelling including mending damages of the rain cuts and pot holes (not exceeing 30 cm depth) to the embankment including nominal earthwork for cutting or filling etc. as per direction of the Engineer-in-charge.		Sqm	Sqm	7.70	1940.00		
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	257.00	Each	Each	6.30	1619.00		

					Total	426766.00
11	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	15.00	Cum	Cum	138.90	2084.00
10	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	40.00	Metre	Metre	Rs19.30	Rs772.00
9	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	168.00	Metre	Metre	6.30	1058.00
8	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	280.00	Metre	Metre	23.60	6608.00

RUPEES FOUR LAKH TWENTY SIX THOUSAND SEVEN HUNDRED SIXTY SIX ONLY

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No.

26

Emergent repair of Inspection Path on Right bank of cosyee in bewteen CH 26.00 Km to 27.50 Km Caused due to heavy rainfall in last two Month at mouza PURBA DOBANDY in P.S Moyna under DOBANDY (I) SECTION of Panskura Sub Division no - II of East Midnapur Division.

Amount put to Tender :- Rs
 Earnest Money :- Rs

444172.00 8883.00

3) Time allowed for completion:

3) Time	allowed for completion:	30 days				
Sl.No.	Description of items	Quantit	ty	Unit	Rate	Amount (Rs)
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	337.50	Cum	Cum	540.00	182250.00
	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	253.13	Cum	Cum	86.10	21794.00
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (f) Laterite boulder					
	(i) Each weighing 25 kg to 40 kg.	22.50	Cum	Cum	781.60	17586.00
	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials					
	(a) For a distance above 20 km and up to 50 km (per km).	360.00	Cum	Cum	285.00	102600.00
	(b) For a distance above 50 km and up to 100 km (per km).	360.00	Cum	Cum	235.20	84672.00
	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	15.08	Cum	Cum	131.70	1986.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	868.00	Each	Each	6.30	5468.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	14868.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	346.50	Metre	Metre	6.30	2183.00

12	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	868.00	each	each	5.00	4340.00
11	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	33.75	Cum	Cum	138.90	4688.00
9	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	90.00	Metre	Metre	Rs19.30	Rs1,737.00

RUPEES FOUR LAKH FORTY FOUR THOUSAND ONE HUNDRED SEVENTY TWO ONLY

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent restoration of slips on r/s and c/s damaged due to succesive heavy rainfall in last two Month at Mauza - kaloi ,basantachak of Right embankment of Kheri Buxi,Block and p.s.- Moyna under Dobandy (I) section under Panskura(I) Sub-division No.-II of East Midnapore Division.

93658.00

1873.00

1) Amount put to Tender :- Rs 2) Earnest Money :- Rs

15 days 3) Time allowed for completion:

Sl.No.	Description of items	Quanti	ity	Unit	Rate	Amount (Rs)
1	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	3257.00	Each	Each	6.30	20519.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1619.00	Metre	Metre	23.60	38208.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	864.00	Metre	Metre	6.30	5443.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	230.00	Metre	Metre	Rs19.30	Rs4,439.00
5	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	13.86	Cum	Cum	76.70	1063.00
6	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	55.44	Cum	Cum	138.90	7701.00
7	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3257.00	Each	Each	5.00	16285.00
	50 kg).				TOTAL=	

RUPEES NINETY THREE THOUSAND SIX HUNDRED FIFTY EIGHT ONLY

(San)

SL No.

27

NIT - No. 13/EMD/2017-18

SL No. 28

Schedule of items, quantities and rates for the work:-

Emergent Repair of slip caused due to succesive heavy rain fall during last two months near Manojit Civil work shop Over left bank river chandia in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
7309.00
3) Time allowed for completion :

) Time a	allowed for completion:	21 days				
Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(c) 15.00 cm. Av. Diametre.	55.00	Metre	 Metre	185.60	10208.00
	(d) 17.50cm. Av. Diametre.	287.00	Metre	Metre	228.20	65493.00
	(e) 20 cm. Av. Diametre.	328.00	Metre	Metre	284.30	93250.00
2	Extra rate over item no.1 above for length above 6 metre.	615.00	Metre	Metre	122.20	75153.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	44.00	Metre	Metre	65.90	2900.00
4	(b) 17.50cm to 20 cm Av. Diametre. Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.		Metre	Metre	82.40	43919.00
	(a) Above 12.50 cm up to 15.00 cm.	230.00	Metre	Metre	78.80	18124.00
5	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	315.00	Metre	Metre	23.60	7434.00
6	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	165.00	Metre	Metre	6.30	1040.00
7	Fitting, fixing bitumen drum sheet to bullah piling and wailing pieces including cutting straightening drum sheet fixing with country	65.00	Sqm	Sqm	305.90	19884.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	315.00	Cum	Cum	76.70	24161.00
9	Extra rate for earthwork in Item no.9 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				2x 7.7	
	One Extra Lead 50%	252.00	Cum	Cum	15.40	3881.00
					TOTAL=	365447.00

(Rupees Three Lakhs Sixty Five Thousand Four Hundred Forty Seven)only

Executive Engineer
East Midnapore Division (I & W.D.)
Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No. 29

Emergent protection of severe vertical slip at right bank of Pratapkhali khal near house of Manik Mondal at G.P.-Dakhin narikelda,Block-Nandakumar, under Sitalpur(I) section under Tamluk (I) Sub-Division of East Midnapur Division

Amount put to Tender :- Rs
 Earnest Money :- Rs

186676.00 3734.00

3) Time allowed for completion:

21 days

<i>3)</i> Time	anowed for completion:	21 days				
Sl.No.	Description of items	Quantit	у	Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(iv) 15.00 cm. Av. Diametre.	426.00	Metre	Metre	Rs185.60	Rs79,066.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	350.55	Metre	Metre	Rs65.90	Rs23,101.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above12.50 cm & upto 15 cm.	164.00	Metre	Metre	78.8	Rs12,923.00
4	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length	198.00	Metre	Metre	Rs23.60	Rs4,673.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	117.00	Metre	Metre	Rs6.30	Rs737.00
6	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	45.00	Metre	Metre	Rs19.30	Rs869.00
7	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2264.00	Each	Each	Rs5.00	Rs11,320.00
8	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2264.00	Each	Each	Rs6.30	Rs14,263.00
9	Extra rate in item no.7 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.				2x 2.3	
	Two Extra Lead	2264.00	Cum	Cum	4.60	10414.00

10	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	126.88	Cum	Cum	138.90	17624.00
11	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.		Cum	Cum	76.70	9732.00
12	Extra rate for earthwork in Item no. 10 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre. NB:- This item is applicable only where the Track/ Tractor are not accessible at site				2x 7.7	
	Two Extra Lead	126.88	Cum	Cum	15.40	1954.00
					TOTAL=	186676.00

(Rupees One Lakhs Eighty Six Thousand Six Hundred Seventy Six)only

(Qu)

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL NO-30

Emergent repairs to severely damaged Wooden Pile Bridge over Pratapkhali Khal near house of Gouranga Charan in P.S. +Block-- Nandakumar ,Mouza-Thekuachak under Sitalpur (I) Sub-Section of East Midnapur Division

1) Amount put to Tender :- Rs

211882.00

2) Earnest Money :- Rs

4238.00

3) Time allowed for completion:

21 days

<u> </u>	anowed for completion.	21 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(v) 20.00 cm. Av. Diametre.	120.00	Metre	Metre	Rs284.30	Rs34,116.00
	(iv) 15.00 cm. Av. Diametre.	36.00	Metre	Metre	Rs185.60	Rs6,682.00
	Extra rate over item no.1 above for length above 6 metre.	108.00	Metre	Metre	Rs122.20	Rs13,198.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(b) 17.50cm to 20 cm Av. Diametre.(a) 10cm to 15 cm Av. Diametre.	37.30 21.00	Metre Metre	Metre Metre	Rs82.40 Rs65.90	Rs3,074.00 Rs1,384.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.		IVICTIC	IVICTIC	1303.70	K81,304.00
	(a) Above 15 cm.	60.00	Metre	Metre	97.8	Rs5,868.00
	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).					
	Local hard wood of approved variety.	3.26928	Cum	Cum	36969.1	Rs120,862.00
_	Extra rate for planking 5 cm in thickness or below in item no. 5	1.9527	Cum	Cum	1172.4	Rs2,289.00
	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	25.20	Kg	Kg	78.2	Rs1,971.00
	Coal tarring with 5% pitch including cost of all materials complete.					
	(b) Two coats.	259.78	Sqm	Sqm	Rs26.80	Rs6,962.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length	198.00	Metre	Metre	Rs23.60	Rs4,673.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	117.00	Metre	Metre	Rs6.30	Rs737.00
	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	60.00	Metre	Metre	Rs19.30	Rs1,158.00
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).		Each	Each	Rs5.00	Rs1,450.00

13	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	290.00	Each	Each	Rs6.30	Rs1,827.00
14	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	73.42	Cum	Cum	76.70	5631.00
					TOTAL=	211882.00

(Rupees Two Lakhs Eleven Thousand Eight Hundred Eighty Two)only



Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Division, Tamluk.

Schedule of items, quantities and rates for the work:-

SL No. 31

Emergent restoration of slips on r/s and c/s damaged due to succesive heavy rainfall in last two Month at Mauza - Purba chilka of Left embankment of new cosyee, Block and p.s.- Panskura under Dobandy (I) section under Panskura(I) Sub-division No.-II of East Midnapore

1) Amount put to Tender :- Rs 91399.00 2) Earnest Money :- Rs 1879.00 15 DAYS 3) Time allowed for completion:

Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount (Rs)
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	3043.00	Each	Each	6.30	19171.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1614.80	Metre	Metre	23.60	38109.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	864.00	Metre	Metre	6.30	5443.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	265.00	Metre	Metre	Rs19.30	Rs5,115.00
6	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	13.20	Cum	Cum	76.70	1012.00
	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-in-charge.	52.80	Cum	Cum	138.90	7334.00
8	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3043.00	Each	Each	5.00	15215.00
					TOTAL=	91399.0

(Rupees Ninety One Thousand Three Hundred Ninety Nine)only

(Sal June)

Government of West Bengal

Office of the Executive Engineer, East Midnapore Division,

<u>Irrigation & Waterways Directorate,</u>
<u>Tamluk :: Purba-Medinipur</u>

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No. 32

Emergent Repair of slip caused due to succesive heavy rain fall at Kachi chak near Pankaj jana Cycle store over river chandia L/B at Paramanandapur G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,

1) Amount put to Tender :- Rs
261061.00
2) Earnest Money :- Rs
5221.00
3) Time allowed for completion :
21 days

Time a	allowed for completion:	21 days				
Sl.No.	Description of items	Quantit	 y	Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete. (c) 15.00 cm. Av. Diametre.	732.00	Metre	Metre	185.60	135859.00
	Labour for driving Eucalyptus bullah piles by	<i>1</i> 32.00	ivietre	ivietre	100.00	133859.00
	monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary. (a) 10cm to 15 cm Av. Diametre.	610.00	Metre	Metre	65.90	40199.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 12.50 cm & up to 15.00 cm.	180.00	Metre	Metre	78.80	14184.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	661.50	Metre	Metre	23.60	15611.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
6	(i) Where boats are not necessary Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity	315.00 2169.00	Metre Each	Metre Each	6.30 5.00	1985.00 10845.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2169.00	Each	Each	6.30	13665.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	340.20	Cum	Cum	76.70	26093.00
	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				2 x 7.7	

Two Extra Lead 50%	170.10	Metre	Metre	Rs15.40	2620.00
				TOTAL=	261061.00

RUPEES TWO LAKH SIXTY ONE THOUSAND SIXTY ONE ONLY

(Barrella)

<u>Tamluk :: Purba-Medinipur</u>

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

33

SL No.

Emergent Repair of slip caused due to succesive heavy rain fall at Jigirchak near Sahadev gharai house over river chandia L/B at Paramanandapur G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
7382.00
3) Time allowed for completion :
30 days

3) Time a	allowed for completion:	30 days				
Sl.No.	Description of items	Quantit	У	Unit	Rate	Amount (Rs)
_	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
_	(c) 15.00 cm. Av. Diametre.	1052.00	Metre	Metre	185.60	195251.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary. (a) 10cm to 15 cm Av. Diametre.		Metre	Metre	65.90	57773.00
3	Supplying and fitting fixing with iron nails, half				33.33	3.773.00
	split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
4	(a) Above 12.50 cm & up to 15.00 cm.	260.00	Metre	Metre	78.80	20488.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	22550.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	455.00	Metre	Metre	6.30	2867.00
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2959.00	Each	Each	5.00	14795.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2959.00	Each	Each	6.30	18642.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	456.30	Cum	Cum	76.70	34998.00
J	Extra rate for earthwork in Item no.8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				1 x 7.7	

One Extra Lead 50%	228.15	Metre	Metre	Rs7.70	1757.00
				TOTAL=	369121.00

RUPEES THREE LAKH SIXTY NINE THOUSAND ONE HUNDRED TWENTY ONE ONLY

(Zu)

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No. 34

Emergent Repair of slip caused due to succesive heavy rain fall at Chadebenia near Dukhoshyam Mondal house over river chandia L/B at Backcha G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
2698.00
3) Time allowed for completion :
21 days

3) Time a	allowed for completion:	21 days				
Sl.No.	Description of items	Quantit	ty	Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
_	(c) 15.00 cm. Av. Diametre.	366.00	Metre	Metre	185.60	67930.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary. (a) 10cm to 15 cm Av. Diametre.		Metre	Metre	65.90	20100.00
3	Supplying and fitting fixing with iron nails, half		1110010	1410010	33.30	_5100.00
•	split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 12.50 cm & up to 15.00 cm.	60.00	Metre	Metre	78.80	4728.00
4	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	7434.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	150.00	Metre	Metre	6.30	945.00
6	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1366.00	Each	Each	5.00	6830.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1366.00	Each	Each	6.30	8606.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	232.00	Cum	Cum	76.70	17794.00
	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				1 x 7.7	

One Extra Lead 50%	69.60	Metre	Metre	Rs7.70	536.00
				TOTAL=	134903.00

RUPEES ONE LAKH THIRTY FOUR THOUSAND NINE HUNDRED THREE ONLY

(33)

Government of West Bengal

Office of the Executive Engineer, East Midnapore Division,

Irrigation & Waterways Directorate, Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No. **35**

Urgent Re-Construction of wooden pile bridge over Moyna new cut channel at Kishore chak in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division

1) Amount put to Tender :- Rs

3) Time allowed for completion:

323054.00

2) Earnest Money :- Rs

6461.00 15 days

sizing and the other of above spectime rate of sidiametere of thicker end unloading, of thickere	driving Eucalyptus bullah piles by all sorts of soil including sharpening t, protection to top end including hire staging and all equipments. It to be made for the length actually driven to be made for the length actually driven to 20 cm Av. Diametre. In to 20 cm Av. Diametre. In the ditting fixing with iron nails, half ptus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. Is 00 cm.	50.00 202.00 90.00 35.00 92.00	Metre Metre Metre Metre Metre	Metre Metre Metre Metre Metre Metre	185.60 284.30 122.20 65.90 82.40	Amount (Rs) 9280.00 57429.00 10998.00 2307.00 7581.00
sizing and the other of above spectific the rate of sidiameters of thicker end unloading, of thicker end unloading, of the color of thicker end unloading, of the color of thicker end unloading, of thi	sharpening one end and dressing end for driving (bigger diametere ified size if supplied shall be paid at specified diameter). Measurement of of bullah will be at 1/3rd from the and without bark) including loading, carraige at site complete. In. Av. Diametre. In. Av. Diametre. In. Av. Diametre. In driving Eucalyptus bullah piles by all sorts of soil including sharpening the protection to top end including hire staging and all equipments. In to be made for the length actually driven to be made for the length actually driven to 20 cm Av. Diametre. In the 20 cm Av. Diametre. In the 20 cm Av. Diametre. In the difficulty fixing with iron nails, half optus Bullah wailing pieces and cross the thicker end as specified below for all materials and carriage to site the. Its.00 cm.	50.00 202.00 90.00 35.00 92.00	Metre Metre Metre	Metre Metre	284.30 122.20 65.90	57429.00 10998.00 2307.00
(e) 20.00 cm 2 Extra rate above 6 me 3 Labour for monkey in a driving point charges for NB:- Payment below ground. (i) Where be (a) 10cm to (b) 17.50cm 4 Supplying a split Eucalyy pieces with with cost of etc. complete (a) Above 1 5 Wood work rafters trust including coexcluding the cost of na measured under the cost of the cost o	over item no.1 above for length tre. driving Eucalyptus bullah piles by all sorts of soil including sharpening t, protection to top end including hire staging and all equipments. to be made for the length actually driven to 20 cm Av. Diametre. In to 20 cm Av. Diametre. In the ditting fixing with iron nails, half pus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. 15.00 cm.	202.00 90.00 35.00 92.00	Metre Metre Metre	Metre Metre	284.30 122.20 65.90	57429.00 10998.00 2307.00
2 Extra rate above 6 me above 9 monkey in a driving point charges for NB:- Payment below ground. (i) Where be above 10 me above 11 me above 12 me above 12 me above 13 me above 14 me above 15 me above 15 me above 16 me above 16 me above 17 me above 17 me above 18 me above 18 me above 18 me above 19 me	over item no.1 above for length tre. driving Eucalyptus bullah piles by all sorts of soil including sharpening t, protection to top end including hire staging and all equipments. to be made for the length actually driven to be made for the length actually driven to 20 cm Av. Diametre. In to 20 cm Av. Diametre. In the fitting fixing with iron nails, half prus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. 15.00 cm.	90.00 35.00 92.00	Metre	Metre Metre	122.20 65.90	2307.00
above 6 me 3 Labour for monkey in a driving point charges for NB:- Payment below ground. (i) Where be (a) 10cm to (b) 17.50cm 4 Supplying a split Eucalyppieces with with cost of etc. complete (a) Above 1 5 Wood work rafters trust including coexcluding the cost of na measured upon the cost of na measur	driving Eucalyptus bullah piles by all sorts of soil including sharpening t, protection to top end including hire staging and all equipments. It to be made for the length actually driven to 20 cm Av. Diametre. In to 20 cm Av. Diametre. In the fitting fixing with iron nails, half pus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. I.5.00 cm.	90.00 35.00 92.00	Metre	Metre	65.90	2307.00
monkey in a driving point charges for NB:- Payment below ground. (i) Where be (a) 10cm to (b) 17.50cm 4 Supplying a split Eucalyppieces with with cost of etc. complete (a) Above 1 5 Wood work rafters trust including coexcluding the cost of na measured under the cost of na	all sorts of soil including sharpening t, protection to top end including hire staging and all equipments. It to be made for the length actually driven to be made for the length actually driven to 20 cm Av. Diametre. In to 20 cm Av. Diametre. In the fitting fixing with iron nails, half plus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. Is.00 cm.	35.00 92.00				
(a) 10cm to (b) 17.50cm 4 Supplying a split Eucalyppieces with with cost of etc. complete (a) Above 1 5 Wood work rafters trustincluding coexcluding the cost of na measured under the cost of the c	15 cm Av. Diametre. In to 20 cm Av. Diametre. In to 20 cm Av. Diametre. In the fitting fixing with iron nails, half plus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. Is.00 cm.	92.00				
(b) 17.50cm Supplying a split Eucalyppieces with with cost of etc. complete (a) Above 1 Wood work rafters trust including coexcluding the cost of na measured under the cost of the cost	n to 20 cm Av. Diametre. and fitting fixing with iron nails, half ptus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. 15.00 cm.	92.00				
Supplying a split Eucalyppieces with with cost of etc. complet (a) Above 1 Wood work rafters trustincluding coexcluding the cost of na measured under the cost of	and fitting fixing with iron nails, half ptus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te.		Metre	Metre	82.40	7581.00
split Eucalyppieces with with cost of etc. complete (a) Above 1 5 Wood work rafters trust including coexcluding the cost of na measured under the cost of the cos	ptus Bullah wailing pieces and cross the thicker end as specified below f all materials and carriage to site te. 15.00 cm.					
Wood work rafters trus including coexcluding the cost of na measured under the cost of the		85 00				
rafters trus including co excluding the cost of na measured u Local hard	va in baama hurahaa daak naata	55.50	Metre	Metre	97.80	8313.00
Local hard	in beams, burghas, deck posts, sses, purlins etc fitted & fixed ost of materials, hoisting complete he cost of bolts only but including ils etc. (The quantum should be upto three decimals).					
6 Extra rate	wood of approved variety.	5.540	Cum	Cum	37464.90	207556.00
below in iter	for planking 5 cm in thickness or m no. 5	3.080	Cum	Cum	1172.40	3611.00
	fitting & fixing at site MS bolts and ecessary washers.	42.00	Kg	Kg	78.20	3284.00
8 Coal tarring materials co	with 5% pitch including cost of all omplete.					
(a) One coa	its.	398.22	Sqm	Sqm	16.70	6650.00
bamboo pin length	dressing and stacking at site is (diametre to be measured at mid cm to 7.50 cm diametre.		Metre	Metre	23.60	4857.00
-	nboo pins of average 5 cm to 7.5 cm payment will be made for driven					
(i) Where bo		102.90	Metre	Metre	6.30	648.00
bamboo wa	oats are not necessary					
1	oats are not necessary fiting, fixing with iron nails, half split ailing pieces. (Diametre of bamboo an 5 cm, to be measured at mid		Metre	Metre	19.30	540.00

(Day Ton

NIT - No. 13/EMD/2017-18

SL No. 36

Schedule of items, quantities and rates for the work:-

Urgent Re-Construction of wooden pile bridge over Moyna new cut channel at Lalugeria in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
6457.00
3) Time allowed for completion :

	1				TOTAL=	322873.00
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	27.20	Metre	Metre	19.30	525.00
	length only) (i) Where boats are not necessary	95.20	Metre	Metre	6.30	600.00
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven					
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	190.40	Metre	Metre	23.60	4493.00
8	Coal tarring with 5% pitch including cost of all materials complete. (a) One coats.	398.22	Sqm	Sqm	16.70	6650.00
7	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	42.00	Kg	Kg	78.20	3284.00
6	Extra rate for planking 5 cm in thickness or below in item no. 5	3.290	Cum	Cum	1172.40	3857.00
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals). Local hard wood of approved variety.	5.540	Cum	Cum	37464.90	207556.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete. (a) Above 15.00 cm.	85.00	Metre	Metre	97.80	8313.00
	(b) 17.50cm to 20 cm Av. Diametre.	92.00	Metre Metre	Metre Metre	82.40	7581.00
	(i) Where boats are not necessary. (a) 10cm to 15 cm Av. Diametre.	35.00	Motro	Motro	65.90	2307.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
2	Extra rate over item no.1 above for length above 6 metre.	90.00	Metre	Metre	122.20	10998.00
	(c) 15.00 cm. Av. Diametre. (e) 20.00 cm. Av. Diametre.	50.00 202.00	Metre Metre	Metre Metre	185.60 284.30	9280.00 57429.00
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	Description of items	Quanti	ity	Unit	Rate	Amount (Rs)

RUPEES THREE LAKH TWENTY TWO THOUSAND EIGHT HUNDRED SEVENTY THREE ONLY



Government of West Bengal Office of the Executive Engineer, East Midnapore Division,

Irrigation & Waterways Directorate,
Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

3) Time allowed for completion:

Schedule of items, quantities and rates for the work:-

SL No.

37

Urgent Re-Construction of wooden pile bridge over River chandia at Naratha in P.S. Pingla of Dist-Paschim Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division

468239.00

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs

9365.00 21 days

· ,	anowed for completion.					
Sl.No.	Description of items	Quantit	у	Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(c) 15.00 cm. Av. Diametre.	110.00	Metre	Metre	185.60	20416.00
	(e) 20.00 cm. Av. Diametre.	286.00	Metre	Metre	284.30	81310.00
2	Extra rate over item no.1 above for length above 6 metre.	198.00	Metre	Metre	122.20	24196.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	77.00	Metre	Metre	65.90	5074.00
	(b) 17.50cm to 20 cm Av. Diametre.	128.00	Metre	Metre	82.40	10547.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
5	(a) Above 15.00 cm. Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).	187.00	Metre	Metre	97.80	18289.00
	Local hard wood of approved variety.	7.239	Cum	Cum	37464.90	271208.00
6	Extra rate for planking 5 cm in thickness or below in item no. 5	4.365	Cum	Cum	1172.40	5118.00
7	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	53.20	Kg	Kg	78.20	4160.00
8	Coal tarring with 5% pitch including cost of all materials complete.					
	(a) Two coats.	579.40	Sqm	Sqm	16.70	9676.00
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	346.50	Metre	Metre	23.60	8177.00
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
<i>a a</i>	(i) Where boats are not necessary	173.25	Metre	Metre	6.30	1091.00
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	90.00	Metre	Metre	19.30	1737.00
12	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	362.00	Each	Each	5.00	1810.00

					TOTAL=	468239.00
14	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	41.06	Cum	Cum	76.70	3149.00
13	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	362.00	Each	Each	6.30	2281.00

RUPEES FOUR LAKH SIXTY EIGHT THOUSAND TWO HUNDRED THIRTY NINE ONLY

(Bin)

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

38

Emergent repair of slip caused due to succesive heavy rain fall at Sudampur over river chandia L/B at Ramchak G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapore Division

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
3443.00

	allowed for completion:	21 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(c) 15.00 cm. Av. Diametre.	492.00	Metre	Metre	185.60	91315.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	410.00	Metre	Metre	65.90	27019.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				33.33	
4	(a) Above 12.50 cm up to 15.00 cm.	120.00	Metre	Metre	78.80	9456.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	10408.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary Supplying to site 2nd hand cement polly bags in	210.00	Metre	Metre	6.30	1323.00
-	good condition delivered and stacked (capacity 50 kg).		Each	Each	5.00	7230.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1446.00	Each	Each	6.30	9110.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	202.50	Cum	Cum	76.70	15532.00
_	Extra rate for earthwork in Item no. 1.01 to 1.04 above for each additional lead of 30 metres or				1 77	
	part there of beyond the initial lead of 30 metre.				1 x 7.7	

TOTAL= 172173.00

RUPEES ONE LAKH SEVENTY TWO THOUSAND ONE HUNDRED SEVENTY THREE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No. 39

Schedule of items, quantities and rates for the work:-

Emergent repair of slip caused due to succesive heavy rain fall at Arongkiarana Over river chandia R/B at Backcha G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,

1) Amount put to Tender:- Rs
276776.00
2) Earnest Money:- Rs
5536.00
3) Time allowed for completion:
30 days

Sl.No.	Description of items	30 days				
S1.1NU.	Description of items	Quanti	ity	Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(c) 15.00 cm. Av. Diametre.	738.00	Metre	Metre	185.60	136973.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	615.00	Motro	Motro	65.00	40520.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.		Metre	Metre	65.90	40529.00
4	(a) Above 12.50 cm up to 15.00 cm.	180.00	Metre	Metre	78.80	14184.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	Rs20,815.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary Supplying to site 2nd hand cement polly bags in	462.00	Metre	Metre	6.30	Rs2,911.00
	good condition delivered and stacked (capacity 50 kg). Labour charge for filling polly bags (capacity 50	2732.00	Each	Each	5.00	13660.00
	kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2732.00	Each	Each	6.30	17212.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.		Cum	Cum	76.70	29315.00
,	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				1 x 7.7	
			1	Ī		1

TOTAL= 276776.00

RUPEES TWO LAKH SEVENTY SIX THOUSAND SEVEN HUNDRED SEVENTY SIX ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No. Schedule of items, quantities and rates for the work:-

40

Emergent Repair of slip caused caused due to to succesive heavy rain fall at Naratha over river chandia R/B, C/S at Baghnabar G.P in P.S. Pingla of Dist-Paschim Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,

385489.00

1) Amount put to Tender :- Rs 2) Earnest Money :- Rs

Sl.No.	Description of items					Amount
100		Quant	ity	Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(c) 15.00 cm. Av. Diametre.	402.00	Metre	Metre	185.60	74611.00
	(b) 17.50cm. Av. Diametre.	469.00	Metre	Metre	228.20	107026.00
2	Extra rate over item no.1 above for length above 6 metre.	469.00	Metre	Metre	122.20	57312.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	335.00	Metre	Metre	65.90	22077.00
	(b) 17.50cm to 20 cm Av. Diametre.	335.00	Metre	Metre	82.40	27604.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 12.50 cm up to 15.00 cm.	302.00	Metre	Metre	78.80	23798.00
5	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	735.00	Metre	Metre	23.60	Rs17,346.00
6	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
7	(i) Where boats are not necessary Supplying to site 2nd hand cement polly bags in	350.00	Metre	Metre	6.30	Rs2,205.00
-	good condition delivered and stacked (capacity 50 kg).	2143.00	Each	Each	5.00	10715.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2143.00	Each	Each	6.30	13501.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	347.08	Cum	Cum	76.70	26621.00

Extra rate for earthwork in Item no.9 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				2 x 7.7	
Two Extra Lead 50%	173.54	Metre	Metre	Rs15.40	2673.00
				TOTAL=	385489.00

RUPEES TWO THOUSAND SIX HUNDRED SEVENTY THREE ONLY

(ST)

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

SL No. 41

Emergent Repair of slip caused due to succesive heavy rain fall at Jigirchak near Tarapada Santra Over river chandia L/B at Gukulnagar G.P in P.S. Moyna of Dist-Purba Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East Midnapur Division,

1) Amount put to Tender:- Rs
2) Earnest Money:- Rs
8531.00
3) Time allowed for completion:
40 days

	ano wear of completion t	40 days				
Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					(Rs)
	(c) 15.00 cm. Av. Diametre.	498.00	Metre	Metre	185.60	92429.00
	(b) 17.50cm. Av. Diametre.	441.00	Metre	Metre	228.20	100636.00
2	Extra rate over item no.1 above for length above 6 metre.	441.00	Metre	Metre	122.20	53890.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(i) Where boats are not necessary.					
	(a) 10cm to 15 cm Av. Diametre.	415.00	Metre	Metre	65.90	27349.00
	(b) 17.50cm to 20 cm Av. Diametre.	409.50	Metre	Metre	82.40	33743.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 12.50 cm up to 15.00 cm.	374.00	Metre	Metre	78.80	29471.00
5	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	911.40	Metre	Metre	23.60	21509.00
6	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
7	(i) Where boats are not necessary Supplying to site 2nd hand cement polly bags in	434.00	Metre	Metre	6.30	2734.00
	good condition delivered and stacked (capacity 50 kg).	2823.00	Each	Each	5.00	14115.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2823.00	Each	Each	6.30	17785.00
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	408.17	Cum	Cum	76.70	31307.00

	One Extra Edda 6070	204.09	Metre	Metre	7.70 TOTAL=	1571.00 426539.00
	One Extra Lead 50%	204.00	Natro	Natro	7 70	4574.00
	of beyond the initial lead of 30 metre.					
	each additional lead of 30 metres or part there				1 x 7.7	
9	Extra rate for earthwork in Item no.9 above for					

RUPEES FOUR LAKH TWENTY SIX THOUSAND FIVE HUNDRED THIRTY NINE ONLY

Barrey

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent Repair of slip caused due to succesive heavy rain fall at Bhemuya near Mantu das house Over river chandia R/B, R/S at Bhemuya G.P in P.S. Sabang of Dist-Paschim Medinipur under Paramanandapur (I) Section of Investigation Sub-Division, East midnapur division,

SL No.

42

1) Amount put to Tender :- Rs 2) Earnest Money :- Rs

440043.00 8801.00

3) Time	allowed for completion:	40 days						
Sl.No.	Description of items	Quanti	ty	Unit	Rate	Amount (Rs)		
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.							
	(c) 15.00 cm. Av. Diametre.	444.00	Metre	Metre	185.60	82406.00		
	(b) 17.50cm. Av. Diametre.	518.00	Metre	Metre	228.20	118208.00		
_	Extra rate over item no.1 above for length above 6 metre.		Metre	Metre	122.20	63300.00		
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.							
	(i) Where boats are not necessary.							
	(a) 10cm to 15 cm Av. Diametre.	370.00	Metre	Metre	65.90	24383.00		
	(b) 17.50cm to 20 cm Av. Diametre.	481.00	Metre	Metre	82.40	39634.00		
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.							
	(a) Above 12.50 cm up to 15.00 cm.	358.00	Metre	Metre	78.80	28210.00		
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	19081.00		
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)							
	(i) Where boats are not necessary	385.00	Metre	Metre	6.30	2426.00		
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).		Each	Each	5.00	12965.00		
8	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	2593.00	Each	Each	6.30	16336.00		
	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	410.85	Cum	Cum	76.70	31512.00		

					TOTAL=	440043.00
	One Extra Lead 50%	205.43	Metre	Metre	7.70	1582.00
	of beyond the initial lead of 30 metre.					
	each additional lead of 30 metres or part there				1 x 7.7	
9	Extra rate for earthwork in Item no.9 above for					

RUPEES FOUR LAKH FORTY THOUSAND FORTY THREE ONLY

(Za)

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No. Schedule of items, quantities and rates for the work:-

Emergent Restoration of top depression of Right embankment of Denan Khal damaged due to successive heavy rain fall in last two Month including repairs of Inspection Path from Denan to Mohisgote RCC bridge under Denan Section of Panskura (I) Sub-Division no - I of East Midnapore Division "

43

383305.00 1) Amount put to Tender :- Rs 2) Earnest Money :- Rs 7666.00 3) Time allowed for completion: 45 days

3) Time (allowed for completion:	45 days			T	
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	160.00	Cum	Cum	1160.00	185600.00
	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	107.20	Cum	Cum	131.70	14118.00
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	128.00	Cum	Cum	540.00	69120.00
	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	96.00	Cum	Cum	86.10	8266.00
	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials				30 x 9.50	
	(a) For a distance above 20 km and up to 50 km (per km) i.e30 km Extra	128.00	Cum	Cum	285.00	36480.00
	(b) For a distance above 50 km and up to 100 km (per km) i.e 28 km Extra	128.00	Cum	Cum	26 x 8.4 235.20	30106.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	436.50	Metre	Metre	23.60	10301.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	326.00	Metre	Metre	6.30	2054.00
	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	60.00	Metre	Metre	19.30	1158.00

9	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough	139.50	Cum	Cum	76.70	10700.00
	dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.					
10	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1363.00	Each	Each	5.00	6815.00
11	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1363.00	Each	Each	6.30	8587.00
					TOTAL=	383305.00

RUPEES THREE LAKH EIGHTY THREE THOUSAND THREE HUNDRED FIVE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Emergent Restoration of to depression of Left embankment of Denan khal damaged due to sussive heavy rain fall in last two Month including repair of Inspection path from Faridbahala to Bagur under Denan Section of Panskura (I) sub division no-1 of East Midnapur Division

44

1) Amount put to Tender :- Rs
260409.00
2) Earnest Money :- Rs
5208.00
3) Time allowed for completion :
30 days

3) Time	allowed for completion:	30 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	100.00	Cum	Cum	1160.00	116000.00
2	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	67.00	Cum	Cum	131.70	8824.00
3	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	85.00	Cum	Cum	540.00	45900.00
4	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75		Cum	Cum	86.10	5489.00
5	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials				30 x 9.50	
	(a) For a distance above 20 km and up to 50 km (per km) i.e30 km Extra	85.00	Cum	Cum	285.00	24225.00
	(b) For a distance above 50 km and up to 100 km (per km) i.e 30 km Extra	85.00	Cum	Cum	30 x 8.4 252.00	21420.00
6	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	546.00	Metre	Metre	23.60	12886.00
7	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	409.50	Metre	Metre	6.30	2580.00
8	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)		Metre	Metre	19.30	1505.00

9	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	118.125	Cum	Cum	76.70	9060.00
10	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1108.00	Each	Each	5.00	5540.00
11	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1108.00	Each	Each	6.30	6980.00
					TOTAL=	260409.00

RUPEES TWO LAKH SIXTY THOUSAND FOUR HUNDRED NINE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No. Schedule of items, quantities and rates for the work:-

Emergent Restoration of top depression of Left embankment Denan Khal damaged due to successive heavy rain fallin last two Month Including repairs of inspection path from Manthergachia Jalapara to Football ground in Denan Section of Panskura (I) Sub-Division no - I under **East Midnapore Division "**

45

307312.00 1) Amount put to Tender :- Rs 2) Earnest Money :- Rs 6146.00 30 days 3) Time allowed for completion:

3) Time a	allowed for completion:	30 days				
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	120.00	Cum	Cum	1160.00	139200.00
	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	80.40	Cum	Cum	131.70	10589.00
	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	102.00	Cum	Cum	540.00	55080.00
	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	76.50	Cum	Cum	86.10	6587.00
	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (a) For a distance above 20 km and up to 50 km (per km) i.e30 km Extra		Cum	Cum	30 x 9.50 285.00	29070.00
					29x 8.4	
	(b) For a distance above 50 km and up to 100 km (per km) i.e 29 km Extra	102.00	Cum	Cum	243.60	24847.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	13877.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
-	(i) Where boats are not necessary	441.00	Metre	Metre	6.30	2778.00
	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	84.00	Metre	Metre	19.30	1621.00

9	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	132.750	Cum	Cum	76.70	10182.00
10	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1193.00	Each	Each	5.00	5965.00
11	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1193.00	Each	Each	6.30	7516.00
					TOTAL=	307312.00

RUPEES THREE LAKH SEVEN THOUSAND THREE HUNDRED TWELVE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No. Schedule of items, quantities and rates for the work:-

Urgent Restoration to top depression with repairs of Inspection Path of Left embankment Denan Khal from Manthergachia RCC bridge to Football ground damaged due to successive heavy rain fall in last two Month in Denan Section of Panskura (I) Sub-Division no - I under East Midnapore Division "

46

310905.00 1) Amount put to Tender :- Rs 2) Earnest Money :- Rs 6218.00 30 days 3) Time allowed for completion:

	T		1	T	T	1
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(c) Brick bat (1st class)	120.00	Cum	Cum	1160.00	139200.00
2	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with Power roller true to line and camber including carriage, cost of all materials (bat excludy cast of Jhama metal 1st class Brick bat/Laterite chelg) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	80.40	Cum	Cum	131.70	10589.00
3	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge.					
	(g) Moorum	102.00	Cum	Cum	540.00	55080.00
4	Labour for spreading moorum to proper level including hand packing and consolidation by hand roller / power roller of specified thickness in layer after watering etc. complete with necessary earthen soulder as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.75	76.50	Cum	Cum	86.10	6587.00
5	Extra rate over carriage of sand, moorum, boulder, stone metal, stone chips, gravel, slag metal, shingle and similar materials (a) For a distance above 20 km and up to 50				30 x 9.50	
	km (per km) i.e30 km Extra	102.00	Cum	Cum	285.00 29x 8.4	29070.00
	(b) For a distance above 50 km and up to 100 km (per km) i.e 29 km Extra	102.00	Cum	Cum	243.60	24847.00
6	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	644.00	Metre	Metre	23.60	15198.00
7	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	483.00	Metre	Metre	6.30	3043.00
8	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	92.00	Metre	Metre	19.30	1776.00

9	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	140.250	Cum	Cum	76.70	10757.00
10	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	1306.00	Each	Each	5.00	6530.00
11	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	1306.00	Each	Each	6.30	8228.00
					TOTAL=	310905.00

RUPEES THREE LAKH TEN THOUSAND NINE HUNDRED FIVE ONLY

Executive Engineer East Midnapore Division (I & W.D.) Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

SL No. Schedule of items, quantities and rates for the work:-

47

Urgent renovation of Wooden Pile Bridge at Faridbahala ,Sagarbar G.P. over Denan Khal damaged due to successive heavy rainfall in last two Month in Denan Section under Panskura (I) Sub-division I of East Midnapur Divisionin

327970.00 1) Amount put to Tender :- Rs 6559.00 2) Earnest Money :- Rs 2) Time allowed for 30 days

3) Time a	allowed for completion:	30 days			T	
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(e) 20.00 cm. Av. Diametre.	192.00	Metre	Metre	284.30	Rs54,586.00
	(c) 15.00 cm. Av. Diametre.	30.00	Metre	Metre	185.60	Rs5,568.00
	Extra rate over item no. 1 above for length above 6 metre.	156.00	Metre	Metre	122.20	Rs19,063.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(ii) Where boats are necessary.					
	(b) 17.50cm to 20 cm Av. Diametre.	96.00	Metre	Metre	99.10	Rs9,514.00
	(a) 10cm to 15 cm Av. Diametre.	24.00	Metre	Metre	79.30	Rs1,903.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 15.00cm	152.00	Metre	Metre	97.80	Rs14,866.00
	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).					
	Local hard wood of approved variety.	4.98	Cum	Cum	37464.90	Rs186,575.00
	Extra rate for planking 5 cm in thickness or below in item no. 5	2.80	Cum	Cum	1172.40	Rs3,283.00
	Coal tarring with 5% pitch including cost of all materials complete.					
	(b) Two coats.	347.64	Sqm	Sqm	26.80	Rs9,317.00
_	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	49.30	Kg	Kg	78.20	Rs3,855.00
	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.		Metre	Metre	23.60	Rs7,434.00
	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
-	(i) Where boats are not necessary	157.50	Metre	Metre	6.30	Rs992.00
	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	50.00	Metre	Metre	Rs19.30	Rs965.00
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).		Each	Each	Rs5.00	Rs2,410.00

13	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	482.00	Each	Each	Rs6.30	3037.00
14	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	60.00	Cum	Cum	76.70	4602.00
					TOTAL=	327970.00

RUPEES THREE LAKH TWENTY SEVEN THOUSAND NINE HUNDRED SEVENTY ONLY

Executive Engineer

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18 Schedule of items, quantities and rates for the work:-

Urgent renovation of Wooden Pile Bridge at Rakshachak west Amalhanda- G.P. over Denan Khal damaged due to succeeive of heavy rain fall in last two Month in Denan Section under Panskura (I) Sub-Division No- I of East Midnapore Division".

SL No.

48

1) Amount put to Tender :- Rs

364536.00

2) Earnest Money :- Rs

7291.00

3) Time		30 days	_			
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(e) 20.00 cm. Av. Diametre.	212.00	Metre	Metre	284.30	Rs60,272.0
	(c) 15.00 cm. Av. Diametre.	30.00	Metre	Metre	185.60	Rs5,568.00
2	Extra rate over item no. 1 above for length above 6 metre.	156.00	Metre	Metre	122.20	Rs19,063.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(ii) Where boats are necessary.					
	(b) 17.50cm to 20 cm Av. Diametre.	106.00	Metre	Metre	99.10	Rs10,505.00
	(a) 10cm to 15 cm Av. Diametre.	24.00	Metre	Metre	79.30	Rs1,903.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 15.00cm	152.00	Metre	Metre	97.80	Rs14,866.00
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).					
	Local hard wood of approved variety.	5.73	Cum	Cum	37464.90	Rs214,674.00
6	Extra rate for planking 5 cm in thickness or below in item no. 5	3.23	Cum	Cum	1172.40	Rs3,787.00
7	Coal tarring with 5% pitch including cost of all materials complete.					
	(b) Two coats.	383.64	Sqm	Sqm	26.80	Rs10,282.00
8	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	56.34	Kg	Kg	78.20	Rs4,406.00
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	315.00	Metre	Metre	23.60	Rs7,434.00
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	157.50	Metre	Metre	6.30	Rs992.00
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	50.00	Metre	Metre	Rs19.30	Rs965.00
12	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	482.00	Each	Each	Rs5.00	Rs2,410.00

13	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	482.00	Each	Each	Rs6.30	3037.00
14	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	57.00	Cum	Cum	76.70	4372.00
					TOTAL=	364536.00

RUPEES THREE LAKH SIXTY FOUR THOUSAND FIVE HUNDRED THIRTY SIX ONLY

Executive Engineer

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

NIT - No. 13/EMD/2017-18

<u>SL No.</u>

Schedule of items, quantities and rates for the work:-

Urgent renovation of Wooden Pile Bridge at Sagarbar Jala para ,Sagarbar G.P. over Denan Khal damaged due to successive heavy rainfall in last two Month in Denan Section under Panskura (I) Sub-division I of East Midnapur Division".

49

1) Amount put to Tender :- Rs
2) Earnest Money :- Rs
6825.00
3) Time allowed for completion :
30 days

3) Time a		30 days			_	
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(e) 20.00 cm. Av. Diametre.	196.00	Metre	Metre	284.30	D ₀ 55 722 (
	(c) 15.00 cm. Av. Diametre.	30.00	Metre	Metre	185.60	Rs55,723.0 Rs5,568.0
2	Extra rate over item no. 1 above for length above 6 metre.	140.00	Metre	Metre	122.20	Rs17,108.0
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(ii) Where boats are necessary.					
	(b) 17.50cm to 20 cm Av. Diametre.	98.00	Metre	Metre	99.10	Rs9,712.00
	(a) 10cm to 15 cm Av. Diametre.	24.00	Metre	Metre	79.30	Rs1,903.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 15.00cm	152.00	Metre	Metre	97.80	Rs14,866.00
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).					
	Local hard wood of approved variety.	5.35	Cum	Cum	37464.90	Rs200,437.00
6	Extra rate for planking 5 cm in thickness or below in item no. 5	3.01	Cum	Cum	1172.40	Rs3,529.00
7	Coal tarring with 5% pitch including cost of all materials complete.					
	(b) Two coats.	361.86	Sqm	Sqm	26.80	Rs9,698.00
8	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	52.83	Kg	Kg	78.20	Rs4,131.00
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	304.92	Metre	Metre	23.60	Rs7,196.00
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary	152.46	Metre	Metre	6.30	Rs960.00
11	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)		Metre	Metre	Rs19.30	Rs934.00
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).		Each	Each	Rs5.00	Rs2,335.00

13	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	467.00	Each	Each	Rs6.30	2942.00
14	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	55.00	Cum	Cum	76.70	4219.00
					TOTAL=	341261.00

RUPEES THREE LAKH FORTY ONE THOUSAND TWO HUNDRED SIXTY ONE ONLY

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Tamluk :: Purba-Medinipur

NIT - No. 13/EMD/2017-18

Schedule of items, quantities and rates for the work:-

Urgent renovation of Wooden Pile Bridge at Uttar Sagarbar & Ghari para ,Sagarbar G.P. over Denan Khal damaged due to successive heavy rainfall in last two Month in Denan Section under Panskura (I) Sub-division I of East Midnapur Division".

SL No.

50

1) Amount put to Tender :- Rs 2) Earnest Money :- Rs

7349.00

367451.00

30 days 3) Time allowed for completion:

3) Time a		30 days	_		_	
Sl.No.	Description of items	Quantity		Unit	Rate	Amount (Rs)
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.					
	(e) 20.00 cm. Av. Diametre.	224.00	Metre	Metre	284.30	D ₀ 62 692 (
	(c) 15.00 cm. Av. Diametre.	30.00	Metre	Metre	185.60	Rs63,683.0 Rs5,568.0
2	Extra rate over item no. 1 above for length above 6 metre.	168.00	Metre	Metre	122.20	Rs20,530.0
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground.					
	(ii) Where boats are necessary.					
	(b) 17.50cm to 20 cm Av. Diametre.	112.00	Metre	Metre	99.10	Rs11,099.00
	(a) 10cm to 15 cm Av. Diametre.	24.00	Metre	Metre	79.30	Rs1,903.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.					
	(a) Above 15.00cm	192.00	Metre	Metre	97.80	Rs18,778.00
5	Wood works in beams, burghas, deck posts, rafters trusses, purlins etc fitted & fixed including cost of materials, hoisting complete excluding the cost of bolts only but including cost of nails etc. (The quantum should be measured upto three decimals).					
	Local hard wood of approved variety.	5.57	Cum	Cum	37464.90	Rs208,679.00
6	Extra rate for planking 5 cm in thickness or below in item no. 5	3.01	Cum	Cum	1172.40	Rs3,529.00
7	Coal tarring with 5% pitch including cost of all materials complete.					
	(b) Two coats.	395.10	Sqm	Sqm	26.80	Rs10,589.00
8	Supplying, fitting & fixing at site MS bolts and nuts with necessary washers.	52.83	Kg	Kg	78.20	Rs4,131.00
9	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	325.08	Metre	Metre	23.60	Rs7,672.00
10	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only)					
	(i) Where boats are not necessary Supplying fiting fixing with iron pails half split	162.54	Metre	Metre	6.30	Rs1,024.00
	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	51.60	Metre	Metre	Rs19.30	Rs996.00
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	498.00	Each	Each	Rs5.00	Rs2,490.00

13	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m³/ bag.	498.00	Each	Each	Rs6.30	3137.00
14	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-incharge.	47.50	Cum	Cum	76.70	3643.00
					TOTAL=	367451.00

RUPEES THREE LAKH SIXTY SEVEN THOUSAND FOUR HUNDRED FIFTY ONE ONLY

(Zim)

Executive Engineer

East Midnapore Division (I & W.D.)

Tamluk Purba Medinipore.

Issued to (Bidder):	
Postal Address with Contact No.	& e-mail

Price - Free of Cost

West Bengal Form No. 2911/2911(i)/2911 (ii) FOR WORKS OF TENDER VALUE

Above Rs. 0.10 lakh - Rs. 5.0 lakh / Above Rs. 5.0 lakh - Rs. 200.00 lakh/Above Rs. 200.00 lakh

Tender No. , Sl. No of 2017-18

TENDER AND CONTRACT FOR WORKS GENERAL RULES AND DIRECTIONS FOR GUIDANCE OF BIDDERS/CONTRACTORS

(A) Applicable for off-line tenders up to tender value of Rs. 5.0 Lakh

- 1. All work proposed for execution by contract will be notified in a form of invitation to tender posted in Departmental website www.wbiwd.gov.in and notice boards at public places signed by the Sub-Divisional Officer/Divisional Officer.
 - This form will state the work to be carried out, the date for submitting and opening of tenders as well as the time allowed for carrying out the work; also the amount of earnest money to be deposited with the tender, the amount of the security deposit to be deposited by the successful bidder and the percentage, if any, to be deducted from bills. Copies of the specification, design & drawings and other documents required in connection with the work, signed for the purpose of identification by the Sub-Divisional Officer/Divisional Officer shall also be open for inspection by the contractor at the office of the Sub-Divisional Officer/Divisional Officer during Office hours.
- 2. In the event of the tender being submitted by a firm, it must be signed separately by each members thereof, or, in the event of absence of any of the partners, it must be signed on his/her behalf by a person holding a power-of-attorney authorizing him/her to do so. Such power-of-attorney is to be produced with the tender, and in the case of a firm carried on by one member of a joint family; it must disclose that the firm is duly registered under the Indian Partnership Act.
- 3. Acceptance of measurements entered and bills raised on account of a work, when executed by a firm, must also be signed by the several partners, except where the contractors are described in their tender as a firm in which case the receipts must be signed in the name of the firm by one of the partners or by some other person having authority to give effectual receipt for the firm.
- 4. Any person who submits a tender shall fill up the usual printed form, stating at what rate he or she is willing to undertake the work. Tenders which propose any alteration in the work specified in the said form of invitation to tender, or in the time allowed for carrying out the work, or which contain any other conditions of any sort, will be liable to rejection. No single tender shall include more than one work, but contractors who wish to tender for two or more works shall submit a separate tender for each. Tenders shall have the name and number of the work to which they refer, written outside the sealed envelopes.
- 5. The Divisional Officer/Sub-Divisional Officer or his/her duly authorized assistant will open tenders in presence of intending contractors/bidders who may be present at the time, and will enter the bid amounts as percentage rates above or below or at par of the tender BOQ of several tenders in a comparative statement in a suitable form. In the event of a tender being accepted, a receipt shall thereupon be given to the contractor/bidder who shall thereupon for the purpose of identification, sign copies of specifications and other documents mentioned in the Rules. In the event of a tender

being rejected, the earnest money with such unaccepted tender shall be refunded within 10 days from the date on which the tender is decided, provided the contractor(s) present himself/herself before the Sub-divisional Officer/Divisional Engineer to take the earnest money refund.

- 6. The accepting authority reserves the right to reject any or all the tenders without assigning any reasons to the participating bidders and he/she will not be bound to accept either the lowest tender or any of the other tenders.
- 7. Receipt of an accountant or clerk for any money paid by the contractor/bidder will not be considered as an acknowledgement of payment to the Sub-Divisional Officer/Divisional Officer, and the contractor shall be responsible for ensuring that he/she procures a receipt signed by the Sub-Divisional Officer/Divisional Officer, or a duly authorized cashier.
- 8. The Memorandum of work tendered for, and the schedule of materials to be supplied by the executing Department at their supply/issue rates, shall be filled in and completed in the office of the Sub Divisional Officer / Divisional Officer before the tender form is issued. If a form is issued to an intending bidder/contractor without having been so filled in and completed, he/she shall request the office to have this done before he/she completes and delivers his/her tender.

(B) Applicable for e-tenders of value above Rs. 5.0 Lakh

- 1. All works of tender value above Rs.5.00 lakh proposed for execution through this contract document is to be notified and published in the form of notice inviting etender (e-NIT) in the designated official tender website of Government of West Bengal having URL https://wbtenders.gov.in, and uploaded simultaneously in the URL www.wbiwd.gov.in, the official website of Irrigation & Waterways Department. Thus the tender may be seen and downloaded by logging into the "e-procurement" link provided therein, digitally signed by the concerned Tender Inviting Authority and its corresponding abridged notice also published on the same date in the print media.
- 2. This e-Notice Inviting Tender (e-NIT) will state the work to be carried out, the date for encrypting (submitting) and decrypting (opening) of e-tenders, the time allowed for carrying out the work; amount of earnest money to be deposited with the e-tender; procedure for submission of EMD, amount of security to be furnished by the successful bidder/contractor, security/ performances security to be deducted from running account bills, copies of specifications, Bill of Quantities, design and drawings and any other document required in connection with the work, digitally signed for the purpose of identification by the Tender Inviting Authority.
- 3. Intending contractors/bidders are required to download the e-tender documents directly from the website stated above. Tender is required to be submitted on-line by the intending bidders by authorized e-Tokens provided as DSC. This is the only mode of e-submission of tender and document/s. All information posted in the website consisting of e-NIT, WB Form No. 2911(i)/2911(ii), Tender Bill of Quantities (BOQ), corrigenda notices and drawings etc. if any shall form a part of the e-tender. Details of procedure of submission have been explained under "General Terms & Conditions" and Annexure attached with the notice of e-tender (e-NIT).
- 4. All the documents uploaded by the Tender Inviting Authority forms an integral part of the tender contract/agreement. Contractors/bidders are required to upload the entire set of tender documents along with other related documents as asked for in the e-tender through the above website/s within the stipulated date and time as given in the e-NIT. Tenders are to be submitted in two folders at a time for each work, one being the 'Technical Proposal' and the other 'Financial Proposal'. The contractor/bidder shall carefully go through all the documents and prepare to upload the scanned documents in Portable Document Formats (PDF) in the designated link in the web portal as their Technical Bid. He/she needs to fill up the rates of items/percentage in the BOQ downloaded for the work in the designated cell and upload the same again in the designated link in the portal as their Financial Bid. Documents uploaded are virus scanned and digitally signed using the Digital Signature Certificate (DSC). Contractors/bidders should especially take note of all the addenda and corrigenda related to the e-tender and upload all of these documents also as a part of their tender document.

- 5. Documents uploaded by the contractors/bidders with all information & rates comprising Technical and Financial bids cannot be changed after last/end date for submission of the e-tender.
- 6. Deed of Consortium/Partnership Firm, and documents of their registration in the form of certified copy of 'Form No. VIII,' issued under the Indian Partnership Act, 1932 (Act-IX of 1932), IT, VAT clearances & PAN (Permanent Account Number) as per RBI guidelines/above Rs. 50,000/- may be compulsorily furnished for all contracts and all other statutory clearances defined in the e-NIT.
- 7. The tender evaluation and accepting authorities reserve the right to reject any or all the tenders without assigning any reasons and he/she will not be bound to accept either the lowest tender or any of the tenders.
- 8. Withdrawal of e-Tender once the bid has been submitted online and after passing of end date for submission which has been accepted for further processing is not allowed. EMD will be forfeited by the Government and the bidder/contractor penalized in terms of provisions in the notice of the tender.
- 9. Generally Bids will be valid for 120 days from the date of opening of the financial proposal. However, extension of bid validity may be suitably considered by the Tender Inviting Authority, if required, subject obtaining a written confirmation of the contractor/bidder (s) to that effect.

TENDER FOR WORKS

I/We on behalf of the Governor hereby tender for the execution of the work specified in the underwritten "Memorandum" within the time specified in such "Memorandum" at the rates specified therein, and in accordance, in all respects within the Rules contained in clauses 1 to 40 herein after, in all of the Annexed conditions of Contract, Additional rules of the contract and with such other materials as are provided for, by and in all other respects in accordance and with such conditions so far as applicable.

MEMORANDUM

(a) If several sub-works are included, they should be detailed in a separate list

(a) General description of work		
	•••••	
(b) Estimated cost put to Tender		Rs
(c) Earnest money Deposit		Rs.
(d) Security Deposit (including earnest money)		Rs
(e) Percentage, if any, to be deducted from bill (Rupees		Rs
(f) Time allowed for the work from date of writt commence		

Item No.	Item of Works	Unit	Per	Rate tendered		
				Rs.	P.	In Words

*Give particulars and numbers

Strike out (a) or (b) as applicable.

T Signature of Contractor before submission of tender

X Signature of Witness to contractor's signature

XX Signature of the Divisional Officer/AE on behalf of the Department.

> Security deposit

Prescribed percentage of tender value as EMD and balance is to be deducted from all progressive R/A bills totaling 10% of tendered value as actually done as Security/ Performance security.

Should this tender be accepted, I/we hereby agree to abide by and fulfill all of the terms and provisions of the said conditions of contract annexed hereto so far as applicable, or in default thereof to forfeit and pay to the Governor or his/her successions in office, the sums of money mentioned in the said conditions.

Dated the X Witness

Day of T 20

Address Occupation

The above tender is here by accepted by me for and on behalf of the Governor of the State of west Bengal

XX

Dated the

Day of

20

CONDITIONS OF CONTRACT

Clause 1. The person/persons whose tender may be accepted (hereinafter shall be called the contractor) shall 1(A) [within 10 days of receipt of 'Letter of Acceptance' (LoA) from the Tender Accepting Authority, deposit with the Sub-Divisional Officer (AE)/ Divisional Officer (EE), a sufficient sum, which together with the Earnest Money deposited by him/her with his/her tender, will make the full security/performance-security amounting to 10% of the tendered amount and in such a case, there shall be no further deductions from the progressive bills so long as value of work does not exceed the tendered amount] or, 1(B) [permit the Divisional officer at the time of making any payment to him for work done under the contract to deduct such sum which together with the Earnest Money already deposited and converted into security deposit, shall amount to 10% of the value of works executed at the material point of time and paid during the progressive running accounts bills, so that total deduction together with Earnest Money constitute 10% of the tendered value of work actually donel.

Provided, that always in the event of the contractor depositing a lump sum, by way of security deposit as contemplated at 1(A) above, and if, the sum so deposited together with the Earnest Money does not amount to 10% of the executed value of work, it shall be lawful for the Divisional Officer at the time of making payment for work done under the contract, to make the full 10(Ten) percent by deducting a sufficient sum from every such payment as last aforesaid.

Compensation of all other sums of money payable by the contractor to the Government under the terms of the contract may be deducted from the security deposit.

In case of excess/and supplementary work over the tendered amount, additional security @ of 10% of such additional amount are to be deposited for all such excess/ and supplementary works beyond the tendered amount before payment of final bill.

However, even through the earnest money deposited exceeds the prescribed percentage, due to reduction of tendered amount due to any reasons whatsoever, such additional earnest money shall be deemed to have been converted into security and further deductions from progressive bills shall be made, taking into consideration the enhanced component of earnest money is converted into security.

In case of tenders, where payment of additional performance guarantee have been specified in the tender notice (NIT), such guarantee deposited within the prescribed time, shall also be converted into security and deductions from progressive bills shall be made considering such guarantee in addition to the earnest money to ensure that the total security withheld by the Government including performance guarantee shall not exceed 10% of the tendered amount. All compensation or all other sums of money payable by the contractor to the Government under the terms of his/her contract may be deducted from, or paid by sale of a sufficient part of his/her security deposit, or from the interests arising there from, or from any sum which may be due or may become due to the contractor by the Government, on any account whatsoever, and in the event of his/her security deposit being reduced, by reason of any such deduction or sale as aforesaid, the contractor shall within ten days thereafter make good in appropriate mode, as decided by the Government as aforesaid, any sum or sums which may have been deducted from, or realized by sale of his/her security deposit or any part thereof.

In cases of all open tenders, for each contract work, an earnest money amounting to 2% of the estimated cost put to tender, so long as the estimated cost put to tender is up to Rs.25.00 crore and amounting to Rs. 50.00 lakh plus 10% of the excess of estimated cost over Rs.25.00 crore, in case where such estimated cost put to tender is beyond Rs.25.00 crore, will have to be deposited by all bidders, whether they are (a) bonafide contractors quoting for open e-tenders individually or as a combined unit, (b) outside State bonafide contractors, and (c) Unemployed Engineers' Co-operatives, except those otherwise exempted by the State Government on specific orders there for.

In case of excess works over the tendered amount, additional security is to be deposited for the amount of such excesses beyond the tendered amount as per prescribed rate, before payment of final bill in case of contractors opting for paying advance security and receiving payment against progressive bills without any deduction.

Security deduction will not normally be required for hiring of inspection vehicles and boats etc, supply of tools & plants, furniture and computer peripherals. Separate agreement may be required in those cases, particularly for consultancy and RFP for EPC, which shall be made in standard formats to be approved by the appropriate Government.

Clause 2. The time allowed for carrying out the work as entered in the tender shall be strictly observed by the contractor, and which shall be reckoned from the date on which the order to commence work is given to the contractor. The work shall throughout the stipulated period of the contract be proceeded with all due diligence. Time being deemed to be the essence of contract on the part of the contractor, the contractor shall be bound in all cases, to achieve the 'Milestones' as defined under Clause 5 and specified in the NIT into various 'Identifiable and quantifiable construction related stages' pertaining to the work. In the event of the contractor failing to comply with any of the conditions related to achieving the 'Milestones' within the specified time period prescribed for such 'Milestone' plus one month, he/she shall be liable to pay compensation.

If the contractor fails to commence and/or maintain required progress viz. Milestones defined in the Notice Inviting Tender over the total time allotted for its full completion and in terms of clause 5 or fails to complete the work and clear the site on or before the end of contract period or extended date of completion, he/she shall, without prejudice to any other rights or remedy available under the law on account of such breach, pay as agreed compensation to the implementing Department.

This will also apply to items or group of items for which a separate period of completion has been specified.

i. Compensation for delay of work: @ 2% (Two percent) of the tendered value of work arrived for each month of delay to be computed on per day basis subject to the

Compensation for delay

ceiling limit of security deposit already withheld or due to be withheld during imposition of the said clause and minimum payable compensation equivalent to the Earnest Money deposited (EMD).

Provided always, that the total amount of compensation for delay, to be paid under this clause shall not exceed 10 % of the tendered value of work or the tendered value of the item or group of items of the work, for which a separate period of completion is originally given.

Action when whole of security deposit is forfeited The amount of compensation may be adjusted or set-off against any sum payable to the Contractor under this contract, if the contractor catches up with the progress of work subsequently, part of full of the desired progress as per the contract in accordance with the decision of the Tender Accepting Authority, under powers delegated by appropriate Government to be communicated by the Engineer-in-Charge, the withheld amount shall be released. However, no interest, whatsoever, shall be payable on such withheld amount.

Contractor remains liable to pay compensation, if action is not taken under Clause 3 **Clause 3.** Subject to other provisions contained in this clause, the Engineer-in-charge with the prior approval of Tender Accepting Authority, may, without prejudice to his/her any other rights, remedy against the contractor in respect of any delay, inferior workmanship, any claims for damages and/or any other provisions of the contract or otherwise, and whether the date of completion has or has not been elapsed, by notice in writing, absolutely determine the contract in any of the following cases:

- i. If the contractor has been given by the Engineer-in-charge a notice in writing to rectify, reconstruct or replace any defective work or that work is being performed in an inefficient or otherwise improper or un-workman like manner, shall omit to comply with the requirements of such notice for a period of seven days thereafter;
- ii. If the contractor has without reasonable cause suspended the progress of work, or has failed to proceed with the work with due diligence so that, in the opinion of the Engineer-in-charge he/she will be unable to secure completion of the work by the schedule date for completion, and continues to do so after a notice of seven days in writing from the Engineer-in-charge;
- iii. If the contractor fails to complete the work within the stipulated date or the Milestones/items of work within individual dates of completion, if any, stipulated on or before such date(s) of completion and does not complete them or reach the defined Milestones within the period specified in the notice given in writing in that effect by the Engineer-in-charge;
- iv. If the contractor persistently neglects to carry out his/her obligations under the contract and/or commits default by not complying with any of the terms & conditions of the contract and does not remedy it, or take effective steps to remedy it, within seven days after a notice in writing is given to him/her in that effect by the Engineer-in- charge;
- v. If the contractor being an individual, or a firm, or any partner thereof, shall at any time be adjudged insolvent or have a 'Receiving Order' or Order for administration of his/her Estate made against him/her, or take any proceedings for liquidation or composition (other than a voluntary liquidation for the purpose of amalgamation or reconstruction) under any Insolvency Act for the time being in force, or make any conveyance or assignment of his/her effects or composition or arrangement for the benefit of his/her creditor or purport to do so, or if any application be made under Insolvency Act for the time being in force for the sequestration of his/her Estate, or if a trust deed is executed by him/her for benefit of his/her creditors;
- vi. If the contractor being a Company pass a resolution or the court delivers an order of judgement that the Company shall be wound up, or if a receiver or a manager on behalf of a creditor be appointed, or if a circumstance arise which entitle the Court or the creditor to appoint a receiver or a manager or which entitle the court to issue a winding up order;
- vii. If the contractor shall suffer an execution order being levied on his/her goods and allows it to be continued for a period of 21 days;
- viii. If the contractor assigns without prior written approval of the Tender Accepting Authority, transfers, sublets (engagement of labour on piece work basis or of labour with materials not to be incorporated in the work, shall not be deemed to

be subletting) or otherwise parts with or attempts to assign, transfer, sublet or otherwise parts with the entire work or any portion thereof without prior written approval of the Engineer-in-charge;

- ix. AND THEREFORE, the contractor has made himself/herself liable for action under any of the cases aforesaid, the Engineer-in-charge on behalf of the Government with the prior approval of Tender Accepting Authority, shall have the powers to adopt any of the following actions, as he/she may deem best suited to the interest of the Government:
 - a) To determine the contract as aforesaid, of which rescission notice in writing and costs to be recovered for works since executed subject to a minimum of the amount of Earnest Money deposited by the contractor under the hand of Engineer-in-charge, shall be the conclusive evidence. Upon such determination, the Earnest Money Deposit, Security Deposit already recovered for executed works and performance guarantee, if any under the contract shall be liable to be forfeited and shall be absolutely at the disposal of the Government.
 - b) After giving notice to the contractor to measure up the work executed and to take such whole or the balance or part thereof, as shall be un-executed out of his/her hands, and to give it to another contractor to complete the balance work. The contractor, whose contract is determined or rescind as above, shall not be allowed to participate in the tendering process for the balance work.
 - c) To employ labour paid by the implementing Department, and to supply materials, to carry out the works or any part of the work, debarring the contractor and debiting the cost of labour and price of materials (of the amount of which cost and price determined by certificate of the Engineer-in-Charge shall be final and conclusive against the contractor) and crediting him/her with the value of the work done, in all respects in the same manner and at the same rates as if it had been carried out by the contractor under the terms of his/her contract; the certificate of the Executive Engineer as to the value of the work done shall be final and conclusive against the contractor.

Contractors remains liable to pay compensation if action not taken under Clause 3 In the event of above course being adopted by the Engineer-in-charge, the contractor shall have no claim of compensation for any loss sustained by him/her by reason of his/her having purchased or procured any material or entered into any engagement or made any advances on any account or with a view to execute the work or the performance of the contract. In case, action is taken under any of the provisions aforesaid, the contractor shall not be entitled to recover or be paid any sum for any work thereof actually performed under this contract, unless and until the Engineer-in-charge has certified in writing that the performance of such work and value payable in respect thereof, and he/she shall only be entitled to be paid the value so certified.

Clause 3A. In case, the work cannot be started due to reasons not within the control of the contractor within $1/8^{th}$ (one eighth) of the stipulated time for completion of the work, which is accepted as a valid & justified reason by the Tender Accepting-Authority, either party viz. Contractor & the Engineer-in-Charge may close the contract with the approval of Tender Accepting Authority. In such an eventuality, the earnest money deposited and the security of the contractor shall be refunded, but no payment on account of interests, loss of profit or damages etc. shall be payable at all.

Clause 3B. In case of a continuing work cannot be completed due to reasons beyond the control of the contractor, like Force Majeure enumerated later under Clause 5.2, the contract may be terminated as stated in clause 3A above by the Engineer-in-Charge with the consent of the contractor and approval of the Tender Accepting Authority.

Clause 4. In cases in which any of the powers conferred upon the Engineer-in-Charge under Clause 3 hereof shall have become exercisable and the same had not been previously exercised. Non exercising thereof shall not constitute as a waiver of any of the conditions hereto, and such powers shall, not withstanding be exercisable in the event of any future case of default by the contractor, for which by any clause or clauses hereof, he/she is declared liable to pay compensation amounting to whole of his/her security deposit, and the liability of the contractor for past and future compensation shall remain unaffected. In the event of the Engineer-in-Charge putting in force either of the powers under ix (a) or (c) vested with him/her under the preceding clause, he/she may if he/she so desire, take possession of all or any tools & plant, materials and stores, in or upon the work, or the site thereof, or belonging to the contractor, or procured by him/her and intended to be used for execution of the

Power to take possession of or require removal of or sell Contractor's plant work, or any part thereof, paying or allowing for the same in account at the contract rates or in case of these not being applicable, at current market rates to be certified by the Engineer-in-Charge whose certificate thereof, shall be final and binding. Otherwise, the Engineer-in-Charge may deliver notice in writing to the contractor or his/her clerk, foreman or other authorized agent, requiring him/her to remove such tools & plant, materials or stores from the premises within a time to be specified in such notice; and in the event of the contractor failing to comply with any such requisition, the Engineer-in-Charge may remove them at the contractor's expense or sale them by public auction or private sale on account of the contractor and at his/her risk, in all respects, and the certificate of the Engineer-in-Charge as to the expense of any such removal, and the amount of the proceeds and expense of any such sale shall be final and conclusive against the contractor.

Extension of time

- Clause 5. The time allowed for execution of a work as specified in the 'Schedule of work' or in the extended time in accordance with the terms & conditions shall be the essence of the contract. Execution of work shall commence from such time period as mentioned in the said schedule, or from the date of handing over of the site to the contractor whichever is later. If the contractor commits default in commencing execution of the work as aforesaid within thirty days, without justifiable reasons included under Force Majeure or other such reasons beyond the control of the contractor, in which case to be reported within seven days by the contractor, considered valid and cogent by the Engineer-in-Charge, the Engineer-in-Charge shall after passing of thirty days from the date of scheduled commencement of work as per work order, with the prior approval of the tender accepting authority, without prejudice to any other rights to remedy available in law, be at liberty to apply clause 2 and subsequently clause 3 of the tender contract.
 - 5.1 As soon as possible after the contract is executed, signed and agreed, the contractor shall submit a 'Time and Progress Chart' for each broad activity (Milestone) and get it approved by the Engineer-in-charge. The chart shall be prepared in direct relation to the time slated in the Notice Inviting Tender (NIT) document, for completion of items or groups of items of the work. It shall indicate the forecast of the dates of commencement and completion of various trades of sections of the work. This may be amended, as necessary, by an agreement between the Engineer-in-charge and the contractor within the limitations of time imposed in the NIT document. Further, to ensure good progress during execution of work, the contractor shall in all cases, in which the time allowed for any work exceeds one month (save and except for special jobs for which a separate programme has been agreed upon) to complete the work as per defined 'Milestones' given in such 'Schedule of Work' defined clearly in the NIT itself into various Identifiable and quantifiable construction related stages' related with the type and nature of work, and that the 'total time' allowed for completion of the work' is to be broken up against achievement of those stages during the construction/ progress of work to ensure a periodic monitoring of progress and enable the contractor and the Engineer-in-Charge to take corrective measures from time to time.
 - 5.2 If the work(s) be delayed by:
 - Force majeure, due to war, internal emergency and other conditions such as abnormally bad weather, flood, cyclone natural calamity or serious loss or damage by fire or civil commotion, strike or lockout affecting procurement of construction materials or any of the trades employed in the work, or any other cause which in the absolute discretion of the Engineer in charge is beyond the contractor's control, then upon happening of any such event causing delay, the contractor shall immediately give notice thereof in writing to the Engineer-in-charge but shall nevertheless use constantly his/her best endeavors to prevent or make good the delay and shall do all that may be reasonably required to the satisfaction of the Engineer-in-charge to proceed with the works.
 - 5.3 Request for rescheduling of 'Milestones' of various activities and extension of time, to be eligible for consideration, shall be made by the contractor in writing within fourteen days of the happening of the event causing delay in the prescribed form. The contractor may also, if practicable, indicate in such a request the period for which extension is desired.
 - 5.4 If any such case the Engineer-in-Charge, with the approval of Tender Accepting Authority may give a fair and reasonable extension of time, and reschedule the activity wise 'Milestones' for completion of the work. Such extension shall be communicated to the contractor by the Engineer-in-charge with the approval of Tender Accepting Authority in writing within maximum 1 (one) month of the date

of receipt of such request.

Final Certificate

Clause 6. On completion of work, the contractor shall be furnished with a certificate by the Engineer-in-Charge of such completion, but no such certificate shall be given, nor shall the work be considered to be completed until and unless the contractor shall have removed from the work premises on which the work is executed, all scaffolding, surplus materials and rubbish, and cleaned off the dirt from wood works, doors, windows, floors, or other parts of any building, upon or about which the work is executed, or of which he may have had possession for the purpose of the execution thereof, nor until the work shall have been measured by the Engineer-in-charge whose measurements shall be binding and conclusive against the contractor. If the contractor shall fail to comply with the requirements of this clause as to removal of scaffolding, surplus materials and rubbish and cleaning off dirt on or before the date fixed for completion of the work, the Engineer-in-charge may at the expense of the contractor remove such scaffolding, surplus materials and rubbish, and dispose of the same as he/she thinks fit, and clean off such dirt as aforesaid; and the contractor shall forthwith be bound to pay the amount of all expense so incurred, and shall have no claim in respect of any such scaffolding or surplus materials as aforesaid, except for any sum actually realized by the sale thereof.

Payment on intermediate certificates to be regarded as advances

Clause 7. No running account bill payment shall be normally made for works of tendered value up to Rs 25.00 lakh, till after the whole of the work shall have been completed and certificate of completion given. For works of tendered value above Rs 25.00 lakh, for running account bill payment, the contractor shall on submitting a bill of at least Rs 25.00 lakh there for, be entitled to receive a payment proportionate to the part thereof, approved and passed by the Engineer-in-charge, whose certificate of such approval and passing of the sum so payable shall be final and conclusive against the contractor. Payment for unmeasured bill against materials supplied to site may also be given on certification of the Assistant Engineer/SDO. But all such intermediate payments shall be regarded as payments by way of advance against the final measured bill payment only and not as payments for work actually done and completed, and shall not preclude the bad, unsound, and imperfect or unskillful work which is to be removed and taken away and reconstructed, or re-erected or to be considered as an admission of the due performance of the contract, or any part thereof, in any respect, or the accruing of any claim, nor shall it conclude, determine or affect in any way the powers of the Engineer-in-charge under these conditions or any of them as to the final settlement and adjustment of the accounts or otherwise or in any other way vary or affect the contract. The final bill shall be submitted by the contractor within one month of the date fixed for completion of the work, otherwise the Engineer-in-charge's certificate of the measurement and of the total amount payable for the work accordingly shall be final and binding on all parties.

Bills to be submitted monthly **Clause 8.** Works bill shall be submitted by the contractor each month, after fulfilling above clause, on or before the date fixed by the Engineer-in-charge, for all works executed during the previous month, and the Engineer-in-charge shall take or cause to take the requisite measurement for the purpose of having the same verified, and the claim as far as admissible adjusted, if possible, before the expiry of fourteen days from the presentation of the bill. If the contractor does not submit the bill within the time fixed as aforesaid, the Engineer-in-charge may depute a Junior Engineer to measure up the said work in presence of the contractor, whose countersignature in the measurement book will be sufficient warrant; and the Engineer-in-charge may prepare a bill from such list which shall be binding on the contractor in all respects.

Within 10(Ten) days of completion of work, the contractor shall give notice of such completion to the Engineer-in-charge and within 14(Fourteen) days of receipt of such notice, the Engineer-in-charge shall inspect the work, and if there is no defect in the work, he/she shall furnish to the contractor a final certificate of completion. Otherwise, a provisional certificate of physical completion indicating defects (a) to be rectified by the Contractor and/or (b) for which payment will be made at reduced rates, shall be issued. Such reduced rate is to be imposed with the approval of Superintending Engineer concerned.

Clause 8A. When annual repair and maintenance work is carried out, the splashes and droppings from white washing, colour washing, painting etc., on walls, floors, windows shall be removed and the surface cleaned simultaneously with the completion of these items of work in the individual rooms, quarters or premises etc where the work is done without waiting for the actual completion of all the other items of work in the contract. In case, the contractor fails to comply with the requirements of this clause, the Engineer-in-Charge shall have the right to get this work done at the cost of the contractor either Departmentally or through any other contractor. Before taking such

action, the Engineer-in-Charge shall give ten days notice in writing to the contractor.

Clause 8B. The contractor shall submit completion plan/drawing as required in the 'General Specification' for electrical works as applicable within 30 days of completion of the work.

Clause 9. The contractor shall submit all bills in printed forms to be obtained on application in the office of the Engineer-in-charge, and the charges in the bills shall always be entered at the rates specified in tender or in case of any extra work ordered in pursuance of these conditions, and not mentioned or provided for in the tender at rates therein after provided for such work.

Payments of contractor's bills to Banks

Clause 9A (1) Payments due to the contractor may, if so desired by him/her be made to his bank through e-Pradan, details of which has to be directly furnished to the Engineer-in-charge

- (i) An authorization in the form of a legally valid document, e.g. irrevocable Power-of-Attorney conferring authority on the Bank to receive payment; and
- (ii) His/her own acceptance of the correctness of the accounts made out as being due to him/her by the Government, or his/her signature on the bill or other claims preferred against the Government, before settlement by the Engineerin-charge of the account or claim by payment to the Bank.

While the on-line receipt given by such Banks shall constitute a full and sufficient discharge/acquaintance for the payment, the contractor should wherever possible present his/her bills duly receipted and discharged through his/her Banker/s.

- (2) In the case of bills, which the contractor presents for payment direct, and which are not endorsed in favour of the Bank, while efforts will be made to secure payment to the financing Bank, payments made to the contractor should be accepted as full acquaintance so far as the Government is concerned. As a part of the arrangement, the financing Bank should give the Government a letter to this effect.
- The procedure will not affect the usual rights of the Government to deduct Note 1. from contractor's bill, (whether endorsed in favour of a Bank or not) any sum due to Government of account of penalties, over-payments etc., on this or any other contract with the Governor of the State of West Bengal.
- Note 2. Nothing contained herein shall operate to create in favour of the Bank any rights claims or equities vis-à-vis the Governor.

Stores supplied by Government

Work to be executed

in accordance with

specifications.

drawings, orders

Clause 10. If the specification or estimate of the work provides for use of any special description of material to be supplied by the Engineer-in-Charge, (such materials & stores and the prices to be charged there for as hereinafter mentioned being so far as practicable for the convenience of the contractor, but not so as in any way to control the meaning or effect of this contract specified in the schedule or 'Memorandum' hereto annexed), the contractor shall be supplied with such materials and stores as is required from time to time to be used by him/her for the purpose of the contract only, and the value of the full quantity of materials and stores so supplied at the rates specified in the said schedule or Memorandum may be set off or deducted from any sums then due, or thereafter to become due to the contractor under the contract, or otherwise or against or from the security deposit, or the proceeds of sale thereof; if the same is held in Government securities, the same or a sufficient portion thereof being in this case sold for the purpose. All materials supplied to the contractor shall remain the absolute property of Government, and shall not on any account be removed from the site of the work, and shall at all times be open for inspection by the Engineer-in-charge. Any such material unused and in perfectly good condition at the time of the completion or determination of the contract shall be returned to the Engineer-in-charge's store, if by a notice in writing under his/her hand, he/she shall so require; but the contractor shall not be entitled to return any such material unless with such consent, and shall have no claim for compensation on account of any such material so supplied to him/her as aforesaid being unused by him, or for any wastage or damage to any such material.

Clause 11. The contractor shall execute the whole and every part of work in the most substantial and workman like manner, and both, as regards to materials and otherwise, in every respect, in strict accordance with the specifications. The contractor shall also confirm exactly, fully and faithfully to the design and drawings, and instructions in writing relating to the work signed by the Engineer-in-Charge and lodged in his/her office, to which the contractor shall be entitled to have access at such office, or on the site of the work for the purpose of inspection during office hours, and the contractor shall, if he/she so require, be entitled at his/her own expense to make or cause to be made copies of the specifications, and of all such design, drawings and instructions as aforesaid.

Alteration in specification and designs do not invalidate contract

Extension of time in consequence of alterations

Rates for works not in tender BOO/SoR Clause 12. The Engineer-in-Charge shall have powers to make any alteration in, omission from, addition to, or substitution for, the original specifications, drawings, designs and instructions, that may appear to him/her to be necessary or recommended by Superintending Engineer or the Chief Engineer during the progress of work, and the contractor shall be at all times be bound to carry out these works, in accordance to any instructions which may be given to him/her in writing, signed by the Engineer-incharge, and such alterations omissions, additions or substitutions, shall not invalidate the contract but shall be deemed to have formed a part of the work included in the original tender and any altered, additional or substituted work which the contractor may be directed to do in the manner specified above as a part of the work shall be carried out by the contractor on the same conditions in all respects on which he/she agreed to do the main work, and at the same rates, if any, may be specified in the tender for the main work. Time for the completion of the work shall be extended in the proportion that the altered, additional or substituted work bears to the original work contract, and the certificate of the Engineer-in-charge shall be conclusive as to such proportion. And, if the altered, additional or substituted work includes any class of work, for which no rate is specified in the contract, then such class of work shall be out at the rates entered in the schedule of rates of concerned works Department applicable in the district, which was in force at the time of acceptance of the contract, minus/plus the percentage which the total tendered amount bears to the estimated cost of the entire work put to tender; and if the altered, additional or substituted work is not entered in the said schedule of rates, payment thereof shall be made by the Engineer-in-charge by determining the rates on analysis worked out from (a) the basic rates of materials and labour provided in the aforesaid schedule of rates, or (b) the current market rates of materials and labour when even basic rates for the work are not available in the schedule. In cases when such rates are determined on analysis by the Engineer-in-charge under (a) above, the stipulated percentage above or below schedule of rates as provided in the contract shall also apply, and in case of rates worked out on analysis under (b) above, payment shall be made at the rates so determined without application of the said stipulated percentage. In the event of any dispute regarding rates determined on analysis for any altered, additional or substituted work under this clause, the decision of the Superintending-Engineer shall be final and binding.

Clause 12A. In the case of any altered additional or substituted work, which the contractor is required under the preceding clause 12 to do, at rates specified in the tender for the main work, or on the basis of rates in the schedule of rates of the district and which involve employment of additional materials (notwithstanding anything contrary to the preceding clause), the contract may, within fifteen days from the receipt of the order, claim revision of the rates in respect of such additional materials and the Engineer-in-Charge may revise such rates having regard to the increase in the market price of such materials. In the event of a dispute the decision of the Tender Accepting Authority shall be final and binding and this contract shall be construed as if the said revised rates for the said additional materials had been incorporated in this contract as being applicable to such work.

No compensation for alternation in or restriction of work to be carried out.

Clause 13. If at any time after the commencement of the work the Governor shall for any reason whatsoever not require the whole thereof as specified in the tender to be carried out, the Engineer-in-charge shall give notice in writing of the fact to the contractor, who shall have no claim to any payment or compensation whatsoever on account of any profit or advantage which he might have derived from execution of the work in full, but which he/she did not derive in consequence of the full amount of the work not having been carried out; neither shall he/she have any claim for compensation by reason of any alterations having been made in the original specifications, drawings, designs and instructions which shall involve any curtailment of the work as originally contemplated.

Action and compensation payable in case of bad work

Clause 14. If it shall appear to the Engineer-in-charge or his/her subordinate engineer in-charge of the work, that any work has been executed with unsound, imperfect, or unskillful workmanship, or with materials of any inferior description, or that any materials or articles provided by him, for the execution of the work are unsound, or of a quality inferior to that contracted for, or otherwise not in accordance with the contract, the contractor shall on demand in writing from the Engineer-in-charge specifying the work,

materials or articles complained of notwithstanding that the same may have been inadvertently passed, certified and paid for, forthwith rectify or remove and reconstruct the work so specified in whole or in part, as the case may require, or as the case may be removed the materials or articles so specified and provide other proper and suitable materials or articles at his own proper charge and cost; and in the event of his failing to do so within a period to be specified by the Engineer-in-charge in his demand aforesaid, then the contractor shall be liable to pay compensation at the rate of one percent on the amount of the estimate put to tender/on up to date executed work value for every day not exceeding ten days, while his/her failure to do so shall continue and in the case of any such failure, the Engineer-in-charge may rectify or remove, and reexecute the work or remove and replace with others, the materials or articles complained of as the case may be at the risk and expense in all respects of the contractor.

Work to be open to inspection

Contractor or his/her responsible agent to be present

> Notice to be given before work is covered up

Contractor liable for damage done and for imperfections for 180 days

after certificate

Clause 15. All work under or in course of execution or executed in pursuance of the contract shall at all times be open to inspection and supervision of the Engineer-in-charge and all his/her subordinates and also Superintending Engineer and the Chief Engineer and the contractor shall at all times during the normal working hours, and at all other times at which reasonable notice of the intention of the Engineer-in-charge or his/her subordinates to visit the work site shall have been given to the contractor, either himself/herself be present to receive orders and instructions, or have a responsible agent duly accredited in writing present for that purpose. Orders given to the contractor's agent shall be considered to have the same force as if it had been given to the contractor himself/herself.

Clause 16. The contractor shall give, not less than five days notice in writing to the Engineer-in-charge or his/her subordinate in-charge of the work, before covering up or otherwise placing beyond the reach of measurement any work, in order that the same is so covered up or placed beyond the reach of measurement, and shall not cover up or placed beyond the reach of measurement any work without the consent in writing of the Engineer-in-charge or his/her subordinate, in-charge of the work; and if any work shall be covered up or placed beyond the reach of measurement without such notice having been given or consent obtained the same shall be uncovered at the contractor's expense, or, in default thereof no payment or allowance shall be made for such work or the materials with which the same was executed.

Clause 17. If the contractor or his/her workers or authorized representatives shall break, deface, injure or destroy any part of the structure in which they may be working or any building, road, road curbs, fence, canals, water pipes, cables, drains, electric or telephone posts or wires, trees, grass or grassland or cultivated ground contiguous to the premises on which the work or any part of it is being executed, or if any damage shall happen to the work from any cause whatever or any imperfections become apparent in it at any time, whether during its execution or within a period of six months after issuance of a certificate of its completion by the Engineer-in-Charge, the contractor shall make the same good at his/her own expense, or in default, the Engineer-in-Charge may cause the same to be made good by other workers, and deduct the expenses (of which the certificate of the Engineer-in-Charge shall be final and binding) from any sums, whether under the contract or otherwise, that may be then, or at any time thereafter become due to the contractor by the Government or from his/her security deposit, or the proceeds of sale thereof, or of a sufficient portion thereof, and if the cost in the opinion of the Engineer-in-Charge whose opinion shall be final and conclusive against the contractor, making such damage or imperfections good shall exceed the amount of such security deposit and/or such sums, it shall be lawful for the Government to recover the excess costs from the contractor in accordance with the procedure prescribed by any law for the time being in force.

Clause 18A. In every case in which by virtue of the provisions under sub-section (1) of Section 12, of the Workmen's Compensation Act, 1923, the implementing Department is obliged to pay compensation to a workman employed by the contractor, in execution of the works. The implementing Department will recover from the contractor the amount of compensation so paid; and without prejudice to the rights of the Department under sub-section (2) of section 12, of the said Act, implementing Department shall be at liberty to recover such amount or any part thereof by deducting it from the security deposit or from any sum due by implementing Department to the contractor whether under this contract or otherwise. The implementing Department shall not be bound to contest any claim made against it under sub-section (1) Section 12, of the said Act, except on the written request of the contractor and upon his/her giving to the implementing Department full security for all costs for which the Department might become liable in consequence of contesting such claims.

Clause 18B. In every case in which by virtue of the provisions under The Contract Labour (Regulation & Abolition) Act 1970', and its amendments and rules, the implementing Department is obliged to pay amount of wages to a workman employed by the contractor in execution of the works, or to incur any expenditure in providing welfare and health amenities required to be provided under the above said Act and the rules framed by Government from time to time for the protection of health and sanitary arrangements for workers employed by contractors, executing Department will recover from the contractor, the amount of wages so paid or the amount of expenditure so uncured; and without prejudice to the rights of the executing Department under subsection(2) of Section 20, and sub-section (4) of Section 21, of the Contract Labour (Regulation and Abolition) Act, 1970, executing Department shall be at liberty to recover such amount or any part thereof by deducting it form the security deposit or from any sum due by Executing Department to the contractor whether under this contract or otherwise and the executing Department shall not be bound to contest any claim made against it under sub-section (1) of Section 20, sub-section (4) of section 21, of the said Act, except on the written request of the contactor and upon his/her giving to the implementing Department full security for all costs for which the Department might become liable in contesting such claim.

Clause 19. The contractor shall obtain a valid license under the Contract Labour (Regulation and Abolition) Act, 1970, before the commencement of the work, and continue to have valid licenses until the completion of the work. The contractor shall also abide by the provisions of the Child Labour (Prohibition and Regulation) Act, 1986, Fatal Accident Act, 1855, personal injuries (Compensation Insurance) Act, 1970.

The contractor shall also comply with the provisions of the 'Building and Other Construction Workers (Regulation of Employment & Conditions of Service) Act, 1996' and 'The Building and Other Construction Workers Welfare Cess Act, 1996'. Failure to fulfill these requirements shall attract penal provisions of the contract, arising out of the resultant non-implementation of such provisions.

Clause 19A. No labour/s below the age of eighteen years shall be employed in the work and the contractor shall abide by the provisions of the Child Labour (Prohibition & Regulation) Act, 1986 Employment of female labour/s in works in the neighborhoods of sensitive barracks should be avoided as far as possible.

Clause 19B. The contractor shall pay to labours employed by him/her either directly or through sub-contractors, wages not less than fair wages as defined in by the Labour Commissioner of the State Government under 'Minimum Wages Act, 1948', Contractor's Labour Regulations or as per the provisions of the Contract Labour (Regulation and Abolition) Act, 1970, wherever applicable.

The contractor shall, notwithstanding the provisions of any contract to the contrary, cause to be paid fair wage to labour indirectly engaged on the work, including any labour engaged by his sub-contractors in connection with the said work, as if the labour had been immediately employed by him/her.

In respect of all labourers directly or indirectly employed in the works for performance of the contractor's part of the contract, the contractor shall comply with or cause to be complied with the contractor's Labour Regulations made by the State Government/ Government of India, from time to time in regard to payment of wages, wage period, deductions from wages, recovery of wages not paid and deductions made without authority, maintenance of wage books or wage slips, publication of scale of wage and other terms of employment, inspection and submission of periodical returns and all other matter likewise in nature or as per the provisions of the Contract Labour (Regulation and Abolition) Act, 1970, and the inter-State Migrant Workmen (Regulation of Employment and Conditions of Service) Act, 1979, Minimum Wages Act, 1948, wherever applicable.

- a) The Engineer-in-Charge concerned shall have the right to deduct from the money due to the contractor any sum required or estimated to be required for making good the loss suffered by a worker or workers by reason of non-fulfillment of the conditions of the contract for the benefit of the workers, non-payment of wages or of deductions made from his/her/their wages which are not justified by their terms of the contract or non-observance of the regulations.
- b) Under the provision of Weekly Holidays Act, 1986, the contractor is bound to allow to the labours, directly or indirectly employed in the work, one day rest for 6 days of continuous work, and pay wages at the same rate as for duty. In the event of default,

Labour

Payment of minimum Wages to Labour the Engineer-in-charge shall have the right to deduct the sum or sums not paid on account of wages for weekly holidays to any labourm and pay the same to the persons entitled thereto from any money due to the contractor by the Engineer-in-charge concerned.

The contractor shall also comply with the provisions of the 'Employees Liability Act, 2008', Workmen's Compensation Act and 'Maternity Benefits Act' or the amendments thereof or any other law relating thereto, and the rules made there under from time to time.

The Contractor shall indemnify and keep indemnified the implementing Department against payments to be made under and for the observance of the laws aforesaid and PW Contractor's Labour Regulations without prejudice to this right to claim indemnity from his/her sub-contractors.

The laws aforesaid shall be deemed to be a part of this contract and any breach thereof shall be deemed to be a breach of this contract.

Whatever is the minimum wage for the time being, or if the wage payable is higher than minimum wage, such wage shall be paid by the contractor to the workers directly without the intervention of any Dafadar, and that Dafadar shall not be entitled to deduct or recover any amount from the minimum wage payable to the workers as and by way of commission or otherwise.

The contractor shall ensure that no amount by way of commission or otherwise is deducted or recovered by the Dafadar from the wage of workers.

Clause 19C. In respect of all labours directly or indirectly employed in the work for the performance of the contractor's part of this contract, the contractor shall at his/her own expenses, arrange for the safety provisions as framed from time to time by the competent authority, and shall at his/her own expense provide all facilities in connection therewith. In case the contractor fails to make arrangement, and fail to provide necessary facilities as aforesaid; he/she shall be liable to pay a penalty of Rs.200/- for each default, and in addition the Engineer-in-Charge shall be at liberty to make arrangement and provide facilities as aforesaid and recover the costs incurred in their behalf, from the contractor.

Clause 19D. The Contractor shall submit by the 4th and 19th of every month to the Engineer-in-charge, a true statement showing in respect of the second half of the preceding month and the first half of the current month respectively.

The number of labourers employed by him/her on the work, their working hours, and the wages paid to them;

Accidents that had occurred during the said fortnight showing the circumstances under which it had happened, and the extent of damage and injury caused by them, and the number of female workers who have been allowed maternity benefits according to Clause 19F of the contract and the amount paid to them;

Failing which the contractor shall be liable to pay to the Department, a sum not exceeding Rs. 200/- for each default or materially incorrect statement. The decision of the Engineer-in-charge shall be final in deducting from any bill due to the contractor; the amount levied as fine and would be binding on the contractor.

Clause 19E. In respect of all labours directly or indirectly employed in the work for the performance of the contractor's part of this contract, the contractor shall comply with or cause to be compiled with all the rules framed by the appropriate Government from time to time for the protection of health and sanitary arrangements of workers employed by the contractor.

Clause 19F. In the event of the contractor(s) committing a default or breach of any of the provisions of the Contractor's Labour Regulations and Rules for the protection of health and sanitary arrangement for the workers as amended from time to time or furnishing any information or submitting or filing any statement under the provisions of the above Regulations and Rules which is materially incorrect, he/she shall, without prejudice to any other liability, pay to the Department a sum not exceeding Rs. 200/for every default, breach or furnishing, making, submitting, filing such materially incorrect statements and in the event of the contractors defaulting continuously in this respect, the penalty may be enhanced to Rs. 200/-per day for each day of default subject to a maximum of five per cent of the tendered value. The decision of the Engineer-in-charge shall be final and binding on the parties.

Should it appear to the Engineer-in-charge that the contractor(s) is/are not properly

observing and complying to the provisions of the Contractor's Labour Regulations and Rules, The Minimum Wages Act, 1948 and Contract Labour (Regulation and Abolition) Act 1970, for the protection of health and sanitary arrangements for work-people employed by the contractor(s) (hereinafter referred as 'the said Rules') the Engineer-incharge shall have power to give notice in writing to the contractor(s) requiring that the said Rules be complied with and the amenities prescribed therein be provided to the work-people within a reasonable time to be specified in the notice. If the contractor(s) shall fail within the period specified in the notice to comply with and / observe the said Rules and to provide the amenities to the work-people as aforesaid, the Engineer-incharge shall have the power to provide the amenities herein before mentioned at the cost of the contractor(s). The contractor(s) shall erect, make and maintain at his/her own expense and to approved standards all necessary hutments and sanitary arrangements required for his / her / their work-people on the site in connection with the execution of the works, and if the same shall not have been erected or constructed, according to approved standards, the Engineer-in-charge shall have power to give notice in writing to the contractor(s) requiring that the said hutments and sanitary arrangements be remodeled and/or reconstruct such hutments and sanitary arrangements according to approved standards, and if the contractor(s) shall fail to remodel or reconstruct such hutments and sanitary arrangements according to approved standards within the period specified in the notice, the Engineer-in-charge shall have the power to remodel or reconstruct such hutments and sanitary arrangements according to approved standards at the cost of the contractor(s).

Clause 19G. The contractor shall comply with all the provisions of The Minimum Wages Act, 1948, Contract Labour (Regulation and Abolition) Act, 1970, Employees Liability Act, Industrial Dispute Act and Maternity Benefit Act, 1961, as amended from time to time and rules framed there under and other labour laws affecting contract labour that may be brought into force by the appropriate authority from time to time.

Clause 19H. The Engineer-in-charge may require the contractor to remove from the site of work; any person or persons engaged/assigned or employed by the contractors upon the work who may be determined as insane or incompetent or misconducts himself/herself, and the contractor shall forthwith comply with such requirements.

Clause 19I. It shall be the responsibility of the contractor to see that the building/structure under construction is not occupied by anybody unauthorized during construction, and is handed over to the Engineer-in-charge with vacant possession free from encumbrances in entirety, If such buildings/structures through completed is occupied illegally, then the Engineer-in-Charge shall have the option to refuse to accept the said building/structure in that position. Any delay in acceptance on this account will be treated as the delay in completion and for such delay a levy up to 5% of tendered value of work may be imposed by the Engineer-in-charge whose decision shall be final both with regard to the justification and quantum and shall be binding on the contractor.

However, the Engineer-in-charge, thorough a notice, may require the contractor to remove the illegal occupations, any time on or before construction and delivery.

Clause 20. No work shall be done on Sundays without the prior sanction of the Engineer-in-charge.

Clause 21. The contract shall not be assigned or sublet without specific orders from Government in respect of a specified sub-contractor. And if the contractor shall assign or sublet his contract, or attempt so to do, or become insolvent or commence any in insolvency proceedings or make any composition with his creditor, or attempt to do so, or if any bribe, gratuity, gift, loan, perquisite, reward or advantage, pecuniary or otherwise, shall either directly or indirectly be given, promised, or offered by the contractor, or any of his servants or agents to any public officer or person in the employ of Government in any way relating to his office of employment, or if any such officer or person shall become in any way directly or indirectly interested in the contract, the Divisional Officer may thereupon by notice in writing rescind the contract, and the security deposit of the contractor shall thereupon stand forfeited and be absolutely at the disposal of Government and the same consequences shall ensure as if the contract had been rescind under the Clause 3 hereof, and in addition the contractor shall not be entitled to recover or be paid for any work therefore actually performed under the contract.

Clause 22. All sums payable by way of compensation under any of these conditions shall be considered as reasonable compensation to be applied to the use of Government

Work on Sundays

Work not to be sublet. Contract may be rescinded and security deposit forfeited for subletting, bribing, or if contractor becomes insolvent

Sum payable as compensation to be considered as reasonable without reference to actual loss without reference to the actual loss or damage sustained and whether or not any damage shall have been sustained.

Changes in constitution of firm

Clause 23. Where the contractor is a partnership firm or a consortium, prior approval in writing of the Engineer-in-Charge shall be obtained for any change made in the the constitution of the firm/consortium. Where the contractor is an individual or a Hindu Undivided Family (HUF) business concern, such approval as aforesaid shall likewise be obtained, before the contractor enters into any partnership agreement/Memorandum of Articles where under the partnership firm/ consortium would have the right to carry out the works hereby undertaken by the contractor. If previous approval as aforesaid is not obtained, the contract is liable to be rescind.

Works to be under direction of Engineer-in-Charge

Clause 24. All works to be executed under the contract shall be executed under the direction of Engineer-in-Charge. Further instructions/advises, if felt necessary by Superintending Engineer/ Chief Engineer, shall also be binding to be communicated by the Engineer-in-Charge.

Settlement of disputes-'Dispute Redressal Committee'

Clause 25. Settlement of Disputes and Arbitration:

Except where otherwise provided in the contract, all questions and disputes relating to the meaning of the specifications, designs, drawings and instructions hereinbefore mentioned and as to the quality of workmanship or materials used on the work or as to any other question, claim, right, matter or thing whatsoever, in any way arising out of relating to the contracts, designs, drawings, specifications, estimates, instructions, orders or these conditions or otherwise concerning the works, or the executions or failure to execute the same, whether arising during the progress of the work, or after the completion or abandonment thereof shall be dealt with as mentioned hereinafter:

If the contractor considers any work demanded of him/her to be outside the requirements of the contract, or disputes any drawings, record or decision given in writing by the Engineer-in-Charge or any matter in connection with or arising out of the contract or carrying out of the work to be unacceptable, he/she shall promptly within 15 days request the Chairman of the Departmental Dispute Redressal Committee formed by Government, in writing for written instruction or decision. Thereupon, the Dispute Redressal Committee shall give its written instructions or decision within a period of three months from the date of receipt of the contractor's letter.

Above provisions will be applicable irrespective of the value of the works to which the dispute may relate.

Clause 26. The contractor shall fully indemnify and keep indemnified the implementing Department against any action, claim or proceeding relating to infringement or use of any patent or design or any alleged patent or design rights and shall pay any royalties which may be payable in respect of any article or part thereof included in the contract. In the event of any claims made under or action brought against implementing Department in respect of any such matters as aforesaid, the contractor shall be immediately notified thereof implementing Department and the contractor shall be at liberty, at his/ her own expense, to settle any dispute or to conduct any litigation that may arise there from, provided that the contractor shall not be liable to indemnify the implementing Department if the infringement of the patent or design or any alleged patent or design right is the direct result of an order passed by the Engineer-in-Charge this behalf.

Lump sum as in estimates

Clause 27. When the estimate on which the tender is made includes lump sums in respect of parts of the work, the contractor shall be entitled to payment in respect of the items of works involved or the part of the work in question at the same rates as are payable under this contract for such items, or if the part of the work in question is not, in the opinion of the Engineer-in-charge capable of measurement, certificate in writing of the Engineer-in-charge shall be final and conclusive against the contractor with regard to any sum or sums payable to him under the provisions of this clause.

Action where no specification

Clause 28. In the case of any class of work for which there is no such specifications as referred to under Clause 11, such work shall be carried out in accordance with the latest Bureau of Indian Standards (BIS) & specifications. In case there are no such specifications in Bureau of Indian Standards, the work shall be carried out as per reputed manufacturer's specifications if accepted by the Engineer-in-Charge. If not available, then as per State- Government/Union Government accepted and approved specifications. In case there are no such specifications as required above, the work shall be carried out in all respects in accordance with the instructions and requirements of the Engineer-in-Charge which is approved by the Tender Accepting Authority.

Definition of works

Clause 29. The expression "works" or "work" where used in these conditions shall, unless there be something either in the subject or context repugnant to such construction be constructed and taken to mean the works by or by virtue of the contract constructed to be executed, whether temporary or permanent and whether original, altered, substituted or additional.

Clause 30. The contractor(s) shall at his/their own cost provide his/their labour with hutting on an approved site, and shall make arrangements for conservancy and sanitation in the labour camp to the satisfaction of the local public Health and Medical Authorities. He/they shall also at his/their own cost make arrangements for the laying of pipe lines for water supply to his / their labour camp from the existing mains wherever available, and shall pay all fees, charges and expenses in connection with there and incidental thereto.

Clause 31. The contractor(s) shall make his / their own arrangements for water required for the work and nothing extra will be paid for the same. This will be subject to the following conditions:-

- That the water used by the contractor(s) shall be fit for construction purposes to the satisfaction of the Engineer-in-charge.
- The Engineer-in-Charge shall make alternative arrangements for supply of water at the risk and cost of contractor(s) if the arrangements made by the contractor(s) for procurement of water are in the opinion of the Engineer-in- Charge, unsatisfactory.

Clause 32. The contractor undertakes to make arrangement for the supervision of the work by the firm supplying the bitumen used. The contractor shall collect the total quantity of bitumen required for the work as per standard formula, before the work is started and shall hypothecate it to the Engineer-in-Charge. If any bitumen remains unused on completion of the work on account of lesser use of materials in actual execution for reasons other than authorized changes of specifications and abandonment of portion of work, a corresponding deduction equivalent to the cost of unused materials as determined by the Engineer-in-Charge shall be made and the material returned to the contractors. Although the materials are hypothecated to Institute, the contractor undertakes the responsibility for their proper watch, safe custody and protection against all risks. The materials shall not be removed from site of work without the consent of the Engineer-in-Charge in writing.

The contractor shall be responsible for rectifying defects noticed within a year from the date of completion of the work and the portion of the security deposit relating to asphaltic work shall be refunded after the expiry of this period.

Clause 33. The contractor shall provide all necessary superintendence during execution of the work and as along thereafter as may be necessary for proper fulfilling of the obligations under the contract.

The contractor shall immediately after receiving letter of acceptance of the tender and before commencement of the work, intimate in writing to the Engineer-in-Charge, the name(s), qualifications, experience, age, address(s) and other particulars along with certificates, of the principal technical representative to be in charge of the work and other technical representative(s) who will be supervising the work. The Engineer-in-Charge shall within 3 days of receipt of such communication intimate in writing his/her approval or otherwise of such representative(s) to the contractor. Any such approval may at any time be withdrawn and incase of such withdrawal, the contractor shall appoint another such representative(s) according to the provisions of this clause. Decision of the tender accepting authority shall be final and binding on the contractor in this respect. Such a principal technical representative shall be appointed by the contractor soon after receipt of the approval from Engineer-in-Charge and shall be available at site before start of work.

If the contractor (or any partner in case of firm/company) who himself/herself has such qualifications, it will not be necessary for the said contractor to appoint such a principal technical representative but the contractor shall designate and appoint a responsible agent to represent him and to be present at the work whenever the contractor is not in a position to be so present. All the provisions applicable to the principal technical representative under the clause will also be applicable in such a case to contractor or his responsible agent. The principal technical representative and/or the contractor shall on receiving reasonable notice from the Engineer-in-Charge or his designated representative(s) in charge of the work in writing or in person or otherwise, present himself/herself to the Engineer-in-Charge and/or at the site of work, as required, to take instructions. Instructions given to the principal technical representative of

Contractors Superintendence, Supervision, Technical Staff & Employees

responsible agent shall be deemed to have the same force as if these have been given to the contractor. The principal technical representative and/or the contractor or his/her responsible authorized agent shall be actually available at site especially during important stages of execution of work, during recording of measurement of works and whenever so required by the Engineer-in-Charge by a notice as aforesaid and shall also note down instructions conveyed by the Engineer-in-Charge or his/her designated representative in the site order book and shall affix his signature in token of noting down the instructions and in token of acceptance of measurements.

If the Engineer-in-Charge, whose decision in this respect is final and binding on the contractor, is convinced that no such technical representative(s) is / are effectively appointed or is / are effectively attending or fulfilling the provision of this clause, a recovery (nonrefundable) shall be effected from the contractor as specified in Schedule and the decision of the Engineer-in-Charge as recorded in the site order book and measurement recorded checked / test checked in Measurement Books shall be final and binding on the contractor. Further if the contractor fails to appoint a suitable technical representative and / or other technical representative(s) and if such appointed persons are not effectively present are absent by more than two days without duly approved substitute or do not discharge their responsibilities satisfactorily, the Engineer-in-Charge shall have full powers to suspend the execution of the work until such date as suitable other technical representative(s) is / are appointed and the contractor shall be held responsible for the delay so caused to the work. The contractor shall submit a certificate of employment of the technical representative(s) along with every running account bill/final bill and shall produce evidence if at any time so required by the Engineer-in-Charge.

The contractor shall provide and employ on the site only such technical assistants as are skilled and experienced in their respective fields and such foremen and supervisory staff as are competent to give proper supervision to the work.

The contractor shall provide and employ skilled, semiskilled and unskilled labour as is necessary for proper and timely execution of the work.

The Engineer-in-Charge shall be at liberty to object to and require the contractor to remove from the works any person who in his opinion misconducts himself, or is incompetent or negligent in the performance of his duties or whose employment is otherwise considered by the Engineer-in-Charge to be undesirable. Such person shall not be employed again at works site without the written permission of the Engineer-in-Charge and the persons so removed shall be replaced as soon as possible by competent substitutes.

Clause 34. "Levy / Taxes Payable by Contractor"

- i) Sales tax including VAT, Building and other Construction Workers' Welfare Cess or any other tax or Cess in respect of this contract shall be payable by the Contractor and Engineer-in-Charge shall not entertain any claim whatsoever in this respect. However in respect of Service Tax, same shall be paid by the contractor on demand and it will be reimbursed to him/ her if admissible under relevant rules of appropriate Government by the Engineer-in-charge after satisfying that it has been actually and genuinely paid by the contractor.
- ii) The contractor shall deposit Govt. Royalty and obtain necessary permit for supply of the sand, stone chips, red bajri, sand stone, river bed materials etc. from local authorities, if those are directly procured from quarry sites. In case materials are procured from secondary sources, certificates of quarry owners to the effect of payment of royalties and Cess would have to be furnished. In absence of such certificates towards payment of Royalties and Cess such components shall be deducted from the contractor's bills at prescribed rates and deposited through 'GRIPS' portal or otherwise, in the designated Govt. Treasuries/PAO.

If pursuant to or under any law, notification or order any Royalty, Cess or the like becomes payable by the implementing Department and does not any time become payable by the contractor to the State Government/Local appropriate authorities in respect of any material used by the contractor in the works then in such a case, it shall be lawful to the Department and it will have the right and be entitled to recover the amount paid in the circumstances as aforesaid from dues of the contractor.

Clause 35.

i) All tendered rates shall be inclusive of statutory taxes and levies (Except Service tax) payable under respective statutes. However, if any further tax or cess is imposed by Statute, after the last stipulated date for the receipt of tender including extensions if any and the contractor thereupon necessarily and properly pays such taxes/levies

/cess, the contractor shall be reimbursed the amount so paid. Provided such payments, if any, is not, in the opinion of the Engineer-in-charge (whose decision shall be final and binding on the contractor) attributable to delay in execution of work within the control of the contractor.

- ii) The contractor shall keep necessary books of accounts and other documents for the purpose of this condition as may be necessary and shall allow inspection of the same by a duly authorized representative of the Department and/or the Engineer-in-Charge and further shall furnish such other information/document as the Engineer-in-Charge may require from time to time.
- iii) The contractor shall, within a period of 30 days of the imposition of any such further tax or levy or excess, give a written notice thereof to the Engineer-in-Charge that the same is given pursuant to this condition, together with all necessary information relating thereto.

Clause 36. Without prejudice to any of the rights or remedies under this contract if the contractor dies, the Engineer-in-charge shall have the option of terminating the contract without compensation to the contractor, but would be liable to clear full dues and claims on work done to his/her legal successor/s.

Clause 37. The contractor shall not be permitted to tender for works in which his near relative is posted as in any capacity between the grades of the Executive Engineer and Junior Engineer (both inclusive). He shall also intimate the names of persons who are working with him/her in any capacity or are subsequently employed by him/her and who are near relatives to any Official in the Institute. Any breach of this condition by the contractor would render him/her liable to be removed from the approved list of contractors of the Department. If however the contractor is registered in any other Department, he/she shall be debarred from tendering in the Department for any breach of this condition.

NOTE: By the term "near relatives" is meant wife, husband, own parents and grandparents, own children and grandchildren, own brothers and sisters, own uncles, aunts and first cousins and their corresponding in-laws.

Clause 38. No engineer of Gazette rank or other Gazette officer employed in engineering or administrative duties in the Government shall work as a contractor or employee of a contractor for a period of one year after his/her retirement from Government service without the previous permission of Government in writing. This contract is liable to be cancelled if either the contractor or any of his employees is found at any time to be such a person who had not obtained the permission of Government as aforesaid, before submission of the tender or engagement in the contractor's service, as the case may be.

Clause 39. The work (whether fully constructed or not) and all materials, machines, tools and plants, scaffolding, temporary buildings and other things connected therewith shall be at the risk of the contractor until the work has been delivered to the Engineerin-Charge and a certificate from him/her to that effect obtained. In the event of the work or any materials properly brought to the site for incorporation in the work being damaged or destroyed in consequence of hostilities or warlike operation, the contractor shall when ordered (in writing) by the Engineer-in-Charge to remove any debris from the site, collect and properly stack or remove in store all serviceable materials salvaged from the damaged work and shall be paid at the contract rates in accordance with the provision of this agreement for the work of clearing the site of debris, stacking or removal of serviceable material and for reconstruction of all works ordered by the Engineer-in-Charge, such payments being in addition to compensation up to the value of the work originally executed before being damaged or destroyed and not paid for. In case of works damaged or destroyed but not already measured and paid for, the compensation shall be assessed by the Engineer-in-Charge concerned. The contractor shall be paid for the damages/destruction suffered and for the restoring the material at the rate based on analysis of rates tendered for in accordance with the provision of thecontract. The certificate of the Engineer-in-Charge regarding the quality and quantity of materials and the purpose for which they were collected shall be final and binding on all parties to this contract.

Provided always that no compensation shall be payable for any loss in consequence of hostilities or warlike operations (a) unless the contractor had taken all such precautions against air raid as are deemed necessary by the Air Force Officers or the Engineer-in-Charge (b) for any material etc. not on the site of the work or for any tools, plant, machinery, scaffolding, temporary building and other things not intended for the work.

In the event of the contractor having to carry out reconstruction as aforesaid, he/she shall be allowed such extension of time for its completion as is considered reasonable by the Engineer-in-charge.

Clause 40. The contractor shall comply with the provisions of the Apprentices Act, 1961 and the Apprenticeship Rules, 1992 and orders issued there under from time to time. If he/she fails to do so, his/her failure will be a breach of the contract and the Engineer-in-Charge may, in his/her discretion, cancel the contract. The contractor shall also be liable for any pecuniary liability arising on account of any violation by him/her of the provisions of the said Act.

INTERPRETATION OF CLAUSES

Governor means the Governor of the State of West Bengal and his/her successors.

The Government means Government in the concerned works Department.

The Department means the Principal Secretary the concerned Department or his/her authorized representative.

The Divisional Officer means the Executive Engineer of the concerned works Department for the time being of the Division concerned, also identified as the Engineer-in-Charge.

The Sub-divisional Officer means the Assistant Engineer of the concerned works Department for the time being of the Sub-division concerned. Junior Engineer equivalent to Section Officer of the Section concerned.

Superintending Engineer in the concerned works Department is the final Authority regarding schedule of rates and also the acceptance of Non-scheduled item rates arrived by market based rate analysis for supplementary items, and the approving authority for reduced rates and part rates. He is also the Tender Accepting Authority for works of value above Rs 45.00 lakh and up to Rs 2.00 crore under existing delegated power.

Chief Engineer in the concerned works Department is the technical head of the Directorate and is also the Tender Accepting Authority and for all works above value of Rs 2.00 crore. Excess work over individual items comprising the original tender may be exceeded beyond 10% with the approval of concerned tender accepting authority and verified by the Superintending Engineer/Chief Engineer subject to the total value of work upon completion is within the technically sanctioned cost and that there is no major deviation from original scope of work in the tender. Any supplementary tender/item/work in connection with the main tender is to be taken up with the approval of the Tender Accepting Authority not below the rank of Executive Engineer. Such supplementary tenders above 10% of BOQ are to be executed only with the approval of appropriate Government irrespective of the value of tender.

Words importing the singular number only include the plural number and vice versa.

Irrespective of the accepting authority, Divisional officer shall be the authority signing agreement for all tenders of value more than Rs 3.00 lakh up to any amount on behalf of the State.

Schedule showing (approximately) to be supplied by the Irrigation & Waterways Department under clauses 10 and 26 fix work contracted to be executed and the rates at which they are to be charged for.

Particulars	Rates at which the materials will be charged to the contractor			Place of delivery
	Unit	Rs.	P.	

Note 1- The person or firm submitting the tender should see that the rates in the above schedule are filled up by the Engineer-in-charge on the issue of the form prior to the submission of the tender.

(Name in full)
*Signature of contractor/agency
with official seal containing
Principal office address

(Name in full)
*Signature of <u>Divisional Engineer/</u>
<u>Sub-Divisional Officer</u>
on behalf of the Governor of the
State of West Bengal with official seal
containing designation & address

^{*} To be authenticated on each and every page of the contract document by all parties.

Additional Rules of Contract

- 1. Executive Engineer of the concerned Division will be the Engineer-in-Charge in respect of the tender contract and all correspondences concerning rates, claims, change in specifications and/or design and similar important matters will be valid only if accepted/recommended by the Engineer-in-Charge. If any correspondence of above tender is made with Officers other than the Engineer-in-charge for speedy execution of works, the same will not be valid unless copies are sent to the Engineer-in-Charge and also approved by him. Instructions given by the Sub-Divisional Officer/Assistant Engineer and the Junior Engineer/Section Officer (SAE) on behalf of the Engineer-in-Charge shall also be valid (who have been authorized to carry out the work on behalf of the Engineer-in-Charge) regarding specification, supervision, approval of materials and workmanship. In case of dispute relating to specification and work, the decision of Engineer-in-Charge shall be final and binding. The Engineer-in-Charge will however invariably take decisions relating to tender contract or as mentioned in the relevant rules and clauses of the contract document with the approval of the Tender Accepting Authority.
- 2. Acceptance of the tender including the right to distribute the work between two or amongst more than two bidders will rest with the Tender Accepting Authority without assigning reason thereof to the bidder. The accepting authority reserves the right to reject any or all tenders without assigning any reason thereof to the bidder/contractor.
- 3. Engineer-in-Charge shall not entertain any claim whatsoever from the contractor for payment of compensation on account of idle labour on such grounds including non-possession of encumbrance free land.
- 4. Engineer-in-Charge shall not be held liable for any compensation due to machines becoming idle or any circumstances including untimely rains, other natural calamities, like strikes etc.
- 5. Imposition of any duty / tax / Octoroi / royalty etc whatsoever of its nature (after work order / commencement and before final completion of the work) is to be borne by the contractor/bidder. Original challan of those materials, which are procured by the bidder, may be asked to be submitted for verification.
- 6. Cess @ 1% of the cost of construction works shall be deducted from the Gross value of all works Bill in terms of Finance Department order. Also it is instructed to register his/her establishment under the Act, with the competent registering Authority, i.e. Assistant Labour Commissioner / Dy. Labour Commissioner of the region. Sales Tax and Income Tax Clearance Certificates should be furnished by the contractor for contract value above Rs 0.50 Lakh.
- 7. No mobilization / secured advance will be allowed unless specified otherwise in the contract.
- 8. VAT/Sales Tax, Service Tax, Cess, Royalty of sand, stone chips, stone metal gravel, boulders, forest product etc, Toll Tax, Income Tax, Ferry Charges and other Local Taxes if any are to be paid by the contractor/bidder. No extra payment will be made as a reimbursement or as compensation for these. The rates of supply and finished work items are inclusive of these taxes and charges.
- 9. All working tools & plants, scaffolding, construction of vats & platforms and arrangement of Labour Campus will have to be arranged by the contractor at his/her own cost.
- 10. The contractor shall supply mazdoors, bamboos, ropes, pegs, flags etc. for laying out the work and for taking and checking measurements for which no extra payment will be made.
- 11. The contractor/bidder should see the site of works and tender documents, drawings etc. before submitting e-tender and satisfy himself/herself regarding the condition and nature of works and ascertain difficulties that might be encountered in executing the work, carrying materials to the site of work, availability of drinking water and other human requirements & security etc. Work on river banks may be interrupted due to a number of unforeseen reasons e.g. sudden rises in water levels, inundation during flood, inaccessibility of working site for carriage of materials. Engineerin Charge may order the contractor to suspend work that may be subjected to damage by climate conditions. No claim will be entertained on this account. There may be variation in alignment, height of embankment or depth of cutting, location of revetment, structures etc. due to change of topography, river condition and local requirements etc. between the preparation and execution of the scheme for which the tendered rate and contract will not stand invalid. The contractor will not

be entitled to any claim or extra rate on any of these accounts.

- 12. A machine page numbered Site Order book (with triplicate copy) will have to be maintained at site by the contractor and the same has got to be issued from the Engineer-in-Charge before commencement of work. Instructions given by inspecting officers not below the rank of Assistant Engineer will be recorded in this book and the contractor must note down the action to be taken by him in this connection as quickly as possible.
- 13. The work will have to be completed within the time mentioned in the e-NIT. A suitable work programme based on time allowed for completion of work as per e-NIT is to be submitted by the contractor within 7(seven) days from the date of receipt of work order which should satisfy the time limit of completion. The contractor should inform in writing the name of his authorized representative who are to remain present at site daily during work execution at site within 7 (seven) days from the date of receipt of work order who will receive instructions of the work, sign measurement book, bills and other Govt. papers etc.
- 14. No compensation for idle labour, establishment charge or on other reasons such as variation of price indices etc. will be entertained.
- 15. All possible precautions should be taken for the safety of the people and work force deployed at worksite as per safety rule in force. Contractor will remain responsible for his labour in respect of his liabilities under the Workmen's Compensation Act etc. He must deal with such cases as promptly as possible. Proper road signs as per PWD practice will have to be erected by the contractor at his own cost while operating public thoroughfares.
- 16. The contractor will have to maintain qualified technical employees and/or Apprentices at site as per prevailing Apprentice Act or as stipulated in the contract.
- 17. The contractor will have to accept the work programme as per modifications and priority of work fixed by the Engineer-in-Charge so that most vulnerable reach and/or vulnerable items is completed before impending monsoon or rise in river flood water level or for other suitable reasons.
- 18. Quantities of different items of work mentioned in the tender schedule or in work order are only tentative. In actual work, these may vary considerably. Payment will be made on the basis of works actually done in different items and no claim will be entertained for reduction of quantities in some items or for omission of some items. For execution of quantitative excess in any item beyond 10% or supplementary works, approval of the Superintending Engineer / Chief Engineer /Government in the Irrigation & Waterways Department would be required depending on who so ever be the Tender Accepting Authority, before making such payment.
- 19. In order to cope up with the present system of e-billing, supply of departmental materials is generally not encouraged. However, Departmental materials may be issued to the contractor/bidder to the extent of requirements as assessed and following accounts procedure in the Treasury system of bill payment and in installments as decided by the Engineer-in-Charge. Issue of materials may be of three categories.
 - a) Materials issued directly to the work and subject to recovery.
 - b) Materials issued from departmental go down and subject to recovery.
 - c) Materials issued free of cost.
- 20. Any materials brought to site by the contractor subject to approval of the Engineer-in-Charge. The rejected materials must be removed by the contractor from the site at his own cost within 24 hrs of issue of the order to that effect. The rates in the schedule are inclusive of cost and carriage of all materials to worksite. The materials will have to be supplied in phase with due intimation to the Sub-Divisional Officer/Assistant Engineer concerned in conformity with the progress of the work. For special type of materials, i.e. Geo Synthetic Bags, HDPE Bags, Geo Textile Filter, Geo jute Filter etc. if any, relevant Data Sheet containing the name of the Manufacturers, Test Report etc. will also be submitted in each occasion. Engineer-in-Charge may conduct independent test on the samples drawn randomly before according approval for using the materials at site. In this regard decision of Engineer-in-Charge shall be final and binding.
- 21. For materials under category 19 (a), (b) & (c), the contractor will act as the custodian thereof. The materials will have to be carried from the nearest Departmental go-down to worksite by the contractor at his own cost. The contractor shall remain responsible for the proper storage and safety of the materials. Suitable Go-down/ Store shall have to be made by the contractor at his/her own cost. Penalty charges shall be levied at higher rate for loss, wastage, misuse. Surplus materials of the departmental if any, shall have to be returned to the issuing Go-down or store at the

contractor's cost within the time frame as fixed by Engineer-in-Charge, otherwise, the cost at penal rate will be recovered from the bill. Indent for departmental materials shall be submitted by the contractor to the SDO (AE) at least 7 days in advance of actual requirement. No claim will be entertained for non-issuance of such materials in time but reasonable extension of time will be granted. All materials, whatever be the category thereof, shall be properly stored by the contractor in suitable go downs near the site of work at his own cost & under no circumstances whatsoever shall any material be removed from the site of work without prior written permission of the Engineer-in-Charge. The contractor shall be responsible for any damage or loss of such materials.

- 22. The contractor shall also have to satisfy the Engineer-in-Charge regarding the proper utilization of materials which have been issued departmentally.
- 23. Value of the material, under category (a) & (b) of clause 19, will be recovered from the bills of the contractor in one or successive installments as may be decided by the Engineer-in-Charge.
- 24. Requisite quantity of cement as may be required for the work will be supplied from the nearest Departmental go down if stock permits. The issue rate of cement is shown in the Schedule of materials attached. Any excess consumption of cement by more than 5% over the final consumption statement drawn up as per consumption rate specified in the Schedule will be recovered at a penal rate shown in schedule.
- 25. Reinforcement steel rods/MS sheet piles will be issued when stock permits, from the nearest departmental go-down where such material is available in marketable length. While issuing the same, for any particular work the quantity actually required as per approved drawing shall only be issued. While executing the work, it will be responsibility of the Contractor/bidder as well as the Engineer-in-Charge to get this quantity properly utilized in the work. Cut pieces, if any will not be taken back by the Department. Recovery for the total quantum of steel issued will be made at the issue rate shown in the Schedule below. In case of misuse over +10%, deduction will be made at a penal rate shown in the Schedule below. This whole principle shall apply in case of other M.S materials like sheet piles and structural steel members as well.

For all items of contracts jobs requiring skilled labour the contractor, shall have to employ 70% (Seventy Percent) of skilled labour locally. In case the contractor fails to recruit skilled local labour the contractor shall employ skilled labour locally secured by Government in the manner indicated above. For bridge works, highly technical works of labour the contractor may with the prior permission in writing with the Engineer-in-charge to whom full facts must be placed for such permission, import and employ skilled labour up to 30% (Thirty Percent) of the total requirement. In this case the expression "Imported labour shall mean labour imported primarily from other States and secondarily, from the distant districts of the State of West Bengal." In case where the contactor fails to secure unskilled local labour or to engage imported labour the contractor shall employ labour locally recruited by Government or labour imported by Government at the rate to be decided by the superintending Engineer of the works concerned, whose decision as to the circumstances in which employment of such labour is of mutual advantage to Government and the contractor, will be final and binding on the parties.

SCHEDULE OF MATERIALS TO BE SUPPLIED DEPARTMENTALLY AND THEIR RECOVERY RATES

Name of materials	Issue rate (in `)	Unit	Penalty recovery rate for loss or misuse or wastage	Place of delivery
Cement		МТ	2 (Two) times issue rate	Departmental Godown
Reinforcement steel rods, structural steel members, M.S sheet Piles		MT	2 (Two) times issue rate	-do-

26. All queries and disputes arising out of the works tender contract is to be brought to the notice of the Chairman of the 'Department Dispute Redressal Committee' in writing for decision within 15 days.

ADDITIONAL TERMS & CONDITIONS

- 1. Cement found surplus after the completion of a work should be returned to the Sub-divisional Officer, the value of the cement returned of the department will be credited to the contractor, If any contractor is found to have used the surplus cement for his own purpose or otherwise disposed of it without the written consent to the Executive Engineer or the Sub-Divisional Officer (if nominated for the purpose by the Executive Engineer) he may be held guilty of theft. In this connection the provision of clause 10 may be referred to, where it is clearly stated that all materials issued to the contractors shall remain the property of Government.
- 2. The contractor shall have to make his own arrangements for water, both for the work and use by his workers, etc., for road rollers and for all tools and plant, etc., required on the work.
- Contractor will be responsible for the payments of all water charges payable to the Corporation Municipality / Panchayat or any other water works authority including a Government department concerned.
- 4. If the contractors shall desire an extension of the time for completion of the work under clause 5 of the contract, no application for such extension will be entertained if it is not received in sufficient time to allow the Divisional Officer to consider it and the contractor will be responsible for the consequences arising out of his negligence in this respect.
- 5. The contractor will have to leave ducts in walls and floors to run conduit or cables, where necessary, and he will not be entitled to any extra payment on this account.
- 6. Contractors in the course of their work should understand that all materials (e.g. store and other materials) obtained in the work of dismantling excavation, etc., will be considered Government property and will be disposed of to the best advantage of Government.
- 7. Owing to difficulty in obtaining certain materials in the open market due to war, the Government have undertaken to supply materials specified in the schedule of the Tender Notice at rates stated therein. There may be delay in obtaining the materials by the Department and the contractor is, therefore, required to keep himself/herself in touch with the day to day position regarding the supply of materials from the Engineer-in-charge and to so adjust the progress of the work that his labour may not remain idle nor may there be any other claim due to or arising from delay in obtaining the materials. It should be clearly understood that no claim whatsoever shall be entertained by the Department on account of delay in supplying materials.
- 8. No compensation for any damage done by rain or traffic during the execution of the work will be
- 9. Whenever a work is carried out in municipal area, electric lights or electric danger signals whenever available shall be provided by the contractors on the barriers as well as paraffin lights. Facilities for the electric connection will be made by this Department but the contractor will bear all the expenses.
- 10. The contractor should quote through rate inclusive of cost of materials and carriage to place of working.
- 11. The contractors should give complete specifications showing the method of execution and the quantity and quality of materials they intend to use per hundred sq. ft. area.
- 12. In cases where water is used by the contractor he will be required to deposit in advance with the Executive Engineer the charges for water which are to be calculated in accordance with the schedule of miscellaneous rates in the Canal Act.
- 13. It must be clearly understood by the contractor that no claim on account of enhanced rates on those already accepted, due to war fluctuations will be entertained during the currency of this contract for the work as per schedule attached to the agreement and the additional work, if any, under Clause 12 of the contract, if such additional work shall consist of items which have already been quoted for, 01, items not quoted for but appearing in District Schedule.
- 14. In the event of emergency the contractor will be required to pay his labour everyday and if this is not done. Government shall make the requisite payments as would have been paid by the contractor and recover the cost from the contractors.

INCONVENIENCE OF THE PUBLIC

- 15. In cases where the responsibility of dispatch of stores rests with the suppliers but the freight is payable by the purchaser, the supplier should dispatch the stores by the most economical method, using the full wagon load whenever it is possible and economical to do so, failing which the supplier will render himself liable for the whole or part of any avoidable expenditure, caused by such default. The supplier should get in touch with the Purchase Officer concerned and in cases of dispatch of stores which are the property of the Defense Department at the time of dispatch, the supplier may obtain the advice of the "Movement Control Section, Station Staff Officers or the Controller of Suppliers of the stations concerned."
- 16. The contractor(s) shall not deposit material on any site which will seriously inconvenience the public. The Engineer-in-charge may require the contractor(s) to remove any materials, which are considered by him to be a danger or inconvenience to the public or cause them to be removed at the contractor's cost.
- 17. The contractor undertakes to have the site clean, free from rubbish to the satisfaction of the Engineer-in-charge. All surplus materials, rubbish etc. will be removed to the places fixed by the Engineer-in-charge and nothing extra will be paid.
- 18. The contractor shall not allow any rubbish or debris to remain on the premises during or after repairs, but shall remove the same and keep the place neat and tidy during the progress of the work. The Engineer-in-charge may get the site premises cleared of debris etc. And recover the cost from the bill of the contractor, if the latter shows slackness in observing this clause.
- 19. Construction materials brought at site shall not be stacked at random. The contractor shall stack all these materials as directed by the Engineer-in-charge.

(Full Name)
Signature of contractor/Agency

(Full Name)

<u>Signature of Divisional Engineer/</u>

<u>Sub-Divisional Officer</u>

on behalf of the Governor of the

State of West Bengal

FORM 1

APPLICATION FOR TENDER
(To be typed in company letter pad,

То
The Executive Engineer
Division
Tender No:-
Serial No of Work applied for :
Amount put to tender: Rs
Dear Sir,
Having examined the Statutory, Non statutory & NIT documents, I/we hereby like to state that
I/we wilfully accept all your conditions and offer to execute the works as per Tender no and Serial no stated above. I/We also agree to remedy the defects after/during execution of the above work in conformity
with the conditions of contract, specifications, drawings, bill of quantities and addenda.
Dated this day of 201
Full name of applicant:
Signature:
In the capacity of:
Duly authorized to sign bids
For & on behalf of (Name of Firm):
(In block capitals)
Office address:
Talankana na(a) (afficia)
Telephone no(s) (office):
Mobile No:
Fax No:
E mail ID:

1 28 2 23

FORM - 2

Declaration against Common Interest (To be typed in company letter pad,

I/We, Sri/Smt.	, the authorized signatory on
behalf of	do hereby affirm that
I/We/any of the member of	bidding against NIT No.
SI. No	do not have any common interest either
as a partner on any partnership firm / consortium	as a Proprietor / Owner of any other firm in the
same serial for the work I / We want to participate.	
	Signature of hidder
Date:	Signature of bidder